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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
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St ATa0l ASH TR - fofiC

PP 2%-3(CY Ad0ArC
SRESTST3UC
A=7 - 202T4RYAC

PP 1»A=NeTCE A3t=37C
a={a=vail

 anT3aCH GRESVARBY, &y irSTSY 133 T3USY
RSYAS&»TST3Y ~ T3ASTSCY T363 13103V USAUCYY»Ac

asfa=vai asNasya
AY1=(»YA
ba2 1=l 2V =74l P = Afasl Aer = Afaol Aer =h Afaol Aer
(=y=i = 137131/a0Y»NiC = 13713na0Y»A¢ = 13713na0Y»A¢
1i=0Y»iiar) < - < < >
- \ - - - & -ac -c
< f < 2 - < ;= g S0 no
A O N ) vl A vl S”) M S") 0 = i -
3 = S s D W |- \= - " A M A
) " 0 20 0 0 mn (LR 0 @ e o
d & d \= o d D Wy c X NS
Z i Z 3 £ S I L | &
2 an 3" g% gy
1 2 4 5 6 7 8 9 10
AU _2@°UA 12E&°s 23,059,417.6| 4,498,414.3 4,498,414.3| 955,714.7 955,714.7| 10,739,628.9| 3,590,110.2 1,888,866.8] 469,791.4 489,997.7
=1 ATasu
AUAZOAT 12E&°5 22,362,417.6| 4,498,414.3 4,498,414.3| 955,714.7 955,714.7| 10,739,628.9| 3,590,110.2 1,888,866.8| 469,791.4| 489,997.7
SR YEL
2pE2T20pk 125802T820A0a00 14,979,970.1| 3,175,827.3 3,175,827.3| 807,341.7 807,341.7| 6,824,767.7| 1,406,079.0| 1,001,343.9| 397,780.9| 414,348.1
SR YEL
_A3UAT 1x3A140 SRESTST310»A ~ N2 1»E2 1x3AV»A 14,979,970.1| 3,175,827.3 3,175,827.3| 807,341.7 807,341.7| 6,824,767.7| 1,406,079.0| 1,001,343.9| 397,780.9| 414,348.1
=1 AaiU
- 2RESTA0V»AC SREST 3130070 N2 1263 1x3AY»h 14,135,810.6| 3,100,605.8 3,100,605.8| 747,537.0 747,537.0 6,383,834.8| 1,360,484.5| 950,318.9| 366,934.2| 383,453.9
- &3f- 3 wnalY»n, 1N3U=13Y EnSEaeaily»h - N1 al 49,036.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- 63030200313, 137313V~ & =13Y 3F 7951231 752215 75,2215| 59,804.7 59,804.7|  440,9329| 455945 51,025.0| 30,846.7| 30,89.2
1263(a0Y»AC &3 -3l
12&20a0A0a000U°3K ©1 2a52UgU°8k 5,030,332.4| 1,163,127.2 1,163,127.2| 148,197.0 148,197.0| 2,975576.1| 1,651,460.1| 835122.9| 41,698.6| 45,1514
0ceg” °5aid
=1 AaiU
P3A&YST313Y 13Eéxh 1,518,602.1| 333,119.2 333,119.2| 44,9015 449015 873453.1| 213,6153| 3887729 25894.2| 26,795.9
SR YEL
- %WY»ii-» 0 GT 1363[40Al&0Y YA 815,709.3| 186,219.0 186,219.0| 4,866.3 4,866.3| 487,086.3| 118,102.8| 201,658.0] 15,506.0| 18,523.9
- TaU&bY3t 13634046y Vi 53504.1| 31,216.8 31,216.8 200.0 200.0 20,322.2 6,510.8] 11,3949 207.8 180.2
- T340 1363[a0Ala0Y Vi 554,544.8] 111,363.4 111,363.4| 12,359.2 12,359.2| 310,9487| 55356.5] 170,7200] 9,260.4| 7,7718
- 233Mai=-A=13Y 13Eé»h 20,210.0 4,320.0 4,320.0 640.0 640.0 10,640.0 2,480.0 5,000.0 320.0 320.0




0LVT

20la6e=T 01-01-01

1 2 3 4 5 6 7 8 9 10
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 74,633.9 0.0 0.0 26,836.0 26,836.0 44,455.9 31,165.2 0.0 600.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 1,311,216.3| 350,000.0 350,000.0 61,681.1 61,681.1 740,616.6 579,133.2 89,500.0 3,034.4 3,050.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 754,872.8 219,856.0 219,856.0| 13,883.5 13,883.5 396,996.4 240,884.0 135,850.0 900.0 3,160.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 14,201.2 6,000.0 6,000.0 420.0 420.0 5,000.0 1,000.0 4,000.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 50,547.8 3,000.0 3,000.0 1,967.8 1,967.8 24,737.2 1,944.0 12,800.0 300.0 950.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 65,325.4 15,856.0 15,856.0 4,995.7 4,995.7 31,213.2 10,000.0 15,550.0 300.0 1,610.0
- T3ES T3S 13Y 13¢3aiAaYY»h 5,000.0 0.0 0.0 5,000.0 5,000.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 2,000.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 607,559.8 195,000.0 195,000.0 1,500.0 1,500.0 332,440.0 225,940.0 103,500.0 300.0 300.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 10,238.6 0.0 0.0 0.0 0.0 1,606.0 0.0 0.0 0.0 300.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 2,743.0 0.0 0.0 0.0 0.0 2,617.0 0.0 0.0 0.0 200.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 2,743.0 0.0 0.0 0.0 0.0 2,617.0 0.0 0.0 0.0 200.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 528,893.1 20,000.0 20,000.0 4,024.0 4,024.0 470,011.7 434,679.2 17,000.0 2,400.0 1,200.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 11,650.0 0.0 0.0 0.0 0.0 11,300.0 10,000.0 1,000.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 517,243.1 20,000.0 20,000.0 4,024.0 4,024.0 458,711.7 424,679.2 16,000.0 2,400.0 1,200.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 914,005.1 240,152.0 240,152.0| 23,706.9 23,706.9 491,881.3 183,148.4 204,000.0 9,470.01 10,7455
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 177,434.0 52,862.2 52,862.2 6,459.9 6,459.9 78,396.3 31,367.0 29,000.0 1,858.0 1,729.0
- a0 TY I »83T3Y SAA3YUY»h 8,319.5 5,653.0 5,653.0 0.0 0.0 2,666.5 2,666.5 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 628,640.2 123,958.4 123,958.4( 15,200.0 15,200.0 378,154.6 119,014.9 175,000.0 7,412.0 8,812.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 61,277.6 19,344.6 19,344.6 2,047.0 2,047.0 32,663.9 30,100.0 0.0 200.0 204.5
- D3l YA3S W 313(CY 3 YiaoA»i 38,333.8 38,333.8 38,333.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€ab” ek, £E20°8 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 1,220,144.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 1,216,155.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYASGOCT 6401 »YOC3Y»fi NBUSYUY»ACY 1,092,877.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




TLVT

20lase=T 01-01-01

1 2 3 4 6 7 8 9 10
~ZE AYASOCT TnSUSRYARNY > 123.278.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 455,000.0 105,000.0 105,000.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 455,000.0|  105,000.0 105,000.0 0.0 00|  350,000.0 0.0 00| 30,0000 30,000.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 455,000.0 105,000.0 105,000.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
20E 12E6°8 338,8229|  54,450.8 54,450.8 176.0 176.0|  251,1375| 1944235|  52,400.0 3119 498.2
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 22,1166] 44598 44508[  176.0 1760| 130455 64235  24000|  3119| 4982
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 316,706.3 50,000.0 50,000.0 0.0 0.0 238,092.0 188,000.0 50,000.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 697,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 697,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 608,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 45,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T»13Yana - ail 563,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?Uéuoé o7 é23g2T1adaigued 65,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 65,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 24,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIAAST3Y NCUYST3Y UCcany»h 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3 - I3 13T 313Y I3Eé»i 22,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

20la6e=T 01-01-01

S ATa00 AG W 1A= -fofiG

TanT=1GA CREZYAIAIRY, &» W 3T3Y 126213103 (3YA=&»T3T3Y " v Si= =gy
T=6=73A0=Y USAUCYY»Ac a=la=vail

TafT=1Ch CRE=VAARY, &» =3T3y
T26313A/03Y (3YASa» 313y

TIASU3CY 136313003y
U=3alcYY»Aic &=3Na=3vail
(YSESASAT»AC SRESTSTIU»AG

U=ear)
1 v £ AR A 3 AT400 Aer 3 ATaU Aer
173 33 33 - ~ - ~ .
BAtI=IC SYT=vaua T3 3a0Y»AC - I3 T3Aa0Y»AC
Be
> > > > > > > > 0 > > RS
n S0 0 o0 n o0 2n o0 < oL e8| Ls§
et = o = 3 O = G = 3 — ] 0 >Q_ =4 2 =
Pl oRl g mo n o fl ol G = 2pf=8| =3
il 2 = 8 = - < = e 8% = A Loy 0
2s | 24 | 24 | E4 | S | 4 | v | L 7 |Filsi| 8=l
NS Q9 s < < < - < d D= )
2% | =& s | 8L | PR | 8% | sk | BE | = |zETi¥| <%
S 8 S S S S S P P 8- U\Q_ 3 (Q_
)
11 12 13 14 15 16 17 18 19 20 21
AU _2@°UA 12Eé°s 505,983.7| 681,348.5| 580,934.6| 521,589.0| 598,038.4( 527,471.2 383,069.0| 502,428.4| 1,980,673.6 144,751.6] 90,910.3
31 ATasU
AUAZ20LT 12Eé°d 505,983.7| 681,348.5| 580,934.6| 521,589.0| 598,038.4( 527,471.2 383,069.0| 502,428.4| 1,980,673.6 144,751.6| 90,910.3
3 ATasu
2pE2T2Ugk 12802Tda0AlasU 435,835.7| 593,287.3( 494,516.2( 433,556.3| 514,691.6| 437,770.4| 313,212.5| 382,345.8| 1,522,449.1 121,448.0| 78,198.1
3 Arasu
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 435,835.7| 593,287.3( 494,516.2( 433,556.3| 514,691.6| 437,770.4| 313,212.5| 382,345.8| 1,522,449.1 121,448.0| 78,198.1
3 ATasu
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 401,867.0| 545,920.6( 454,771.0( 399,509.1( 474,260.2| 403,671.1| 290,138.1| 352,506.2| 1,473,412.7 121,448.0| 78,198.1
TSR ST REUTN, 1hSU=T3Y ERSEAAI0Y»n ~ NS a1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 49,0364 0.0 0.0
x3fAY»f
~g=S0SUS60ETSY, BT B =Ty SF 33,068.7| 47,366.7| 39,7452| 34,047.2| 40,43L4| 34,000.3| 23074.4] 29,8396 0.0 0.0 0.0
1263140V»AC A=A - 31 Ral
12&20a0AUasuUCBE ©1 24a62UgU°dA 39,685.6( 57,342.5| 56,188.7 57,567.6| 52,938.8( 59,196.7( 39,453.7| 39,769.5 443,587.8 19,201.7| 12,657.2
Oceg” ©5260
3 ATasu
P3AaYST313Y I1SEé»h 22,990.2| 31,419.0( 29,848.1| 38,543.6| 32,208.5| 24,269.9 18,893.5| 20,202.0 108,849.8 6,294.6 4,645.2
3 ATasu
- YY»fi-» W CT 13é3(a0AlasYY»hi 15,166.6| 21,015.7 19,420.5| 26,134.1 19,841.1 12,386.8 10,378.4 8,952.4 35,095.1 3,580.3 2,113.8
- TaU&sY3t 1363a0Ala0Y Y» i 214.2 295.4 396.1 210.3 267.1 305.8 154.5 185.1 403.4 65.2 22.6
- T=2AC 1363(a0AlaiYY»hi 7,289.4 9,142.9 8,741.5 6,447.2 10,395.9 9,524.8 7,628.0 8,670.3 66,941.3 2,409.1 2,308.8
- 233NAT3-A313Y I3Eé»f 320.0 280.0 360.0 320.0 320.0 320.0 320.0 280.0 3,410.0 240.0 200.0




ELVT

20la6e=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 685.0 930.0 5,432.0 1,384.4 1,732.5 412.6 2,114.2 3,000.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 4,085.4( 11,652.0 9,868.8 4,057.8 6,582.0( 16,608.1 6,358.6 6,686.3 131,950.1 1,883.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 850.0 1,856.0 1,930.0 2,700.0 1,697.0 3,727.2 2,080.0 1,362.2 87,463.1 2,018.6( 1,500.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 300.0 800.0 980.0 1,500.0 812.0 2,237.2 1,230.0 884.0 1,322.8 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 250.0 500.0 550.0 450.0 585.0 790.0 450.0 178.2 7,092.2 296.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 300.0 300.0 300.0 300.0 300.0 300.0 300.0 300.0 77,935.5 1,500.0f 1,500.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 256.0 100.0 450.0 0.0 400.0 100.0 0.0 1,112.6 222.6 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 170.0 1,490.0 0.0 196.4 102.6 429.7 28.3 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 170.0 1,490.0 0.0 196.4 102.6 429.7 28.3 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 808.0 2,123.0 1,273.0 1,600.0 2,162.0 2,150.0 1,7935 2,823.0 23,415.8 1,693.6| 1,195.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 300.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 808.0 2,123.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 2,823.0 23,415.8 1,693.6| 1,195.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 10,952.0( 10,1225 11,778.8| 10,666.2| 10,092.9| 12,338.9 9,898.4 8,667.7 91,909.0 7,311.9( 5,317.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 1,690.0 2,930.5 1,851.1 2,076.2 1,828.9 934.4 1,675.2 1,456.0 9,777.3 961.5 567.0
- a0 TY I »83T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 9,004.0 6,820.0 9,728.0 8,312.0 8,000.0] 11,112.0 7,952.0 6,987.7 81,215.9 6,320.4 4,750.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 258.0 372.0 199.7 278.0 264.0 292.5 271.2 224.0 915.8 30.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYASGOCT 6401 »YOC3Y»fi NBUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
~ZE AYASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 30,000.0( 30,000.0f 30,000.0f 30,000.0f 30,000.0f{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 30,000.0| 30,000.0| 30,0000 30,0000| 30,0000| 30,000.0] 30,000.0| 80,000.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 30,000.0( 30,000.0f 30,000.0/ 30,000.0f 30,000.0{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 462.4 718.7 229.7 465.1 408.0 504.1 402.8 313.1 10,647.2 112.4 55.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 4624  7187|  229.7| 4651  4080|  412.1|  4028|  3131] 11472 1124 550
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 92.0 0.0 0.0 9,500.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs°8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T»13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?Uéuoé o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIAAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3 - I3 13T 313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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(V2ESASAY»AC SRESTST3W»AC US84T)

21 Afal A6
T=02/a0V»AC
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<G "= > 8 < 8 g Nes | -~ °© (St 3> 8 - G iz 8 < g
© g - o2 B ST | =03 | L7S 22 | FhoE] 5 2 R Bagns
-G ‘O @ ) ot > @ L g [SRUE =4 U Rl 0 =8 T S8 T 5 L @
75| S8 | REF | ghi | eek | SR | EET| £ |slan| 395 | s2F | £
&8 (’H') e o= Spveis 8 chU e 8 > Aol o < o & & Q} ’0‘,): c | =0 8 = > e
e =0 U] 7 = g | E50 = =23Ln | L=n =N N
! ] 8 W ot W M W > m_ i} 1] 8 i} 0] :g i} b 11| Imo i} W
=21 82 2 nl 20 |l |8 2 2 R B nl 80
" 1 = 8% 8 & >
22 23 24 25 26 27 28 29 30 31 32 33
AU _2@°UA 12E&°3 98,228.9| 134,955.4| 299,281.5 74,946.0( 116,153.6| 92,574.0| 78,512.7| 76,277.9| 104,997.7 102,040.1 101,490.7| 216,805.0
=1 ATadu
AUA20ET 12E&°3 98,228.9| 134,955.4| 299,281.5 74,946.0( 116,153.6| 92,574.0| 78,512.7| 76,277.9| 104,997.7 102,040.1 101,490.7| 216,805.0
=1 Afadu
2pE2T2Ugk 12802Tda0A0a0U 81,267.2( 112,303.6 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0| 63,132.6 87,938.2 80,418.8| 86,919.9| 197,086.3
=1 Afaiu
_ABUAT 1x31T140 SRES W3 T310»1 ~ NS I»E3 1x3AY»fi 81,267.2| 112,303.6| 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0| 63,132.6 87,938.2 80,418.8| 86,919.9| 197,086.3
=1 Afadu
- 2REZTA0Y»AC SREZ 131301 - NS T»E3 1x3Y» 81,267.2| 112,303.6| 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0| 63,132.6 87,938.2 80,418.8( 86,919.9| 148,049.9
- &30- "3 RalY»A, 1ASUST3Y ERSEaieaiUY»n " NS1ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 49,036.4
TX3fY»fi
- 12130?9?6(23]'3\'(, 13'|'3T?\'( EES SR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13é3(a0Y»iC &30 - "3Triail
12&2020AUA0UUCHE @1 2582UgU°sE 16,906.7| 22,578.8| 185,197.5| 9,573.2| 14,577.5| 16,1285 13,275.7| 13,101.3 16,948.9| 21,566.3| 14,515.8 19,584.7
0°eg™ °3a6Q
=1 Afagu
P3A4YST3T3Y I3Eé»i 7,644.1 12,446.8 8,725.2| 3,267.7 5,272.6| 8,551.5( 7,463.8| 5,952.5 4,193.3| 12,059.5 4,256.4 4,584.5
=1 ATadu
- WY»h-» WGl 13é3aiAlasYY» 3,605.5 4,349.9 1,407.9 692.4 1,197.2 4,483.2 855.6| 1,289.1 848.5 5,496.3 1,774.6 0.0
- TaU&sY=3E 1=363a0AlaiY Y» i 21.0 49.8 29.4 0.0 34.8 223 25.8 0.0 0.0 21.8 50.0 0.0
- T33C 1=3¢3(a0Ala6Y Y»h 3,817.6 7,767.1 7,077.9( 2,455.3 3,800.6| 3,846.0| 6,462.4| 4,503.4 3,064.8 3,341.4 2,231.8 4,264.5
- 233NaT=3-A=13Y ISEé»ii 200.0 280.0 210.0 120.0 240.0 200.0 120.0 160.0 280.0 200.0 200.0 320.0
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20la6e=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,000.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 505.0( 117,000.0 795.9 501.8 365.2 0.0 500.0 2,598.2 0.0 550.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 1,632.9 1,500.0| 51,274.1 1,500.0 1,500.0( 1,092.0| 1,500.0( 1,563.0 1,618.3 2,660.8 2,113.4 3,600.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 0.0 0.0 0.0 0.0 0.0 142.0 0.0 0.0 0.0 0.0 780.8 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 132.9 0.0 1,088.6 0.0 0.0 0.0 0.0 63.0 118.3 620.8 282.6 750.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 1,500.0 1,500.0| 50,185.5( 1,500.0 1,500.0 950.0( 1,500.0( 1,500.0 1,500.0 1,500.0 1,050.0 2,500.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 540.0 0.0 350.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,291.0 1,950.0 750.0 700.0 1,500.0( 1,857.5| 1,059.0 756.0 2,312.0 1,000.0 1,795.1 2,612.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 1,291.0 1,950.0 750.0 700.0 1,500.0( 1,857.5| 1,059.0 756.0 2,312.0 1,000.0 1,795.1 2,612.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 6,338.7 6,177.0 7,448.2( 3,309.6 5,803.1| 4,262.3| 3,252.9| 4,329.8 6,227.1 5,846.0 5,800.9 8,788.2
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 1,520.5 800.0 250.6 265.6 125.4 154.7 355.0 304.4 121.3 601.0 951.0 1,888.2
- a0 TY I »83T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 4,750.0 5,377.0 7,197.6( 3,044.0 5,632.0| 4,107.6( 2,850.0| 4,000.0 6,011.0 5,245.0 4,649.9 6,900.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 68.2 0.0 0.0 0.0 45.7 0.0 47.9 25.4 94.8 0.0 200.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYASGOCT 6401 »YOC3Y»fi NBUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
~ZE AYASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&wV»f (lase»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 55.0 73.0 55.0 56.0 103.2 85.0 33.0 44.0 110.6 55.0 55.0 134.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 55.0 73.0 55.0 56.0[  103.2 850] 330 440 110.6 55.0 550  134.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs°8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T»13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?Uéuoé o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIAAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3 - I3 13T 313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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TART31CA CRE3VAGAISY, a»r T3T3Y 1363 13A0U3Y
NBYAZ&» T 3T3Y " T3S 103CY 1363 13A/03Y
U3AUCYY»AC &=Na&=3Yail (YSE3/3AaoAlasYY»ic

SRESTSTUUSAC US64T)

T3AERT3Y Qb T Y»AC
RCY2fi=RasAlasY

U=8ar)
T V) £ A £ 3 Atasl Aew 3 AT400 A 31 Afaol Aer
173 33 33 - ~ - - ~r - o
BatT=1¢ =YT=vaUa IS 3a0V»AC - IS 3RA0VAC w |13 snaci»ic
B B
7ol s l. . ex 0 = ozl &= = 0 oo
I o8 | & Ag = Lo cg L g o8 = =¥
o oI 5 N0 \ 00 c i @ L P \ (DI
- G RO =R < 220 = a =G L@ NS ;-
e A 8 < 2.8 A " i 2 = 8 A MM
NoRUNNR] il §oRcwn ) ek |40 ol =) U
of D 0 et o5 S AN \© i 0] 0 - O 0= o5 U] )
om0 m | S=lin H =R oo " H an
K= A > e Z = 0l " A = ca
S o0 n | 87CHy < 8l &8¢ zd g A an
1% > > 5> - (.)’\>_ lmC > >
34 35 36 37 38 39 40 41 42
AU . 2¢0UA 12E&°d 82,362.2| 93,764.2 72,621.8| 2,812,943.4 1,423,872.5| 1,090,059.8| 299,011.1| 50,000.0 50,000.0
=1 Afasl
AUAZ20ET 12Eé°5 82,362.2| 93,764.2 72,621.8| 2,812,943.4 1,423,872.5] 1,090,059.8| 299,011.1 0.0 0.0
=1 Afasl
2pE2T2Ugk 12802T10a0AlasU 64,796.0 68,560.8 57,996.4| 2,528,287.4 1,289,515.9 969,955.5( 268,816.0 0.0 0.0
=1 Afasl
. A3UAT Tx3AT40 3RE3 T 3T3A0»A ~ NST»E3 Tx3AY»fA 64,796.0 68,560.8 57,996.4| 2,528,287.4 1,289,515.9 969,955.5( 268,816.0 0.0 0.0
=1 Afasl
- 2RE31A0Y»AC SRES WS T3A0»A " NST»EB Tx3AY»A 64,796.0| 68,560.8 57,996.4| 2,309,830.2 1,178,246.3 886,195.6| 245,388.3 0.0 0.0
“a=n- S unalY»n, =012 ERSEaealy»n -~ NS waol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TX3fY»fi
- 83030360313, 1313137 - &> 1213y 3E 0.0 0.0 00| 218457.2| 111269.6] 83,750.9| 23427.7 0.0 0.0
1262310V»AC A3/ 3T
12e20asAlasuUCBE ©1 2a82UgU°dE 15,522.2| 25,159.4 7,092.4 281,389.9 132,473.3 118,732.5 30,184.1 0.0 0.0
0°Peg” °dad
=1 Afasl
P3RAYST3T3Y IBEé»f 6,459.4 5,857.3 1,175.4 151,055.8 73,897.7 63,759.3 13,398.8 0.0 0.0
=1 Afasl
- YY»A > Cl 126345AIa5Y Y»ii 2,926.5 474.3 0.0 98,527.3 54,072.1 40,257.3 4,197.9 0.0 0.0
- TAUASY3E 126340AIa5Y Y»ii 46.2 0.0 14.5 1,316.0 760.6 555.4 0.0 0.0 0.0
- T3§1Q 1263[4AIa0Y Y»i 3,326.7 5,223.0 1,040.9 49,750.5 18,265.0 22,324.6 9,160.9 0.0 0.0
- 283NAT3-A3T3Y I3Eé»i 160.0 160.0 120.0 1,120.0 800.0 280.0 40.0 0.0 0.0
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20la6e=T 01-01-01

34 35 36 37 38 39 40 41 42
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 342.0 0.0 342.0 0.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 2,001.0( 5,050.0 200.0 26,968.5 10,571.7 8,320.0 8,076.8 0.0 0.0
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ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 43,700.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 43,700.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é63lasAlasyY»i 582,526.2 0.0 0.0 0.0 0.0 22,100.0 22,100.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 528,926.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-ail 53,600.0 0.0 0.0 0.0 0.0 22,100.0 22,100.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 958,676.4 0.0 0.0 0.0 0.0 273,524.7 273,524.7 0.0 0.0
31 Afadu
- IAZE»YIST3(CY YiaiA»A = N=- a6 411,727.9 0.0 0.0 0.0 0.0 192,276.1 192,276.1 0.0 0.0
- TASYEAANW3ICY YiasA»i 393,407.0 0.0 0.0 0.0 0.0 78,964.0 78,964.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 11,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 48,147.5 0.0 0.0 0.0 0.0 2,284.6 2,284.6 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 94,394.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
362~®2I{Ué1690°6 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3C')Q-I. TASUSRYANNY»f T ESIBYNSTI3IC 3E 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAS6CT 1ASUSRYARANY»A 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 3,457,013.5 0.0 0.0| 1,041,254.4 1,041,254.4 14,420.5 14,420.5| 18,707.7 18,707.7
31 Afadu
U iCA=T Ta0AlaIYY»h 43 T3S T3S 13Y (NBE3AST313Y) 24,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
- UTCASTI TatAlasYY»i 3 R3NAdA N» 1 34&Y1a0 24,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=03 T»AA40AIA6YY»ACY




4514

20lase=T 01-01-02

1 4 5 6 7 8 9
D3fI»h, A= 1 S1CA 1xNY»h W AA»N, ANAYU ‘ 18,9715 0.0 0.0 0.0 0.0 89715 89715 0.0 0.0
263 T3A03Y T3 USTSA1STY»AC Ta0UC6 TCA=ET 400

»Y UCUI=Y6 YT=wU=0p

2F 1=Eé»h 3,414,042.0 0.0 0.0| 1,041,254.4 1,041,254 4 5,449.0 54490| 18,707.7 18,707.7
4a u£U2082T20 ZT1E1U°3E T1a1 126695 5,103,503.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

DEDUZ120 Dk2a0U°8 5,091,083.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

poUg°8 ©1 PEU&6AUa00°5 4,071,848.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

~P»YU»IC ~ RCYAOAIAIY Y»1iC O»EUp»AARU 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~ P»YU»AC ~ RCVASAIADYY»1C RCY SH=nathiasy 3,785,170.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~P»YU»iC ~ RCYAOABIYY»AC TSACT 3E T »ASYana - aiU 276,678.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°8 935,321.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

S TNSVeAAn =Y 6=10=1analY »h 101,222.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S 1SME= 12Y 620021 anal»h 264,099.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V3ol - E3A0S T ARG0UY >R 570,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEPUZ120 0E2a00°5 83,914.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

- &a YIaoA=T=Y NCUY=T=Y UCcadY»h 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CUSE=- 13 1 S/Aar S13Y 12E6m 63,914.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a2512_0121 2111098 12,420.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 40U

paod 12,420.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




€6vT

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT piaicr T =3CY TSE»AC -4f1=26Y=T3Y 1363T3/-U=3Y 01 p=AYC 01
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 01-01-02

S ATa0l AST 175 -fofiC

2126121 2Ak0C N2AIC

3/4‘f_~>>-|-il'ﬁéY3UCY - YéﬁUY)) fic
NSUST=30-C Y»Atiu3y

TaRT=1Ch CRE3VAAIRY, B3T3y
T262120=Y (2Vi= 8, =13V -
TIA2U=Y 1262313002y

P3AT3CY 1=e3{aAl=Y
USAUYC R=UST=1-C -
U=0e3i0Y =e2lasAi=Y

T»AS1370 NPUZT=0-C INUSY 1 §sAUcYY»ic T3Ra0&5AIAYY »AC ViasAST3Y EASEase03Y -
1At 271 313Y a3T7i»i O Y P Y g =)
%3 - 306aiU (Y3E?n3nquUaoYY»ng N3U313A-C 1{z3n -30U3Y
SESTII3WAC USeaN) yayL
T et AR £ 3 AfaoU Aer 31 Afaol Aer 3 AfaoU Aer 3 Afa0U Aer
113 33 33 - ~ . - ~ - P - o
BatT=1¢ =YT=vaUa - IS w3aa0v-ic |« | T3 sra0v»ac - =1 340V»AC - =1 3a0V»AC
2 2 2 2
0 = 0 o5 0 = 0 =
- R - R - R - R
. SiZ . SiZ . SiZ . SiZ
$ 28 5 28 5 28 5 28
P n 0 P n 0 P n 0 P n 0
0 oF 0 oF 0 oF 0 oF
;— > ;— > ;— > ;— >
< 8 0 < 8 0 <L 8 0 <L 8 0
> > > >
10 11 12 13 14 15 16 17
AU)ZQOUA 12E68°58 29,265,249.1 29,265,249.1( 45,000.0 45,000.0 350,000.0 350,000.0| 8,424,263.6 8,424,263.6
=1 Afasl
AUAZ20ET 12Eé°5 29,265,249.1 29,265,249.1( 45,000.0 45,000.0 0.0 0.0 3,670,759.9 3,670,759.9
=1 Afasl
2pE2T2Ugk 12802T10a0AlasU 0.0 0.0 0.0 0.0 0.0 0.0( 1,250,000.0 1,250,000.0
=1 Afasl
. A3UAT Tx3AT40 3RE3 T 3T3A0»A ~ NST»E3 Tx3AY»fA 0.0 0.0 0.0 0.0 0.0 0.0( 1,250,000.0 1,250,000.0
=1 Afasl
- ZBE3'I'éOY»ﬁC SRE3T3T3A0»A ~ NST»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 250,000.0 250,000.0
- a3f- 3T HRAUY»A, 1ASUST3Y EASEA&aieaiUY»A " NS1ajl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
- 030300013, ST By S13Y SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363080Y»AC A3h- 3 Tfi&U
“RSAT2CY -~ U2063Y UBAUCTY»AC SBES 1 a0V»AC 0.0 0.0 0.0 0.0 0.0 0.0| 1,000,000.0 1,000,000.0
A=f- =il
jZéZUéﬁAUéﬁ)UanﬁE o7 2582UgU°dkE 0.0 0.0 0.0 0.0 0.0 0.0 2,321,759.9 2,321,759.9
OPeg” Coadd
=1 Afasl
P3RAYST3T3Y IBEé»fi 0.0 0.0 0.0 0.0 0.0 0.0 169,260.0 169,260.0
=1 Afasl
T aRT3eV3T3Y -~ i3ISy 1363160 Y »iC 1SEe»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I -> 1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0 0.0 00| 547600 54,760.0
- TAU&Y3E 13é63(a0AIa5Y Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 8,500.0 8,500.0




114"

20lase=T 01-01-02

10 11 12 13 14 15 16 17
- 134AC 1363(aAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 58,000.0 58,000.0
- 283NaT=3-A=13Y I13Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 18,000.0 18,000.0
- TatluC ~* =30 Tanasly»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 10,000.0 10,000.0
- 2AT 3 »AST»EEZT3Y [3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 20,000.0 20,000.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 250,000.0 250,000.0
a=U=y=-fi=CY Sk 1=263aiAladY Y»fi¢ O»edpx»iiatl 0.0 0.0 0.0 0.0 0.0 0.0 613,222.0 613,222.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 12,500.0 12,500.0
- D3UST31-43(CY 13¢63A0AIE6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 99,000.0 99,000.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 9,500.0 9,500.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 3,500.0 3,500.0
- T»Y6303(CY " NSYASICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0
- U»iil3[=040043T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 94,000.0 94,000.0
- AYIN3YaA pYAdlAC 3 1363a0AlasY Y»h 0.0 0.0 0.0 0.0 0.0 0.0 392,722.0 392,722.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 43,700.0 43,700.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 43,700.0 43,700.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é63lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 560,426.2 560,426.2
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 528,926.2 528,926.2
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 31,500.0 31,500.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 685,151.7 685,151.7
31 Afadu
- IAZE»YIST3(CY YiaiA»A = N=- a6 0.0 0.0 0.0 0.0 0.0 0.0 219,451.8 219,451.8
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 314,443.0 314,443.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 11,000.0 11,000.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 45,862.9 45,862.9
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 94,394.0 94,394.0
362~®2I{Ué1690°6 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3C')Q-I. TASUSRYANNY»f T ESIBYNSTI3IC 3E 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAS6CT 1ASUSRYARANY»A 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0| 45,000.0 45,000.0 0.0 0.0 99,000.0 99,000.0
31 Afadu
U iCA=T Ta0AlaIYY»h 43 T3S T3S 13Y (NBE3AST313Y) 0.0 0.0 0.0 0.0 0.0 0.0 24,000.0 24,000.0
1=%0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
31 Afadu
- UTCASTI TatAlasYY»i 3 R3NAdA N» 1 34&Y1a0 0.0 0.0 0.0 0.0 0.0 0.0 24,000.0 24,000.0

=03 T»AA40AIA6YY»ACY




S6VT

20lase=T 01-01-02

10 11 12 13 14 15 16 17
D3fI»h, A= 1 S1CA 1xNY»h W AA»N, ANAYU ‘ 0.0 0.0 0.0 0.0 0.0 0.0|  10,000.0 10,000.0
263 T3A03Y T3 USTSA1STY»AC Ta0UC6 TCA=ET 400

»Y UCUI=Y6 YT=wU=0p

2F 1=Eé»h 0.0 0.0 45,000.0 45,000.0 0.0 0.0|  65,000.0 65,000.0
4a u£U2082T20 ZT1E1U°3E T1a1 126695 0.0 0.0 0.0 0.0 350,000.0 350,000.0| 4,753,503.7 4,753,503.7
= A7 400

DEDUZ120 Dk2a0U°8 0.0 0.0 0.0 0.0 350,000.0 350,000.0| 4,741,083.7 4,741,083.7
= A7 400

poUg°8 ©1 PEU&6AUa00°5 0.0 0.0 0.0 0.0 0.0 0.0 4,071,848.7 4,071,848.7
= A7 400

~P»YU»IC ~ RCYAOAIAIY Y»1iC O»EUp»AARU 0.0 0.0 0.0 0.0 0.0 0.0|  10,000.0 10,000.0
~ P»YU»AC ~ RCVASAIADYY»1C RCY SH=nathiasy 0.0 0.0 0.0 0.0 0.0 0.0 3,785,170.0 3,785,170.0
~P»YU»iC ~ RCYAOABIYY»AC TSACT 3E T »ASYana - aiU 0.0 0.0 0.0 0.0 0.0 0.0| 276,678.7 276,678.7
7°g°020°8 ©1 628021a0a0U°8 0.0 0.0 0.0 0.0 350,000.0 350,000.0] 585,321.0 585,321.0
= A7 400

S TNSVeAAn =Y 6=10=1analY »h 0.0 0.0 0.0 0.0 0.0 0.0| 101,222.0 101,222.0
S 1SME= 12Y 620021 anal»h 0.0 0.0 0.0 0.0 0.0 0.0| 264,099.0 264,099.0
“2EU»ir V3ol - E3A0S T ARG0UY >R 0.0 0.0 0.0 0.0 350,000.0 350,000.0] 220,000.0 220,000.0
20E pEPUZ120 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0| 83,914.0 83,914.0
= A7 400

- &a YIaoA=T=Y NCUY=T=Y UCcadY»h 0.0 0.0 0.0 0.0 0.0 0.0  20,000.0 20,000.0
CUSE=- 13 1 S/Aar S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0| 63,914.0 63,914.0
a2512_0121 2111098 0.0 0.0 0.0 0.0 0.0 0.0| 12,4200 12,420.0
= A7 40U

paod 0.0 0.0 0.0 0.0 0.0 0.0| 12,420.0 12,420.0




9671

8§32 T3VC DBVASA» TAAIBY 2016 ATSTSVC 8» W 3T3Y [dic»C USeCYi 0D
Af»YOC 7-A1 NALT2TAT piaicr T =3CY TSE»AC -4f1=26Y=T3Y 1363T3/-U=3Y 01 p=AYC 01
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

Pa1T=1¢ =YT=VaslA

S ATa00 AST T7=-fofiG

. AaRU3&CT3TY»AC
O»étp»Al3Y T3Eéxh

“tailuxii- T @alA»ie
I3 TIZT3Y
N=0=3T=30-»AC 3¢ W A3ICY

W»AUCYSEY»AC
T»031iUsY
84363ATU3Y 1x31

202 Af 4l AST
T=02Ra0V»AC

2 Al AsT
T=02Ra0V»fC

\m \

\© \©

pleny piem

0 oG 0 oG

= 3 ;;% = 3 ;;%

. =15 . =15

5 28 5 28

0 S ’0‘,): 0 Pt ‘0‘,):

R > & >

< 2y < 2y

> >

18 19 20 21
AU _2@°UA 12Eé°s 2,208,000.0 2,208,000.0( 30,630.9 30,630.9
3 A4l
AUAZ20LT 12Eé°d 2,208,000.0 2,208,000.0( 30,630.9 30,630.9
3 A4l
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 0.0 0.0
3 A4l
_ASUAT 1x3N140 SREST313M00A ~ NS 153 X307V 00 0.0 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 0.0 0.0 0.0 0.0
TAShR- S ThEUTN, 1SS 13 ERSEAe&0T»n ~ NS 1 a1 0.0 0.0 0.0 0.0
TX3fY»fi
- 030300013, ST By S13Y SE 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &=3n- "3 najl
“RSRTSCY ~ UBUE3CY USAUCTY»AC SRE ST &0V»AC 00 0.0 0.0 0.0
&=3f-"37hail
1282020AU2000°8E ©1 2a6=UpU°8k 0.0 0.0 0.0 0.0
0ceg” °dacd
3 ATasl
P3AaYST313Y I1SEé»h 0.0 0.0 0.0 0.0
3 A4l
T aRT3eV3T3Y -~ i3ISy 1363160 Y »iC 1SEe»n 00 0.0 0.0 0.0
I -> 1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0

20la6e=T 01-01-02



L6v1

18 19 20 21
- 134AC 1363(aAlasyY»h 0.0 0.0 0.0 0.0
- 283NaT=3-A=13Y I13Eé»i 0.0 0.0 0.0 0.0
- TatluC ~* =30 Tanasly»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0
- 2AT 3 »AST»EEZT3Y I3Eé»f 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0 0.0 0.0
a=U=y=-fi=CY Sk 1=263aiAladY Y»fi¢ O»edpx»iiatl 0.0 0.0 0.0 0.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢63A0AIE6YY »1 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0Y Y » i 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I13Eé»h 0.0 0.0 0.0 0.0
- AYIN3YAH7 pYadlAC 3k 1=363a0AlaiYY»h 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0
AYA36CT Yana-ail =~ a3Na3YaoU (1363[acAlasyY»h 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-ail 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0
31 Afadu
- IAZE»YIST3(CY YiaiA»A = N=- a6 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0
bé%QZPUééDUOB 0.0 0.0 0.0 0.0
31 Afadu
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- TASYEAANT3ICY YIasA»i 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0
- D37 ail YA 3T3(CY 3( YiaiA»n 0.0 0.0 0.0 0.0
bé%QZPUééDUOB 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe31%-3ICY T3HUST»RAAAIEGYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- AYAQ’OQT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
ZQE ~‘| 2Eé°6 0.0 0.0| 8,660.4 8,660.4
31 Afadu
P3l»f, é?ﬁl'l'31(lﬁ I'X?ﬁY»ﬁ . 'I'él’f)\]A»ﬁ, éﬁéYU ‘ 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0| 8,660.4 8,660.4
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0
31 Afadu
D/EQPZ’I\?U PExAOUCS 0.0 0.0 0.0 0.0
31 Afadu
Dc"U}ZlO(j °1 bEUaAUauUPS 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»AC ** RCYAGAIAGYY»AC O»éup»fiadu 0.0 0.0 0.0 0.0

20la6e=T 01-01-03
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 03

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

200a56=T N 01-03-01

P2i»ET3INS5

20la6e=T 01-03-01

S[ATa0U ASH 175 fofiC

23030360313V 230302602 T3T3Y T2040A3Y
anT=31Ci CRE3VYaiAl=RY, 136=3[a0ARY T31A»AC STI»AC -A=YoU3Y 1363a0ARY
é>>:|'?'l'3Y 3¢= |'3,ﬁU3Y E»¥mii fau -y Té}f) -af I’éﬁY»éﬁAﬂ?"( 'I'3%U?'I'?ﬁéQ?Y
NBYAR&»T313Y U=03036C3T3Y UY=3-313¢4iU &»atAl3Y Ta0uco
TR =Y 126272027 [=262/40V»AC_ N=USVOC O»T=T2ACY
USAUCYY»AC A3Na3Yaiu 1310371 NAARY N» A3TICASTT31 [C3hanacAlasyY»ic
AVI3(»VA T=ai=1 =Eé»h CA=T=Y=6U=Y yCY=3Ye=T4nail
13ec 31 R TAAN Asma- N LN £ o P
P PPN x e £ [+ AT&dU Aér 31 ATadu Aér 3+ Atadu Aén
Pati=1C¢ 3Yi3YaiuA -40U=nA e s 2 AV e s 2 AV e AV
(=y=i = 13713na0Y»A¢ = 13713na0Y»A¢ = 13713na0Y»A¢
HA3UY»AAT < > < > < >
"ow 7 ; i ; [
= "> o = "> o = If:(oﬁ ;;%
= ek = S & = 23
> =8 > RS > =
S S B = S S g S 8 a0
0 n 0% 0 TS 0 o
Al @ Al @ Al =
) M "
< 5= < S'= < o
2 2 e
1 2 3 4 5 6 7
AU b~2®chA 12Eé°5 749,097.9 313,874.6 313,874.6| 113,616.0 113,616.0 321,607.3 321,607.3
31 ATadU
AUAZ20LT 12Eé°d 749,097.9 313,874.6 313,874.6| 113,616.0 113,616.0 321,607.3 321,607.3
3 A4l
ZPEZ'I‘?UQE 12802T8a0A0a0U 383,554.5 269,938.5 269,938.5| 113,616.0 113,616.0 0.0 0.0
31 ATadU
. A3VAT 1x3AT40 SREST3T3A0»A ~ NS T»E3 Tx3AY»f 383,554.5 269,938.5 269,938.5| 113,616.0 113,616.0 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 367,363.3 253,747.3 253,747.3| 113,616.0 113,616.0 0.0 0.0
- p303026C313Y, I3 313V 2» 13137 3F 16,191.2 16,1912 16,191.2 0.0 0.0 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
jZéZUéﬁAUéﬁUUOB/E o1 2a462UgU°sE 43,352.3 43,352.3 43,352.3 0.0 0.0 0.0 0.0
0°Peg” Coadd
3 A4l
P3AaYST313Y 13Eé»h 15,448.6 15,448.6 15,448.6 0.0 0.0 0.0 0.0
3 A4l
—I»h-» 1 Cl 1=6=1a0MasY Y»h 8,041.3 8,941.3 8,041.3 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 132.3 132.3 132.3 0.0 0.0 0.0 0.0
-T=AC 1=631a0Aa0Y Yo 6,175.0 6,175.0 6,175.0 0.0 0.0 0.0 0.0
-2330ai=-n=13Y 13Eé»n 200.0 200.0 200.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SIA0ARBYY»AC 1SEéxh 1,976.4 1,976.4 1,976.4 0.0 0.0 0.0 0.0
a=U=Y=-A=CY =k 1=6=1a0AR0YV»AC O»eUp»hady 12,659.0 12,659.0 12,659.0 0.0 0.0 0.0 0.0
3 ATasl




90ST

20lase=T 01-03-01

1 2 6 7
T DSUS13n-231Y 1563 1a0AaIYY »h 3,050.0 3,050.0 3,050.0 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 8,020.0 8,020.0 8,020.0 0.0 0.0 0.0 0.0
TA>763031CY ~ NSYASICY 8YVAC 1363la0Aa0YY»h 100.0 1000 100.0 0.0 0.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»f 500.0 500.0 500.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 989.0 989.0 989.0 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 222.0 222.0 222.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 222.0 222.0 222.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 4,250.0 4,250.0 4,250.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 1,550.0 1,550.0 1,550.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 630U 1ARAUV»AC AYASGCT Yana-ail 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 8,796.3 8,796.3 8,796.3 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 2,911.6 2.911.6 29116 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 4,996.0 4,996.0 4,996.0 0.0 0.0 0.0 0.0
TT>63031CY ~ NSYRSICY 8YVAC VIAbA 888.7 888.7 888.7 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @i I°eUé2Aab21uU°s 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
2UE 12E6°8 563.8 583.8 563.8 0.0 0.0 0.0 0.0
31 Atadu
P3AlI»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 263.8 263.8 263.8 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 320.0 320.0 320.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 01 p=AYC 03
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P2i»ET3INS5

20la6e=T 01-03-02

200a56=3T N 01-03-02

S ATa0l AS W 1A= - fofiG

TanT=1ChA CRE3YaiAIRY, s Ty A T e TSy Tias0n&s 1 3Y=04MC
AW ST3Y 2631302V _ =y L DOIEETETEY THEVALA-C3T3Y
S\ 2 O~ m W\ - 1ICX31=3-A=13Y 1»EYata-C3Y»AC &tannC AR
NBYASa»T313Y el T e iy PRSI I»Y W AAYY»AC
T ) W A [ 2 1»0» I3 TAARY EA3YUY o rxy o R
I3A31U3ICY I36313iU3Y =203 fas) (=634 Vo -anlasY»alAlBY
U=3AlCYY»iC a=3Na=vail CAST3Y=36U3Y 1= -Ci
AVI3U»YA ——— — A rant AAe T Aral Ao
1=35C _?Ul AIaOLJ Ae ] __3U1 Al aoL) Ae ] __3U1 Al aoL~J Ae ] __3U1 Alaog Ae ]
PALT=IC 3YT=Y4UA - 45U3RA = 137131a0Y»MAC = I3 3Aa0Y»AiC - I13713Aa0Y»AC = I13137a0Y»MAC
(N3%=3 < < < <
P NN PP > D> 1>c_, z>c_>
1330Y»har) \f?_: e \f?_: e \f?_: _mg; g \f?_: _mg; g
< glo‘) o] < glo‘) o] < -G < B di=]
N n g N ncig % S % S
3 R 3 &y 3 el 3 Ryl
) fo=0 ) M= 0 ) SRS ) SRS
d 0 L o 0 @ d - d -
5 Lo % 8L % >4l % >4l
=4 =4 a2l 22
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé°3s 2,722,360.2| 1,138,895.6 1,138,895.6| 749,564.9 749,564.9| 98,660.0 98,660.0| 152,957.7 152,957.7
31 Arasl
AUA20LT 12Eé°8 2,722,360.2| 1,138,895.6 1,138,895.6| 749,564.9 749,564.9| 98,660.0 98,660.0| 152,957.7 152,957.7
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 1,699,038.5| 1,035,549.9 1,035,549.9| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 1,699,038.5| 1,035,549.9 1,035,549.9| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 1,614,148.0 950,659.4 950,659.4| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
- Z3O?g?é(23'l'3Y, 13'|'3T?\'( EES S R 84,890.5 84,890.5 84,890.5 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - 37 ad
T12&20a0AladuUUCBE @1 2482UgU°BE 180,617.0 102,372.7 102,372.7| 78,244.3 78,244.3 0.0 0.0 0.0 0.0
O?ép' <3209
3(r ATadu
P3faiYST3T3Y ISEé»i 67,350.2 57,143.0 57,143.0] 10,207.2 10,207.2 0.0 0.0 0.0 0.0
31 Atasl
- YY»fi-» W CT 13é3(a0AladYY»hi 35,104.3 28,429.1 28,429.1 6,675.2 6,675.2 0.0 0.0 0.0 0.0
- TaU&Y3t 1=3é63acAlasy Yo i 535.0 425.0 425.0 110.0 110.0 0.0 0.0 0.0 0.0
- T=2AC 1363(a0AlaiYY»hi 24,283.9 20,998.9 20,998.9 3,285.0 3,285.0 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 590.0 453.0 453.0 137.0 137.0 0.0 0.0 0.0 0.0
- F&0loc  e3Au3 1anasUY»AC 1303 T3ta0AlasY 6,837.0 6,837.0 6,837.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 18,811.3 8,898.8 8,898.8 9,912.5 9,912.5 0.0 0.0 0.0 0.0
a3U3Y3-A3(CY 3F 1363a0Ala0YY»AC O»élu»iiasy 29,894.8 4,011.6 4,011.6 25,883.2 25,883.2 0.0 0.0 0.0 0.0
31 Arasl




80ST

20la6e=T 01-03-02

1 2 3 4 5 6 7 8 9
T DSUS13n-231Y 1563 1a0AaIYY »h 1614.0 1,614.0 1614.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 26,901.8 1,018.6 1,018.6| 25,883.2 25,883.2 0.0 0.0 0.0 0.0
- U»AI32064068313Y 12Eé»i 640.0 640.0 640.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 739.0 739.0 739.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VI»TC O»6Upmiiall 25,987.2 207.2 207.2| 25,780.0 25,780.0 0.0 0.0 0.0 0.0
31 Atadu
- @26Y3-Co313Y 13é63acAlasyYr»i 25,987.2 207.2 207.2| 25,780.0 25,780.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 5.113.9 4,092.8 40928 1,02L1 1,021.1 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 980.0 980.0 980.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 4,133.9 31128 31128 10211 1,021.1 0.0 0.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 33,459.6 28,019.3 28,019.3 5,440.3 5,440.3 0.0 0.0 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 14,358.6 11,518.3 11,518.3 2,840.3 2,840.3 0.0 0.0 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 18,351.2 15,751.2 15,751.2 2,600.0 2,600.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 5748 574.8 5748 0.0 0.0 0.0 0.0 0.0 0.0
TP &T YAS T ST3CY SE VoA h 1750 1750 1750 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 833,899.7 0.0 0.0 0.0 0.0 98,660.0 98,660.0( 152,957.7 152,957.7
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T=Y N0 121G SE 833,899.7 0.0 0.0 0.0 0.0] 98,660.0 98,660.0| 152,957.7 152,957.7
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
- 2[f AYA36CT 1A3U3RYARNY»A 833,899.7 0.0 0.0 0.0 0.0 98,660.0 98,660.0( 152,957.7 152,957.7
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 7,776.0 0.0 00 77760 7,776.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 7.776.0 0.0 00| 7,7760 7.776.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 7,776.0 0.0 0.0 7,776.0 7,776.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 1,029.0 973.0 973.0 56.0 56.0 0.0 0.0 0.0 0.0
31 Atadu
D3AI»fA, A3AT31CA Tx3AY»A ~ waild»i, afnayo 1,029.0 973.0 973.0 56.0 56.0 0.0 0.0 0.0 0.0

26317302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p




60ST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

Af»YOC 7-A1 NALT3TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 01 p=AYC 03
EUUC 02 136C TA=-AvAC - TaT 126w =T 121 30 T=26a00V»AC T»AT=YAUY Aer

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

S ATl AS T 17=-ffiG

Pb E3»T3T3Y

USAUCYY»ACY ECO»YHCAY
13- A3ICY —3A»AY»RAT
=a3Narail

2 Afal AeT
T=T2Ra0V»AC

=1 ATadu

DALT=1C =Y T=V40UA -

c -

5 5o

S \=

<L 2 3

8

10 11
AU b~2®chA 12Eé°5 582,282.0 582,282.0
31 Afadu
A‘L"JAZ(‘)/ET 12Eé°d 582,282.0 582,282.0
31 Afadu
2?|§?’I‘?UZ/E 12802Tda0AUasU 0.0 0.0
31 Afadu
. ﬁ3~Uél' X3 140 SREZT3 T30 ~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRESTST3A0»A " NS T»E3 Tx3AY»fi 0.0 0.0
- Z3(~Jf3tzj?é(23-l-3Y, 1IYI3Y 7 AT 3I3Y 3 0.0 0.0
1=36=3a0Y»AC &=3h- 374l
?ZéZUéﬁAUéf)UUOB/E °i 250620gU°sE 0.0 0.0
0°eg” 26a00
31 Afadu
D?ﬁf’lﬁY'?_l-3_|_3Y 13Eé»i 0.0 0.0
31 Afadu
- %Y»fi-»WCT I13¢3aiAiasYY»i 0.0 0.0
- TaU&IY3E 136=3a0Aa0Y Yo i 0.0 0.0
- T3AC 13é63(a0Ala0Y Y»ii 0.0 0.0
- 233Nai3-A=13Y I3Eé»n 0.0 0.0
- f140l0C  e2ANSB TaNaiUY»AC T3R0=T3ta0Ala0Y 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3U3Y=- i3y 3E 1363a0AlA0YY»AC O»éupriiady 0.0 0.0

20la6e=T 01-03-02



01ST

10 11
- B3U3T30-43(CY 1363atAlaiyY»h 0.0 0.0
- DO IBTT3T3Y 136340AIA0YY»f 0.0 0.0
- U»AT3[36400431T3Y 13Eé»i 0.0 0.0
- AYIN3YAGH pYadlAC 3 1=3é63a0Ala0Y Y»ii 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VI»TC O»6Upmiiall 0.0 0.0
31 Atadu
TO3EVE - 313 1363 aAaYoh 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vaol (1363la0AlasYY»h 0.0 0.0
YiaoA»h)
31 Atadu
“P>YUnnC - T36a00Y»C AYASOCT Yana-al -~ ASNASYal 0.0 0.0
DIV 3Y0C 63U TanaiUY-AC AYASGCT Yana- &l - 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0
31 Atadu
“NASEVIBT3CY VidoAnn N2 -&06 1 0.0 0.0
TTNSVeAAN 130T ViAo 00 0.0
- T»Y6303(CY " NBYASICY &YYLC YaiA»fi 0.0 0.0
TPST&T YASTII3KY 3L Viaohwn 0.0 0.0
. 62~®2DU asbues 582,282.0 582,282.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T=Y N0 121G SE 582,282.0 582,282.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
“2E AVAS6CT A3 USRYARNY»A 582,282.0 582,282.0
820EE2T120 UaZe1Uo8 o1 ToUE=AapP=10%3 0.0 0.0
31 Atadu
S46C3E3T3Y 0-YAABY 1RSUST3Y SAT3N3raA=up 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
“SEVASETYon HaienCo 0.0 0.0
2UE 12Eé°5 0.0 0.0
31 Atadu
D3AI»fA, A3AT31CA Tx3AY»A ~ waild»i, afnayo 0.0 0.0

26317302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p

20la6e=T 01-03-02
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 01 p=AYC 03
EUC 03 126G Th=-fi»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAl=YaUY Aew
[SE6»AC WY 1»63-Cr313Y 136313003 NaLT2TV»AC

P2i»ET3INS5

200a56=T N 01-03-03

20la6e=T 01-03-03

S ATl AS T 1A= -fiofiC
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- 2RE3TA0V»AC SRES T 3130000 -~ N3 1263 1x3AY»h 3,106,414.0| 648,796.4| 431,6545| 217,141.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- A30- 3 TnalY»n, 1n30313Y ERSEaeaily»n - N=ral 740,969.7| 129,496.3| 129,496.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
- 2303036C313Y, 13313V~ a» 13137 3 200,603.6| 45068.0 31,9035| 13,1645 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=26=2(a0Y»AC &= - "=1nasl
1262020AU2600°8K ©1 2a52UgU°3k 1,327,466.7| 119,902.3| 69,872.8 50,0295 130,054.8 0.0| 130,054.8| 521,560.8| 262,642.8| 235,918.0| 23,000.0
0°er” ©5a00
31 Atasl
P2RAV=T=1=Y 1=Eé»h 426,892.2| 57,972.7| 21,658.2| 36,3145 119,068.0 0.0| 119,068.0 0.0 0.0 0.0 0.0
3 AfasU
“IY»R-»> 0 CT 12e63achany Y»i 158,411.2| 31,2412| 13,600.0| 17,6412 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUabY3t 1363lachlary Y»n 2,424.8 545.0 250.0 295.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363(a0Ala0Y Y »h 165,563.7| 25,495.7 7,3082| 18,1875 119,068.0 0.0| 119,068.0 0.0 0.0 0.0 0.0
-2330ai=-n313Y 13Eé»n 2,690.8 690.8 500.0 190.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0




61GT

20la6e=T 01-06-01

1 2 3 4 5 7 8 9 10 11
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 62,311.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 »AST»EEZT3Y I3Eé»f 35,490.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an140a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 38,723.3| 16,723.3 11,929.6 4,793.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 579,980.4 7,919.6 5,824.0 2,095.6 0.0 0.0 0.0| 521,560.8| 262,642.8| 235,918.0| 23,000.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 3,079.6 3,079.6 1,700.0 1,379.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 17,916.0 2,916.0 2,700.0 216.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 521,560.8 0.0 0.0 0.0 0.0 0.0 0.0| 521,560.8| 262,642.8| 235,918.0| 23,000.0
- U»iil3[=040043T3Y I3Eé»h 6,000.0 1,000.0 500.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 30,924.0 924.0 924.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 62,556.0 4,556.0 3,900.0 656.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 30,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 32,556.0 4,556.0 3,900.0 656.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 129,314.8( 32,730.7 26,561.0 6,169.7 10,986.8 0.0 10,986.8 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 53,083.9| 12,097.1 10,623.2 1,473.9 10,986.8 0.0 10,986.8 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 66,871.7| 16,274.4 11,874.4 4,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 9,359.2 4,359.2 4,063.4 295.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 73,260.4 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 3,000.0 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 3,000.0 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 70,260.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ A»T313Y " N3U3IYO=3(CY 4 70,260.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3CY 13X T»AA40AIAYY»ACY
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 45,888.9| 45,888.9 45,888.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




0cst

20lase=T 01-06-01

1 2 3 4 5 6 8 9 10 11
8a6CE=1=7 0-VAR=Y 1n=U= 1Y =1 =R=ln aA=Up 458889| 458839 458839 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»i (uléoc»Co)
31 Atadu
- 2 YA Y»A piaic»Co 45,888.9( 45,888.9 45,888.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E 12E6°8 2,244,534.9 6335 440.0 1035| 1,254,745.3| 1,254,745.3 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3>, é’l?ﬁ"l'31§ﬁ I’><?ﬁY»ﬁ ” 'I'él’f)UA»ﬁ, éf]{?lYU ) 6,633.5 633.5 440.0 193.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 2,232,901.4 0.0 0.0 0.0] 1,254,745.3| 1,254,745.3 0.0 0.0 0.0 0.0 0.0
a3Na06 T 3ICY UGGAdY»h 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éh"?l lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 2,778,665.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofkxa0U°d 2,778,665.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 958,006.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 958,006.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o7 é23g21adaigued 1,352,389.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- TABY8AAR W 3ICY 63A03 TanaiUY»h 25,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 133 13Y 63A0=314RaUY»A 42,556.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 1,284,833.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pEQU=120 ok2a0U°s 468,269.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIAAST3Y NCUYST3Y UCcany»h 15,0000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- »aLYC3T3Y USAT»=3-AST3Y ISEé»i 451,269.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3 - I3 13T 313Y I3Eé»i 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




TeST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

Of»YUC 7-it NALT=TAT plabc» w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 06

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 01-06-01

S ATa00 AST 17 -fofiG

pRU=RE=AR2ICY P2V

a»T3T3Y -&lic

2x451Y»AC 3¢c3T6asAB0n R=3pi=2603Y, -&lu=-AU=Y,
T3S T»AAU3Y CAST3Y=60140 a» w313V | 4ieaiUv3echasAlasyy»ic = | é»kiCT &A3R T a3YalAlsY
3Y6T36U3Y =wi=ic -YSSTU3Y 31%.3(CY 1=3é3acAlasy
SRESTIVUY»i T S e SESTIVUY»AC
A=-Ch CAZT=Y36450
PALTZIC 3YT3Y45UA 3 ATaoU Aew 3 Ataol Aer 3 ATaoU Aer 3 ATaoU Aer
\— T30 3na0Y»Mic \— T30 3na0Y»Mic \— T30 3na0Y»ic \— T3 3na0Y»iC
il - = - = - = -
U3 D=2 a 2 8 a D=2 A oL . 285
= S0 ‘= Aig ‘= S0 ‘= e 2
< o U < o3 < T = S 220 =R
> = 'a 0 S > > c > = 'a 0 S > = "<
) S’_ecuwm 3 n o A3 \m_°f5~w~n5 3 f?;m(*')xm
Ul = Ul Pl s ) = Ul 0=
d DB = d £ d DB = d 0=
> L ow- > Dy > L ow- > =0 w0
< 0 Z 5 < QN < il Z 5 < 2 n S0
vl > PR = - O
an S /S
12 13 14 15 16 17 18 19
AU _2@°UA 12Eé&°3s 33,031.9 33,031.9( 387,671.8 387,671.8 37,228.5 37,228.5( 819,218.6 819,218.6
3 A4l
AUAZ20LT 12Eé°5 33,031.9 33,031.9( 63,082.4 63,082.4 37,228.5 37,228.5( 819,218.6 819,218.6
3 A4l
2pE21200k 12802T0a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
_RSUAT Tx3NT40 SRESTST2R00A N2 102 1x3T»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- &3f- 3T RAUY»A, 1ABUST3Y EASEAaUY»A " N3 Tl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
63030260313, I3 B r 213y 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[36340V»AC &3A- 3 1fiail
12620a0A02000°6K ©1 2a62UgU Bk 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
O°Peg” @oadd
3 A4l
P=nay=1=>1=Y 1SEénn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
IR -» WGl 1263 R0Aa0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T3AC 1363la0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-A313Y I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




[44<1)

20lase=T 01-06-01

12 13 14 15 16 17 18 19
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 - »AST»EEZT3Y [3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an140a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0| 819,218.6 819,218.6
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 3I3Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0| 819,218.6 819,218.6
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 819,218.6 819,218.6
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 33,031.9 33,031.9 0.0 0.0 37,2285 37,228.5 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
AYA3OCT 1r~‘,l3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 33,031.9 33,031.9 0.0 0.0/ 37,2285 37,2285 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ A»T313Y " N3U3IYO=3(CY 4 33,031.9 33,031.9 0.0 0.0/ 37,2285 37,2285 0.0 0.0
3¢ TA3CY 13X T»AA40AIAYY»ACY
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




€¢st

20lase=T 01-06-01

12 13 14 15 16 17 18 19
8a6CE=1=7 0-VAR=Y 1n=U= 1Y =1 =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»i (uléoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 63,082.4 63,082.4 0.0 0.0 0.0 0.0
31 Atadu
D3>, é’l?ﬁ"l'31§ﬁ I’><?ﬁY»ﬁ ” 'I'él’f)UA»ﬁ, éf]{?lYU ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 63,082.4 63,082.4 0.0 0.0 0.0 0.0
a3Na06 T 3ICY UGGAdY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éh"?l lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofkxa0U°d 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o1 é28g21a0a000°d 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
TANSYeAAN T 3T 63AUS Tanaiuy»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 133 13Y 63A0=314RaUY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
2UE pEQU=120 ok2a0U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIAAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TACST3Y USRS -n3T3Y 1SEenh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3 - I3 13T 313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 190,117.8 190,117.8 190,117.8 0.0 0.0 0.0 0.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 13,638.9 13,638.9 13,638.9 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 15,815.0 15,815.0 15,815.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 8,081.5 8,081.5 8,081.5 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 665.0 665.0 665.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlaoYY»h 10,506.3 10,506.3 10,506.3 0.0 0.0 0.0 0.0
- U»iil3[=0640043T3Y I13Eé»i 20,000.0 20,000.0 20,000.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363 a0Alasy Y»h 121,411.1 121,411.1 121,411.1 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(aAla0YY»AC Onéup»iiasl 1,000.0 1,000.0 1,000.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 1,000.0 1,000.0 1,000.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 36,036.9 36,036.9 36,036.9 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 5,000.0 5,000.0 5,000.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu = 31,036.9 31,036.9 31,036.9 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 2,231,840.3| 1,907,470.2 1,907,470.2 236,230.0 236,230.0 88,140.1 88,140.1
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 609,690.7 555,153.1 555,153.1 0.0 0.0 54,537.6 54,537.6
- TASYEAANT3ICY YIasA»i 1,141,751.6| 1,108,149.1 1,108,149.1 0.0 0.0 33,602.5 33,602.5
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 164,678.7 164,678.7 164,678.7 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 315,719.3 79,489.3 79,489.3 236,230.0 236,230.0 0.0 0.0
. 6%@290369006 44,2775 16,075.9 16,075.9 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 1,139.7 1,139.7 1,139.7 0.0 0.0 0.0 0.0
31 Afadu
- AYAQ’OQT 1A3U3RYAANY »A UCe3Y- 3(CY 1,139.7 1,139.7 1,139.7 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AY_A_36Q-I. 3_'-_r~‘,I3U:3jBYéﬁNY>>ﬁ A U3I3YNSTI=3IC 3f 43,137.8 14,936.2 14,936.2 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2 AYAS4CT 1iA3U3RYAANY»h 43,137.8 14,936.2 14,936.2 0.0 0.0 0.0 0.0
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aab21U%s 702,156.0 643,334.1 643,334.1 0.0 0.0 58,821.9 58,821.9
31 Afadu
ééég3E?_|-3Y Sa3NataiAlBY YASewY»i 23,500.0 23,500.0 23,500.0 0.0 0.0 0.0 0.0
31 Afadu
- TY3CY WY W »eaiAlasYY»ACY 1A3UaT 1x3fT14a0 12,500.0 12,500.0 12,500.0 0.0 0.0 0.0 0.0

8a0C3E3T3Y =43(aT40AIBY Tx3Y»h




GGST

20la6e=T 03-01-01

1 2 3 6 7
T GAOCIEST3Y SASNATANSY LY»00Y YASE T Voh 11,0000 11,0000 11,0000 0.0 0.0 0.0 0.0
136=3[40AladYY»f U= rai6a0Y»icy
Ga0C3E2T3Y (- YalAlBY 1A3U=T3Y S 3N=3w aiAl=up 678,656.0 619,834.1 619,834.1 0.0 0.0 58,821.9 58,821.9
YaS&TY»h (Uadig»Co)
SR YEL
- 2f YAZ&TY»A pidic»Co 678,656.0 619,834.1 619,834.1 0.0 0.0 58,821.9 58,821.9
2UE 12Eé°0 188,577.8 188,577.8 188,577.8 0.0 0.0 0.0 0.0
=1 ATaiU
D3I»fA, &SAT31CA Tx3AY»A ~ waild»i, afavo 23,963.0 23,963.0 23,963.0 0.0 0.0 0.0 0.0
T3E3T3AU3Y T3psh UST3AL3TY»AC TA0UCO TCizéTail
»Y UCUI=Y6 YT=wU=0p
2 ISEé»f 164,614.8 164,614.8 164,614.8 0.0 0.0 0.0 0.0




9GST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT piaic» T3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

S ATa0l ASH 1A= - fofiG

Pb aU, bb T2 221 ThAwé»fd, UCeCY, 13- 7 bb
48w CI3Y&ABY UCeCY, 313, -[E=T4ah
8A3ET3Y 3Y0YST3HCY” T»Y6=0=(CY

TH»EYCT3(C O»étp»fl3YY S¢3To»E40
Y&3w3Tai ThisU311i140 6&=36a0313Y
T3AI»AC WaTae=-aU=3iY»nA 2 T30 3
Taraesgy t»war N=SU3ycysvesranlsy

7=-Ch
PATT=IC 3YT3YAIUA 3 ATaoU Aer

\ T=0=3ha0Y»ic

2

i o'F

= R

. >3

5 28

3 0 n

f >ac

d n

=z 2l

89

8 9
AU 20°UA 12E6°5 28,201.6 28,2016
=1 ATasU
AUA20LT 12E€°8 28,201.6 28,201.6
=1 ATaiU
2pE2T2Ugk 12802Tda0AUacU 0.0 0.0
=1 AaiU
_ABUAT 131140 SRES W3 T310»1 ~ NS I»E3 1x3Y»fi 0.0 0.0
S YEL
- 2RE3TA0Y»AC SRESTST3A0»A " NS T»E3 Tx3AY»f 0.0 0.0
—g=0=US0CETSY, U STSY - Br =Ty SF 0.0 0.0
[36340V»AC &3A- 3 1fiail
- 2F 13703 rajAlsYY»h 0.0 0.0
12&20a0AladUUCBE 1 2482UgU°sE 0.0 0.0
0°p” ©5200
3r ATédU
P3RAIYSI3T3Y ISEé»ii 0.0 0.0
=1 ATasu
IR -»HCT 1263 a0AAY VR 0.0 0.0
- TaU&IY3E 136=340Ala0Y Yo i 0.0 0.0
- T34C 13é3(a0Aa0YY»i 0.0 0.0
- 283NaT3-[313Y 1SEé»i 0.0 0.0

20la6e=T 03-01-01



LSST

8
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0
- 2AT 3 »AST»EEZT3Y I3Eé»f 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
aSl7= 7Y SE 165 GAANTHIG O>E0pmAa 00 00
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 0.0 0.0
- D3UST31-53(CY 1363(a0AlA6YY»i 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0YY»ii 0.0 0.0
- U»iil3[=0640043T3Y I13Eé»i 0.0 0.0
- AYIN3YaH7 pYadlAc 3k 1=363a6AlaiY Y»h 0.0 0.0
ZQE U?éY? -CU313Y I363(aAla0YY»AC Onéup»iiasl 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0
AYA36CT Yana-ail =~ &3Na3YaoU (1363[acAlasyY»n 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 0.0 0.0
- TASYEAANT3ICY YIasA»i 0.0 0.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0
. 6%@290369006 28,201.6 28,201.6
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0
31 Afadu
- AYASOCT HA=USRYARNY»f UCe3%- 3ICY 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AY_A_36Q-I- _1_r~‘,I3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3IC 3f 28,201.6 28,201.6
USTSR1=TY»ACY
31 Afadu
- 2 AYAS4CT 1iA3U3RYAANY»h 28,201.6 28,201.6
éaOiEZE?TZU U&a2éTuU®s 21 T°U&2Aab21U%s 0.0 0.0
31 Afadu
ééég3E?_I-3Y Sa3NataiAlBY YASewY»i 0.0 0.0
31 Afadu
- TY3CY WY W »eaiAlasYY»ACY 1A3UaT 1x3fT14a0 0.0 0.0

8a0C3E3T3Y =43(aT40AIBY Tx3Y»h

20la6e=T 03-01-01



8GST

T GAOCIEST3Y SASNATANSY LY»00Y YASE T Voh 0.0 0.0
136=3[40AladYY»f U= rai6a0Y»icy

Ga0C3E2T3Y (- YalAlBY 1A3U=T3Y S 3N=3w aiAl=up 0.0 0.0
YaS&TY»h (Uadig»Co)

SR YEL

TSEVASE N Yon HAGCo 0.0 0.0
2UE 12Eé°0 0.0 0.0
=1 ATaiU

P3fil»f, A3 W 31CA 1x3iAY»i ~ wWailA»i, afayo 0.0 0.0
T3E3T3AU3Y T3psh UST3AL3TY»AC TA0UCO TCizéTail

»Y UCUI=Y6 YT=wU=0p

2 ISEé»f 0.0 0.0

20la6e=T 03-01-01



6GST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

P2i»ET3INS5

200a56=3T N 03-01-02

S ATl ASH T7= - fofiC

L, o _ BpEh-3y
2y. 30y YTw3Y-HABY | 3ViT3Y-aiABY Eanlnre
=3=fafail SRESTIT3UC
a3Nasval
AY13U»YA 3 ATasl Asr = AT4s0 Ae
S 13C - T3 3A40VAC - T3 T340V »AC
Pa1i=1C 3Yi3YaiUA - a6U=fiA N — N
(\=%=q : S : -
TENAL) L s & L0R
- g o538 - 2% ol
s o =TI s 0Ly
A i m~>—.“:‘5 A L=
> \mic ] =M oe -
f nAann f B i an
g NS d =L
> > - 0 > 8 -
< 0’)_ % > - < R W
8 00 ul
1 2 3 4 5
AU _20°0A 12E€°5 20,527,634.9| 20,049,396.1 20,049,396.1| 478,238.8 478,238.8
=1 Afail
AUAZOET 12E6°8 20,332,059.9| 19,853,821.1 19,853,821.1| 478,238.8 478,238.8
=1 Afasl
2pE2T200k 12802T6a0A0a00 16,652,524.0| 16,310,425.7 16,310,425.7| 342,098.3 342,098.3
=1 Afail
_n3Ual 1x3n1a0 SRESTST310»1 ~ NS 1»E3 1x3Y»A 16,652,524.0| 16,310,425.7 16,310,425.7| 342,098.3 342,098.3
=1 Afasl
- 2RE3TA0V»AC SRES 13130000 -~ N3 163 1x3AY»h 16,556,438.7| 16,240,105.7 16,240,105.7| 316,333.0 316,333.0
- p303030C3T3Y, 137313V -~ & 1 313 3f 25,765.3 0.0 0.0| 25,765.3 25,765.3
1=6=[a0Y»fiC A=A - =14l
- 2F 1=2R03 T naoAlasY Y »h 70,320.0 70,320.0 70,320.0 0.0 0.0
12620a0A02000°8L ©1 245620g0°8k 3,092,206.1| 2,956,321.5 2,956,3215| 135,884.6 135,884.6
Oceg” 8200
=1 Afasl
P14y =T=13Y 1=Eé»h 1,092,396.2| 1,054,572.7 1,054,572.7| 37,8235 37,8235
=1 Afail
S WY»h-» 1 CT 1263ashlasy V»h 761,342.5 739,105.2 739,105.2| 22,237.3 22,2373
- TaUaiY =t 1=6=la0AlaoY Y»h 96,449.0 96,267.5 96,2675 1815 1815
-134C 1=63ahlay Y»n 212,204.7 197,200.0 197,200.0] 15,004.7 15,004.7
- 23=[ai=-A=13Y 12Eé»i 22,400.0 22,000.0 22,000.0 400.0 400.0
Tanias0asUY»AC ~ RAc= - SlatAlasYY»AC 1SEé»h 448,330.8 400,000.0 400,000.0| 48,330.8 48,330.8
a30=Y=-A3CY 3E 1363a0AlaiY Y»1C O»etpm»iiasy 167,336.1 139,300.0 139,300.0] 28,036.1 28,036.1
=1 Afasl

20la66=T 03-01-02



09ST

1 2 3 4 5
- PSS T3Y 1363(a0AlaiYY»h 1,064.7 0.0 0.0 1,064.7 1,064.7
TP3US13n-23KY 1363 1a0AIYY »h 105,8580|  104,800.0 104,800.0]  1,058.0 1,058.0
- DO ISTT3I3Y 1363(40AlA5YY» 1,913.4 0.0 0.0 1,913.4 1,913.4
- U»AT3(20400521T3Y I13Eé»f 44,500.0 22,500.0 22,500.0] 22,000.0 22,000.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 14,0000 12,0000 12,0000| _ 2,000.0 2,000.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 30,111.7 30,000.0 30,000.0 111.7 111.7
31 Atadu
TP -G 3137 126310 Voh 30,1117 30,000.0 30,000.0 1117 111.7
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 37,5900 35,0000 35,0000  2,590.0 2,590.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 14,0000 14,000.0 14,000.0 0.0 0.0
DIV 3YoRC - 630U 1ARAUV»AC AYASGCT Yana-ail 23,590.0 21,000.0 21,0000]  2,590.0 2,590.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,316,441.3| 1,297,448.8 1,297,448.8| 18,992.5 18,992.5
31 Atadu
- IAZe»YIRT3(CY YiaiA»n ~ N=- 46 220,233.7 214,438.7 214,438.7 5,795.0 5,795.0
- A03TY T »E313Y SAR[3YUY»h 34,307.5 34,307.5 34,307.5 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 746,984.4 735,484.4 735,484.4( 11,500.0 11,500.0
- I»Y6303ICY " N3BYA3ICY eYYZC YladA»i 275,539.2 274,341.7 274,341.7 1,197.5 1,197.5
DT AT YAS T ST3CY SE VIaoh h 39,3765 38,876.5 38,8765 500.0 500.0
éaOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°d 33,357.6 33,357.6 33,357.6 0.0 0.0
31 Atadu
BA6CETY 0-VAAPY 1=U=TY 3w =N=Tr &A= 00 33,357.6 33,357.6 33,357.6 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 33,357.6 33,357.6 33,3576 0.0 0.0
2UE 12E6°8 553972.2  553,7163 553,716.3|  255.9 255.9
31 Atadu
P3AlI»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 8,255.9 8,000.0 8,000.0 255.9 255.9
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=T1U3Upn
2[f IZEé»h 545,716.3 545,716.3 545,716.3 0.0 0.0
élé lilﬁEUZUéZTZU 2TTEIUCBLE T1ai 12Eé°8 195,575.0 195,575.0 195,575.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 195,575.0 195,575.0 195,575.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °©i bEUadcAUaLUCS 71,000.0 71,000.0 71,000.0 0.0 0.0
31 Atadu
- b»YO»AC *" RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 71,000.0 71,000.0 71,000.0 0.0 0.0
Q?Z?U?Uoé o1 é28g21a0a00U°s 117,075.0 117,075.0 117,075.0 0.0 0.0
31 Atadu
TANSYeAAN T 3T 63AUS Tanaiuy»n 80,000.0 80,000.0 80,000.0 0.0 0.0

20la66=T 03-01-02



T9ST

1 2 3
S 1= 12Y 62n0= 1 analy»h 29,075.0 29,075.0 29,075.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 8,000.0 8,000.0 8,000.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 7,500.0 7,500.0 7,500.0 0.0 0.0
= A7 400
- &a VIasA=T=Y NCUY=T=Y UCcadY»h 7,500.0 7,500.0 7,500.0 0.0 0.0

20la5e=T 03-01-02



2991

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUKG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
ISEe»AC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

S ATa00 AST T7=-fofiG

a» =13y a=3Nasvashi=y
=5=NaraiU

=1 ATl Asr

AVIZU»YA - TS 3A40V»AC
o =66 pe
PATTZ1C 3V T=V450A -40USHA v N
(== K= 70
1A3UY»iar) < LIS g
S n 8L
! R
z anl
o
1 2 3
AU_=2g°UA 12E6°6 2,726,983.0| 2,726,983.0 2,726,983.0
=31 AT450
AUAZET 12E6°8 2,726,983.0| 2,726,983.0 2,726,983.0
=31 A4l
2PE=7120gk 1260=1620A0a00 2,116,164.3| 2,116,164.3 2,116,164.3
=31 Afas0
_=UaT 11140 SBEST=1=0000 N2 162 [X=AYoh 2,116,164.3| 2,116,164.3 2,116,164.3
31 Afasl
T2RESTA0VC SRES T ST 3100 NS 162 Ix3AVA 2,116,164.3| 2,116,164.3 2,116,164.3
12820a0A020600°8E ©1 2a82UpU° Bk 491,5338| 491,533.8 491,5338
0°ea” ©3a00
=31 Afasl
bSRAI=T=T>Y 15Eenn 61,4380]  61,438.0 61,438.0
=1 Afasl
IR - W CT 1363 R0AEYYoh 37,359.7|  37,359.7 37,350.7
TTaUAY3E 1363 ANaYYoh 37928 3,792.8 3,792.8
T340 1363 R0N&VTh 15,0000  15,000.0 15,000.0
T2E3Na13-A313Y 13Ee»n 5,250.0 5,250.0 5,250.0
YA - B3RS TARAUY»AC T3R0S 1 Sa0Aa0Y 355 355 355
TNaRTa00&0V>1C ~ RAc=S - SIAAAIYY»AC TSEe»h 95,3000]  95,300.0 95,300.0
aSIU=Y= - A=Y SE 126 1R0NAIVT »iC O»et»iias0 12,7000  12,700.0 12,700.0
=31 Afas0
OIS IST3Y 1363aAaYY»h 2,600.0 2,600.0 2,600.0
TI>V6303I0Y - NSYRSKGY 8YV2C 12363 R0AEYVoh 500.0 500.0 500.0
T U»RT=E686652 137 12Eénh 3,600.0 3,600.0 3,600.0
TAVINSVa0R (YA0AC 3k 1263 R0Na0Y Y 6,000.0 6,000.0 6,000.0

D‘? iI»T3INS5
200466=3T N 03-01-03

20la6e=T 03-01-03



€997

1 2 3
2EUS6Y= -G =T 156=0Ra0T V-G OveU»iaiy 1,450.0 1,450.0 1,450.0
31 Atadu
- @3EY3S-CU313Y I363aAlabYY»ii 1,450.0 1,450.0 1,450.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 78,0000| _ 78,000.0 78,000.0
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢adloY»AC AYASOCT Yana-ail =~ A3Na3Yail 5,000.0 5,000.0 5,000.0
DUV 3YoRG  63AUS 1 aRa0UY»AC AYASOCT Yana-ail 73,0000|  73,000.0 73,000.0
asNa=vail
UlaAon (FRR=V0Y»1) 242,6458| 242,64538 242,6458
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 71,7728| 7.,772.8 71,772.8
TARSYERAN T 3CY VIAA N 1652081 1652081 165,208.1
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 46775 46775 4,677.5
TPITAT YASTII3CY 3L Viaohon 987.4 987.4 987.4
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 18,0849| 18,0849 18,084.9
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 18,0849| 18,0849 18,084.9
Ya3ewY»i (uléoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 18,0849| 18,0849 18,084.9
2UE ~‘| ZEéoé 101,200.0 101,200.0 101,200.0
31 Atadu
D3RIon, AR S1CR Tx2RT>n T alkoR, AHaT0 ‘ 12000  1,200.0 1,200.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 100,000.0 100,000.0 100,000.0

20la6e=T 03-01-03
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T =3CY TSE»AC - 4f1=26Y=T3Y 1363T37-U3Y 03 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P2i»ET3INS5

200as6=3T N 03-02-01

S[ATa00 ASH TR fofiC

U=E=n=naAl=yY

S OT==1 [26iAY
§IA=-A»iC N=U=T=h-C
CRET=Y=60=Y i L
e VBT By g STSY EWaNSUBASYAUY»AC
AZEYVE1] a»r=1=Y a=la=vail
RCUY3ATC &a3fa=Vail
AYLI3U»YA — —
13('2"8 _?Ul Al'éﬁ! Aé'l' _?Ul Al'éﬁg Aé‘l'
PALT31C 3YT3VaiUA - 2U3RA - 13713Ra0Y»NC - I137130a0Y»NAC
(N3%=3 < =
s > > > >
1A3UY»Aar) \,(?_; ;g_>_ ) ’%g \,(?_; ;g—>_ ) ’%g
s | 2LiF=% < LT
A ;_mzc A mlc;_mzc
> Lomxa > nmxn
) C -l B ) SIS
d Docwn o Docwn
| zkFed | 2 | opfid
8= ol 8= ol
1 2 3 4 5
AU _2@°UA 12Eé°3s 7,510,098.6| 66,406.9 66,406.9| 7,443,691.7 7,443,691.7
31 Arasl
AUAZ20LT 12Eé°d 7,510,098.6| 66,406.9 66,406.9| 7,443,691.7 7,443,691.7
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 6,705,263.7| 62,626.1 62,626.1| 6,642,637.6 6,642,637.6
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 6,705,263.7| 62,626.1 62,626.1| 6,642,637.6 6,642,637.6
31 Arasl
- 2RE=TA0Y»AC SRESTZT3A0»A " NS T»E3 Tx3AY»f 6,688,925.7| 62,626.1 62,626.1| 6,626,299.6 6,626,299.6
- 2303036C213Y, 13T313Y ~ &0 313Y 3 16,338.0 0.0 0.0 16,338.0 16,338.0
1=36=3a0Y»AC &=3h- 374l
T12&20a0AladuUUCBE @1 2482UgU°BE 621,630.4( 3,749.8 3,749.8 617,880.6 617,880.6
0cep” 234060
31 Arasl
P3AaYST313Y I1SEé»h 175,144.6 40.0 40.0 175,104.6 175,104.6
31 Atasl
IR > 1T 13631a0AEY Y 102,242.4 0.0 00| 1022424 102,242.4
- TAU&Y3t 1363aAladYY» i 19,0394 0.0 0.0 19,0394 19,039.4
T13AC 1563 R0NaTTh 33,3268 00 00| 333268 33,3268
TZa3Na12 13137 13Eenh 12,160.0 40.0 400| 12,1200 12,120.0
TYAT0C  ESAUS TANAIUY-RC T30S TSEA0AADY 8,376.0 00 00 8.376.0 8,376.0
Tan1a00&0V»1C ~ BAC= - SIAABIYY»AC TSEémn 44.7360|  840.0 840.0|  43,896.0 43,896.0
a3IU373 - A3k 3F 13631a0ARVY»AC O»eU»Aady 7.3720] 5500 550.0 6,822.0 6,822.0
31 Arasl

20la6e=T 03-02-01
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1 2 4 5
“DSUS13R- 33y 15631a0AaIYY »h 18220 0.0 0.0 1,822.0 1,822.0
- DO IBTT3T3Y 136340Ala5YY»A 400.0 400.0 400.0 0.0 0.0
- U»AT3[36400431T3Y 13Eé»i 5,150.0 150.0 150.0 5,000.0 5,000.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 3,000.0 0.0 00[ 30000 3,000.0
31 Atadu
TO3EVE - 313 1363 AAaYoh 3,000.0 0.0 0.0 3,000.0 3,000.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 54.7130| 2000 2000| 54,5130 54,513.0
YiaoA»h)
31 Atadu
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail - 54.7130| 2000 200.0] 54,5130 54,513.0
asNasvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 336,664.8] 2,119.8 2,119.8 334,545.0 334,545.0
31 Atadu
- 1A=6»YIBT3(CY YiaiA»f =~ N=3- 406w 95,463.1 779.3 779.3 94,683.8 94,683.8
- Mla03TY T »E3T3Y SAA3YuY»A 2,038.5 0.0 0.0 2,038.5 2,038.5
TARSYERANT3CY VIAbA N 211,5389| 1,189.0 1,189.0] 210,349.9 210,349.9
TT-V63031CY ~ NSYASICY 8YYAC Yiaoh»h 819.1| 1515 1515 667.6 667.6
TPITAT YASTII3KY 3L Viaoh»n 26,805.2 0.0 00| 26,8052 26,805.2
ea0k=t=120 Ua=e10°8 ©1 1°U6=Aap=10°8 157,589.5 0.0 00| 15755895 157,589.5
31 Atadu
846CE=1=Y 0-VARA=Y 1n=U=12Y S n=R=ln aA=Up 157,5895 0.0 00| 157,5895 157,589.5
Ya3ewY»i (uléoc»Co)
31 Atadu
“ToVE=AGRTC SYOVHEAs ot T2&T=1 -~ W 3hCu=KkY 157,5895 0.0 00| 157,5895 157,589.5
Y&3&W Y»fi piaic»Co
ZUE~ 1 2Eé°6 25,615.0 31.0 31.0 25,584.0 25,584.0
31 Atadu
D3I»fA, &SAT31CA Tx3AY»A ~ waild»i, afavo 25,615.0 31.0 31.0 25,584.0 25,584.0

T363T3A0=Y 13hph USTSASTY>AC 140006 10A=6T40U
»Y UCUIBY6 YIS 030

20la6e=T 03-02-01
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T =3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

D‘? iI»T3INS5
20046631 N 03-03-01

20la6e=T 03-03-01

SH AT AST 17= - fofiC

pp =(U=y=1A3T3Y
1=73{3Y¢ a={a=vaiU

WISV 3TAC
N=AT=CA T=r=hai0y
3&3Naial 1=3é3ABY

130
N

STSY Qs I Y»AC
CUY=Vafia- 460

Bp e3NU3Y31A3T3Y
137T3A3YC
&3llasew3(CY yavr

=1 ATadu

a3(&a3vaiu
AY13U»YA = ATas0 AeT 31 A7as0 Asr 3 ATasl Asr 31 A7l Asr
o 13¢C - T=02Ra0V»AC - T=2120a0Y»AC - T2 =2ha0Y»AC - T=21=2040Y»AC
PA1T=1C 3YT=Y45UA - 400=1A s — s - s s —
(N=%=h 0 il 0 0 o - 0 il
1ﬁ3UY>>ﬁél') = '(f) - = iz {g < (?‘)- .>: < .m .
i RS oA e
= § L = = = nw = R
3 > 3 2 3 == 3 o1
f - f noe f i f -
g 20 g e 0 g a0 g 20
< 0" < 0 < 84 < m -
£ R 4 £
a 4 a
1 2 3 4 5 6 7 8 9
AU_2g°UA 12E&°5 10,713,895.9| 575,845.2 575,8452| 1,417,554.8 1,417,554.8| 20,000.0 20,000.0| 11,533.7 11,533.7
=1 ATas0
AUAZOET 12E&°5 10,657,055.9| 575,845.2 575,845.2| 1,417,554.8 1,417,554.8 0.0 0.0| 11,533.7 11,533.7
=1 Afas0
2pEZT2Upk 120021020AUa00 0,054,033.6| 482,545.8 482,5458| 1,149,572.1 1,149572.1 0.0 0.0 0.0 0.0
=1 Afas0
_ABUAT 1x3N140 SRES W ST20050 N2 12 XSV »h 0,054,033.6| 482,545.8 482,5458| 1,149,572.1 1,149572.1 0.0 0.0 0.0 0.0
=1 Afas0
~2RESTA0V»AC SRES T 3131000~ N3 1»E3 X311 8,563,746.1| 457,217.3 457,217.3| 1,051,983.2 1,051,983.2 0.0 0.0 0.0 0.0
- 30303602 T3Y, 1B w3137~ &> 1 313 3F 490,287.5| 25,3285 25,3285 97,588.9 97,588.9 0.0 0.0 0.0 0.0
126=3(40Y»AC &= - "3R4l
1282020AUa000°8K ©1 2a0620sU°8k 1,380,103.4| 92,646.3 92,646.3| 244,472.7 244.472.7 0.0 0.0 0.0 0.0
0°es” ©5260
=1 Afas0
PSRaVST313Y 1SEe»n 860,502.2| 24,143.6 24,143.6| 136,33L.7 136,331.7 0.0 0.0 0.0 0.0
=1 Afas0
“UY»i-> 0 CT 12631a0AIE0Y Y»h 400,552.9| 13,202.1 13,202.1 60,019.5 60,019.5 0.0 0.0 0.0 0.0
- TalavV=t 1=631a0Ala0Y Y»h 27.3632| 1,596.0 1,596.0 5,960.0 5,960.0 0.0 0.0 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 420,664.6| 8,586.1 8,586.1 60,470.1 60,470.1 0.0 0.0 0.0 0.0
- 233041273137 [SEe»h 2,559.4 759.4 759.4 520.0 520.0 0.0 0.0 0.0 0.0
~9TA00C ~ 62U TanalV»nC T =R0= T 3Ea0N&0Y 9,362.1 0.0 0.0 9,362.1 9,362.1 0.0 0.0 0.0 0.0
ManTa00a0V»NC ~ RAG= - SIAGAIABYY»AC TS Eéxh 47528.7| 15,001.7 15,001.7 4.217.0 4,217.0 0.0 0.0 0.0 0.0
A3U37=2-A310Y =E 12631a0AA0Y V»1iC O»6Up»nadU 101,173.4] 23,0055 23,005.5 26,444.0 26,444.0 0.0 0.0 0.0 0.0
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20lase=T 03-03-01

1 2 3 4 5 6 7 8 9
T DSUS13n-231Y 1563 1a0AaIYY »h 46,7675 300.0 300.0 9,100.0 9,100.0 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 17,671.9 6,815.5 6,815.5 0.0 0.0 0.0 0.0 0.0 0.0
- T2E3 33 13Y 1363(a0Ala5YY»Hh 17,344.0 0.0 0.0 17,344.0 17,344.0 0.0 0.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»f 19,390.0( 15,890.0 15,890.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 253140| 4,757.0 4,757.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 10,0000| _ 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 153140| 1,757.0 1,757.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 333,565.4| 25,648.5 25,648.5 74,373.0 74,373.0 0.0 0.0 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 252,017.1 3,598.4 3,598.4 61,106.1 61,106.1 0.0 0.0 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 67,214.0| 21,600.0 21,600.0 12,350.0 12,350.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 11,0143 4501 4501 916.9 916.9 0.0 0.0 0.0 0.0
TP &T YAS T ST3CY SE VoA h 3,320.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @i I°eUé2Aab21uU°s 29,340.0 0.0 0.0 22,140.0 22,140.0 0.0 0.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 29,340.0 0.0 00| 22,1400 22,140.0 0.0 0.0 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 29,340.0 0.0 00| 22,1400 22,140.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 193,578.9 653.1 653.1 1,370.0 1,370.0 0.0 0.0| 11,533.7 11,533.7
31 Atadu
P3AlI»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 10,993.8 653.1 653.1 1,370.0 1,370.0 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 182,585.1 0.0 0.0 0.0 0.0 0.0 0.0| 11,533.7 11,533.7
élé lilﬁEUZUéZTZU 2TTEIUCBE T1ai 12Eé°8 56,840.0 0.0 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 56,840.0 0.0 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °i bEUadcAUaLUCS 19,500.0 0.0 0.0 0.0 0.0 19,500.0 19,500.0 0.0 0.0
31 Atadu
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 19,500.0 0.0 0.0 0.0 0.0] 19,500.0 19,500.0 0.0 0.0
Q?Z?U?UOB o1 é28g21a0a000°s 36,840.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- IS T3Y é3fu=Tanaly»a 36,840.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pA@U2T2U @EzaoU°d 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0

=1 ATadu
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8

- USE=- 12 T3 r3T3Y [SEé»i

500.0

0.0

0.0

0.0

0.0

500.0

500.0

0.0

0.0
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

Of»YUC 7-it NALT=TAT plabcr» w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 03

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 03-03-01

S ATa00 AS W 1A= -fiofiG

PP 12T 3ASYY»fC
&=Nasew=3ICY yavs

pb e3NU3Y=1/3T3Y
13'I'3ﬁ3YQ
T=na0asAlasyY»nc
%3 - 36450

PP 1WAV Y»iiC
a3Nasvail

B0 13V =Yg
T=na0acAlasyY»ic
13- 304060

3 Afa0U Aer
T=1=Ra0Y»AC

3 AfaoU Aer
T=T2040V»AC

3 AfaoU Aer
T=T2040Y»AC

31 Afaol Aer
T=T=2Ra0V»AC

=1 ATadu

PALTSTC SYT=VaiUA 5 3 — 5 3

\lmE (?')_ I>E \lmE z(?-; > \lmE (?')_ I>E \lmE (?')_ I>E

S nw = A = nw S nw

7 v 7 i = 7 7 [ =

S o0 S 20 S o0 S o0

< gd < n - < gd < g°d

o 0 o o
a

10 11 12 13 14 15 16 17
AU b~2®chA 12Eé°s 171,051.4 171,051.4 840.0 840.0( 8,481,070.8 8,481,070.8| 36,000.0 36,000.0
31 AT40U
A‘L"JAZ(‘)/ET 12Eé°8 171,051.4 171,051.4 0.0 0.0] 8,481,070.8 8,481,070.8 0.0 0.0
31 ATa0U
2pE2T2Ugk 1260210a0A0a3U0 0.0 0.0 0.0 00[ 7,421,9157|  7,421,915.7 0.0 0.0
31 ATa0U
. ﬁ3~Uél' ‘I'><3ﬁ 730 BRES3T3T30» ~ NBT»EBTx3AY»0 0.0 0.0 0.0 0.0] 7,421,915.7 7,421,915.7 0.0 0.0
31 ATa0U
- 20E 'I'éOY»ﬁC SRESTST3A0»A ~ NST»E3 1x3AY»fi 0.0 0.0 0.0 0.0] 7,054,545.6 7,054,545.6 0.0 0.0
11330‘3[:1?’6(23].3{ 1YY T 3I3Y 3 0.0 0.0 0.0 0.0 367,370.1 367,370.1 0.0 0.0
1=263(40Y»AC A=A - =1A&l
jZéZUéﬁAUéf)UUOB/E o7 2582UgU°sk 0.0 0.0 0.0 0.0] 1,042,984.4 1,042,984.4 0.0 0.0
0°eg” ©3200
31 ATa0U
D?ﬁf’lﬁY'?-l-Q’_l-Q’Y 13Eéx»i 0.0 0.0 0.0 0.0 700,026.9 700,026.9 0.0 0.0
31 ATa0U
“UY»i-> 0 CT 12631a0AIE0Y Y»h 0.0 0.0 0.0 0.0| 327,3313 327,331.3 0.0 0.0
- TAUASY3E 13é3(a0Ala5Y Yo i 0.0 0.0 0.0 0.0 19,807.2 19,807.2 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 0.0 0.0 0.0 0.0| 351,6084 351,608.4 0.0 0.0
- 233NAT3-[AST3Y I3BEé»i 0.0 0.0 0.0 0.0 1,280.0 1,280.0 0.0 0.0
~9TA00C ~ 62U TanalV»nC T =R0= T 3Ea0N&0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ManTa00a0V»NC ~ RAG= - SIAGAIABYY»AC TS Eéxh 0.0 0.0 0.0 0.0|  28,220.0 28,220.0 0.0 0.0
A3U37=2-A310Y =E 12631a0AA0Y V»1iC O»6Up»nadU 0.0 0.0 0.0 0.0| 51,723.9 51,723.9 0.0 0.0
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10 11 12 13 14 15 16 17
T DSUS13n-231Y 1563 1a0AaIYY »h 0.0 0.0 0.0 00| 37,3675 37,3675 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 0.0 0.0 0.0 0.0 10,856.4 10,856.4 0.0 0.0
- T2E3 33 13Y 1363(a0Ala5YY»Hh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»f 0.0 0.0 0.0 0.0 3,500.0 3,500.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 0.0 0.0 0.0 00] 120197 12,0197 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 0.0 0.0 0.0 00| 12,0197 12,019.7 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 0.0 0.0 0.0 00| 17,4500 17,4500 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 0.0 0.0 0.0 0.0 7,000.0 7,000.0 0.0 0.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 0.0 0.0 0.0 00| 10,4500 10,450.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 233,543.9 233,543.9 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 0.0 0.0 0.0 0.0 187,312.6 187,312.6 0.0 0.0
TANSYeAAN T 3T Yiashnn 0.0 0.0 0.0 00| 33,2640 33,264.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 0.0 0.0 0.0 0.0 9.647.3 9,647.3 0.0 0.0
TP &T YAS T ST3CY SE VoA h 0.0 0.0 0.0 0.0 3,320.0 3,3200 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @i I°eUé2Aab21uU°s 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
2UE 12E6°8 171,051.4 171,051.4 0.0 00| 89707 8,970.7 0.0 0.0
31 Atadu
P3AlI»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 0.0 0.0 0.0 0.0 8,970.7 8,970.7 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 171,051.4 171,051.4 0.0 0.0 0.0 0.0 0.0 0.0
élé lilﬁEUZUéZTZU 2TTEIUCBE T1ai 12Eé°8 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
Dc"[.{ﬂo(j °i bEUadcAUaLUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U?UOB o1 é28g21a0a000°s 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
- IS T3Y é3fu=Tanaly»a 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
20k pA@U2T2U @EzaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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0.0

0.0

0.0

0.0

0.0
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0.0
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T =3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P2i»ET3INS5

200a56=3T N 03-03-02

20la6e=T 03-03-02

S ATl ASH T7=-fofiG

DD US40 Gz TasYUY»fiC
A3 A3YC
SPESTSTUC
&=N&=YU3Y I3Eé»h

DRVACY ANTAZYC.
-fiZé»Y[=T¢ a=a=vail

Pb U=1145

CAZ TAOYUY»AC

A=RTa=Ve

SRESTST3UC
T=1a04sAIa6YY»iC

%3i- 2640

L33 T3na0AlAYY»ACY
AVL.ATT3T A3A-USYCAY»fC,
+&f0=3 -» W Y»AC ~ TT3Y»AC
13A031RasAlasy

AYLI3U»YA
134¢ = Arasl Aer =1 ATaiU Asr = Atadl A = Atadl A
PALT3IC 3YT3YaiUA -aiU=fA - T3r3na0Y»fic \— T373na0Y»fic \— T3 3iAa0v»ic \— T30 3na0Y»fic
((=v=3h B b . b b
1ASUY»AaT y y > y y ,
) \lmE ‘%ﬂg‘ % \lmE ;%oﬁ ;:5;6 \lmE ‘%ﬂg‘ % \lmE (?')_ I>E
< {5 M= = 'm T = {50 = < :0')- 5
2 o4 = og 2 n <= 2 o4 = og A 0o
> S iy > a0 > S iy > = -
f VR f 0o f VR f 0 ic
d [SiaTa d e d Qw0 d d
> zmc of g > M W > zmc of g > o3
< 5.0 < 7% < 5.0 < a
e > o
)
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé&°d 663,756.3| 254,824.2 254,824.2| 377,272.1 377,272.1| 1,160.0 1,160.0 15,500.0 15,500.0
=1 ATasU
AUAZOET 12Eé°d 662,596.3| 254,824.2 254,824.2| 377,272.1 377,272.1 0.0 0.0 15,500.0 15,500.0
SR YEL
2pE2T2Ugk 12802Tda0AUa0U 190,142.8( 190,142.8 190,142.8 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
_ABUAT 131140 SRES W3 T310»1 ~ NS I»E3 1x3Y»fi 190,142.8( 190,142.8 190,142.8 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiu
- 2RE3TA0Y»AC SRES WS T30~ NS T»E3 1x3AY»f 176,437.7| 176,437.7 176,437.7 0.0 0.0 0.0 0.0 0.0 0.0
- 3030306C313Y, 137 33Y " 7313y 3 13,705.1 13,705.1 13,705.1 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hRal
12&20a0AladUUCBE 1 2482UgU°sE 76,005.1| 60,505.1 60,505.1 0.0 0.0 0.0 0.0 15,500.0 15,500.0
0cep” 234060
SR YEL
P3RAYSIST3Y ISEé»ii 16,352.7 16,352.7 16,352.7 0.0 0.0 0.0 0.0 0.0 0.0
S YEL
- YY»fi-» W CT 13é3(a0AlasYY»hi 5,862.2 5,862.2 5,862.2 0.0 0.0 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 79.2 79.2 79.2 0.0 0.0 0.0 0.0 0.0 0.0
- 13AC 13¢3aAlasyY»h 7,167.3 7,167.3 7,167.3 0.0 0.0 0.0 0.0 0.0 0.0
- 283NaT=3-(=13Y I13Eé»h 400.0 400.0 400.0 0.0 0.0 0.0 0.0 0.0 0.0
- F&dloc  e3Au3 1anasUY»AC T3R0S T3tadAlasY 2,844.0 2,844.0 2,844.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 18,718.9( 18,718.9 18,718.9 0.0 0.0 0.0 0.0 0.0 0.0
a3U3Y3-a3ICY 3k 13é63lA0AIA0YY»AC O»éup»iaiu 22,295.6 6,795.6 6,795.6 0.0 0.0 0.0 0.0 15,500.0 15,500.0
31 Afadu
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1 2 3 4 5 6 8 9
- PSS T3Y 1363(a0AlaiYY»h 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 15,000.0 15,000.0
TD3UST3R-33KY 1563laAaiv Y h 13850 13850 1,385.0 00 00 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 1,760.6 1,760.6 1,760.6 0.0 0.0 0.0 0.0 0.0 0.0
- T2E3 353 13Y 1363(a0Ala5YY»Hh 500.0 0.0 0.0 0.0 0.0 0.0 0.0 500.0 500.0
- U»AT3(20400521T3Y I13Eé»f 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3Yan pYadlAC 3lE 13é3adAladYY»h 950.0 950.0 950.0 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vana-ail ~ B=Na=Yall (=& RoAG0TIoh - 42184 472184 40184 00 00 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
OV 3YSRC - E3NUS T anaiUY-AC AYASGCT Yana- &l - 42184| 472184 40184 00 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 14,4195( 14,419.5 14,419.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YaiA»h ™ N3 - 46w 3,076.0 3,076.0 3,076.0 0.0 0.0 0.0 0.0 0.0 0.0
TTnSYeRan 13Ky Viabhon 10,1902| 10,1902 10,1902 00 0.0 0.0 0.0 0.0 0.0
TT»>Y6=03ICY ~ NSYASKCY 8YYAC Viahnn 11533 1,533 1,1533 00 00 0.0 0.0 0.0 0.0
5‘62~®2903690°6 3,943.8 3,943.8 3,943.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_PUSRYANNY >0 UG- 2I0Y T=/AU= ToBa0AG0Y V> ACY 3.9438| 3,438 3.0438 00 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AVASGCT TR=U=RYARNY»1 UGe =% 31T 3.9438| 3,0438 3,043 8 00 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&A0AIAGY Y »ACY
éx‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @1 I°eUé2Aab21uU°s 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
31 Afadu
83602127 0-VAARY 10> 12 =1 =R=in aA=Up 392,072.1 00 00| 377,272.1 377,072.1 00 0.0 00 0.0
Ya3&wY»f (lase»Co)
31 Afadu
- 2 YAZ&TY»A pidic»Co 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
20E 12E6°8 2325 2325 2325 0.0 00[ 00 0.0 0.0 0.0
31 Afadu
P3AlI»A, é?ﬁf|'31(;ﬁ I'X?ﬁY»ﬁ ” 'I'éﬁﬂ,&))ﬁ, éf]{?lYU ) 2325 2325 2325 0.0 0.0 0.0 0.0 0.0 0.0
I36373UY W3 UST3R13TY»AC Ta0UC6 TCA=¢ T4l
»Y UCUBY6 YI=3T1U3Up
aa l:I/EUZUé2 12U 2ITEIUPHE T 1ad 12Eé°6 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
D/E@EIJZT?U PExaOUCS 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
@?Z?U?Uoé °i é28g2i1a6a0guU°s 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
- I3 T3Y é3fu=Tanaly»a 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T =3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

Pa1T=0¢ =Yi=VaslA

S ATa0U ASH 175 fofiG

2y [ x3fay=Tah=Y
-ART»AAT T26= T2RACAY»ACY
Cii»Y6 U=Ta6=1
136=3[40AlasYY»AC 1C0=6
+AEN=T 466400

\m

31 ATa0U Aer
T=T=2Ra07»AC

=1 Afadu

\©
<
>
. >3
= 28
> o0
0 > ac
d n
=z 2
80
10 11
AU _2@°UA 12Eé&°d 15,000.0 15,000.0
=1 ATasU
A‘L"JAZ(‘)/ET 12Eé°d 15,000.0 15,000.0
31 Afadu
2pE2T2Ugk 12802Tda0AUa0U 0.0 0.0
=1 ATaiU
. ﬁ3~Uél' >=h 140 SREZT3 T30~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRESTST3A0»A " NS T»E3 Tx3AY»fi 0.0 0.0
- 3030360C313Y, 13733V 7 T 3I3Y 3k 0.0 0.0
13¢30a0Y»Ac &=h-"3hal
jZéZUéﬁAUéf)UUOé/E °i 25620gU°sE 0.0 0.0
0°eg” ©daid
SR YEL
D?ﬁf’lﬁY'?_l-3_I_3Y 13Eé»i 0.0 0.0
31 Afadu
- %Y»fi-»WCT I3¢3aiAiasYY»i 0.0 0.0
- TaU&IY3E 136=3{a0Ala0Y Yo i 0.0 0.0
- T3AC 13é63(a0Ala0Y Y»ii 0.0 0.0
- 283NaT3-[313Y ISEé»i 0.0 0.0
- Fa0l0C T eSA0B TanaiUY»AC T30 13Ea0Ala0Y 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3U3Y3-a3ICY 3k 13é63lA0AIA0YY»AC O»éup»iaiu 0.0 0.0

20la6e=T 03-03-02
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10 11
- T3S T3Y 13¢3a0AaYY»i 0.0 0.0
- DBUST30-43CY 1=363a0Al0YY»h 0.0 0.0
- DO ISTT3TI3Y 1363(aAladYY»fhi 0.0 0.0
- T3EST3AST3Y 1363aAlasYY»h 0.0 0.0
- U»AT3[2064665313Y 1SEéxf 0.0 0.0
- AYIN3YARA pYAdAC 3iE 13é63a0AIA5YY»1 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vaol (13¢3la0AlasYY»h 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»AC " 63AUSB TaNasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 Afadu
- A=6»YIST3(CY YlaiA»h ™ N3 - 406 0.0 0.0
- TABYEAAA T 3ICY YiaiA»h 0.0 0.0
- T»Y6=203(CY " NBYASICY 8YYLC YiaiAni 0.0 0.0
562~®2I?Ué169006 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAAsYY»ACY 0.0 0.0
31 Afadu
- AYASGCT HA3USRYAANY»f UCe3t- 3(CY 0.0 0.0
I3%W=T»A&A0AIAGY Y »ACY
eaok=t=1 20 U&a=2éTuU°s ©i I1°eUé=2Aap210°s 15,000.0 15,000.0
31 Afadu
’éééQ3E3_I-3Y' 0-YaiAlRY 1H3U313Y 3w 3N3rasAl=0u 15,000.0 15,000.0
Ya3&wY»f (lase»Co)
31 Afadu
- 2E YA36W Y»ii plade»Co 15,000.0 15,000.0
0 126655 00 00
31 Afadu
P3l»f, é?ﬁjl'31(lﬁ I'X?ﬁY»ﬁ . 'I'éﬁUk)ﬁ, éﬁ?’lYU ‘ 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Un
aa [g/EU?UéZ 120 2TTEIUCSE T 1ai 12Eé°8 0.0 0.0
31 Afadu
D/EQ}HJZ’I\?U PExaOUCS 0.0 0.0
31 Afadu
@?Z?Uéuoé °i é28g2i1a6a0guU°s 0.0 0.0
31 Afadu
- T3S T3Y é3Au31anaiUY»h 0.0 0.0

20la6e=T 03-03-02
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT piaicr T =3CY TSE»AC -4f1=26Y=T3Y 1363137 U=Y 03 p=AYC 04
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P2i»ET3INS5

200as6=3T N 03-04-01

S[ATa00 ASH TR fofiC

Pb 1= E3Y40AI3Y
a=Na=vai

Pb 1= =E340AlSY
a=Naie =gy yayr

=1 ATl Asr

= ATl Aer

AYIZU»YA - T2 3Ra0V»AC - T3 T3[a0Y»AC
o 1=eC = \ 2 =
PA1T=1C =Y =YaiUA -G0U=A K 3 K 3
(N=%=h = s = s
1A3UY»Aar) - g < iy
5 F 5 F
S | S |
] 0 ] 0
< f < f
a a
1 2 3 4 5
AU_2g°UA 12E&°5 3,705,210.1| 3,627,061.1 3,627,061.1| 78,149.0 78,149.0
= A7 400
AUAZSET 12E&6°98 3,705,210.1| 3,627,061.1 3,627,061.1| 78,149.0 78,149.0
= A7 400
2pE=T20pk 120021620A0a50 3,131,818.6| 3,131,818.6 3,131,818.6 0.0 0.0
= A7 400
_ABUAT 130140 SRES 1 ST20050 N2 12 XAV »h 3,131,818.6| 3,131,818.6 3,131,818.6 0.0 0.0
= A7 400
- 2RESTA0V»AC SRES W ST 3A05A N2 1562 Ix3NY»i 3,088,776.2| 3,088,776.2 3,088,776.2 0.0 0.0
- 63030363 13Y, 1313137 - 1313y 3E 43,0424  43,042.4 43,042.4 0.0 0.0
126=2(40Y»AC &3 -"=Thal
1262020A0a600°3k ©1 2a0620s0°3k 493291.2| 493,291.2 493,291.2 0.0 0.0
0°eg” °5a00
= A7 400
P2RaIV=1=12Y 12Eé»h 191,288.9| 191,288.9 191,288.9 0.0 0.0
= A7 400
“YY»A-»> W CT 1263a0Aa0Y Y»h 105,698.0] 105,698.0 105,698.0 0.0 0.0
- TaUabY =t 1=6=la0kasy Y»n 1,344.1 1,344.1 1,344.1 0.0 0.0
“T=AC 1=26=1a0Ra0Y Y h 80,606.8]  80,606.8 80,606.8 0.0 0.0
- 2&=Nai == 12Y 12Eé»h 3,640.0 3,640.0 3,640.0 0.0 0.0
MaRT1a00a00Y»NC -~ RAG= - SIA0AIABYY»C 12 E i 9,829.9 9,829.9 9,829.9 0.0 0.0
a3lU=v= A=Y 3 126316A180Y V»NC 0»€Up»Rail 109,074.2| 109,074.2 109,074.2 0.0 0.0
= A7 400
SIS 12Y 1=2621a0Aa0Y Vi 3,000.0 3,000.0 3,000.0 0.0 0.0
“D=U=T=2R-52Y 1=6=1a0Aa0YV»n 63,674.2 63,674.2 63,674.2 0.0 0.0
SO ST 12137 126=a0Aa0YV»n 31,8000]  31,800.0 31,800.0 0.0 0.0

20la6e=T 03-04-01



L1ST

1 2 3 4 5
- T3ES T3S 13Y 13¢3aiAaYY»h 400.0 400.0 400.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 8,000.0 8,000.0 8,000.0 0.0 0.0
- AYAIN3YaA pYAdlAC 3k 1363a0AlasY Y»h 2,200.0 2,200.0 2,200.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 43,850.1 43,850.1 43,850.1 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 11,4911 11,491.1 11,491.1 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu = 32,359.0 32,359.0 32,359.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 139,248.1 139,248.1 139,248.1 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 61,699.6 61,699.6 61,699.6 0.0 0.0
- TASYEAANT3ICY YiasA»i 76,440.0 76,440.0 76,440.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 1,108.5 1,108.5 1,108.5 0.0 0.0
2UE ~‘| ZEéOB 80,100.3 1,951.3 1,951.3| 78,149.0 78,149.0
31 Afadu
93ﬁ-|-»ﬁ, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ . 'IjéﬁUA»ﬁ_,_éf]{?lYU" ‘ 1,951.3 1,951.3 1,951.3 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 78,149.0 0.0 0.0| 78,149.0 78,149.0

20la6e=T 03-04-01
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 05

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

S ATa00 AST T7=-fofiG

pi»3T3T31a03T3Y
N=U=T=0-¢ &a={a=vaiU

=1 ATl Asr

=1 ATadu

AVIZU»YA - TS 3A40V»AC
o 1360 p
PALT=1C 3YT=V45UA - 0U=A ; T
(N=%=7 = 28
ASUY»AAT) - P
3 80T
s =
o
1 2 3
AU_=0°UA 1°E6°5 9,084,023.7] 9,084,023.7 9,084,023.7
32 ATasU
AUAZOET 12E6°5 8,884,023.7| 8,884,023.7 8,884,023.7
3 AT4dU
2PE>T2Upk 120> 1620AU0U 6,327,402.1] 6,327,402.1 6,327,402.1
3 Af4sU
_TPUAT TX3140 SRES 12120000~ N2 1ok TX3Yoh 6,327,402.1| 6,327,402.1 6,327,402.1
=T
TZRESTA0-C SRES TS 131000~ NS 163 Ix3AVon 6,327,402.1| 6,327,402.1 6,327,402.1
T2820a0AU20UUCBE ©1 2a82UpU°Bk 2,409,7255| 2,499,725.5 2,499,7255
0°es” 93200
3 AT4sU
PERA =TT 15Ee 7750765 7759765 775,076.5
3 AfasU
IR > 1T 13631a0AEY Y 695,020.8| 6950208 695,020.8
“Talav =t 1563 aAaY Vo 435630|  43,563.0 43,563.0
TTSAC 1563 A0AaT Yo 26,018.7|  26,018.7 26,018.7
T233Na1= 13137 1SEénn 3,850.0 3,850.0 3,850.0
TG - E3RUS TANGIUTNG T3M0S T SEANEY 7,524.0 7.524.0 7.524.0
TanTa0a00Y>C ~ BAg= - SRRV Y»AC TSEémn 19,0480|  19,048.0 19,048.0
A3IU=Y= (=0T S 1262R0AR0Y V211 O»6UH»Nady 142184 142184 14,2184
32 AT4sU
SRS 136310AEYTn 1,044.0 1,044.0 1,044.0
O TS T TST3Y 1363 R0AAYY»h 131744 13,1744 13,1744
SEUSeV= -Cr 3137 1563 AN V»C OneUpmnadl 1,041 1,204.1 1,041

D‘? iI»T3INS5
200466=3T N 03-05-01

20la6e=T 03-05-01



6/ST

1 2 3
CO=eV= - T 313 1363 GAaY Yoh 1,004.1 1,2041 1,204.1
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 150,127.9| 150,127.9 150,127.9
YlaoA»fi)
31 Atadu
TPoYnAG  T36a0I0Y»1C AYASOCT Yana-al -~ a=Nasvail 141,000.0| 141,000.0 141,000.0
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail 9.127.9 9.127.9 9,127.9
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,539,150.6| 1,539,150.6 1,539,150.6
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 279,586.4| 279,586.4 279,586.4
TARSYeRAN T3CY VIAA N 104,0130| 104,013.0 104,013.0
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 1,134,356.7| 1,134,356.7 1,134,356.7
TPST&T YASTII3KY 3L Viaohon 21,1945| 21,1945 21,1945
éaOfEZEZTZU Ua=2étuos 21 1°Ué2Aab2T1U°s 51,100.0 51,100.0 51,100.0
31 Atadu
BA6CETY 0-VAARY 1=U=TY 3w =N=Tr &A= 00 51,1000|  51,100.0 51,100.0
Ya3&uY»f (lase»Co)
31 Atadu
“2EVA3ETYon HaienCo 51,1000|  51,100.0 51,100.0
2UE 12E6°8 5796.1] 57961 5,796.1
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ‘ 4,296.1 4,296.1 4,296.1
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=6T 400
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 1,500.0 1,500.0 1,500.0
élé lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 200,000.0 200,000.0 200,000.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 200,000.0 200,000.0 200,000.0
31 Atadu
Dc"[.{ﬂo(j °©i bEUadcAUaLUCS 200,000.0 200,000.0 200,000.0
31 Atadu
“P»YmAG - RCYASAIARYY »NC RCY SNSRAA&Y 200,000.0| _ 200,000.0 200,000.0

20la6e=T 03-05-01
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 07

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

D‘? iI»T3INS5
20i466=3T N 03-07-01

20la6e=T 03-07-01

S ATl AS T 17= - fofiG

Db 0YYE=ST=3Y TAlCw »G
a=Na=vai

Pb OYYE=ST3Y TAUC1»G
a=Naie =gy yayr

Pb N=wasT aYvasT=yY
I=é3laiA=yY a=Na=vail

Pb N=wasT uyvasT3yY
I=é63laiAl=Y
T=na0aiAlasyY»nc
%3 - 26450

AY13U»YA =1 AjaiU A8 = Afa00 AW = Aja0U A8 = Afa00 AW
o 136C - T2 3Ra0V»AC - T=1=040Y»C - T2r2aa0V>Ac | | T2 Tr=/a0v»ic
PA1T=1C =Y =YaiUA - 430=RA N, N, N, N,
=%= - - - -
1ﬁ(30Y»ﬁél') \lmE ry \lmE ry \lmE _ \lmE _
< N < L < R < R
BN 0 - > 0 - > e gt > -
& o= & o= g =Rl & 251
< 2 < 2 < - < -
1 2 3 4 5 6 7 8 9
AU_2g°0A 12E&°5 6,312,675.7] 5,571,870.6 5571,870.6] 92,9364 92,936.4| 628,147.7 628,147.7| 7,000.0 7,000.0
= A7 400
AUAZSET 12E&6°98 6,305,675.7| 5,571,870.6 5,571,870.6| 92,9364 92,936.4| 628,147.7 628,147.7 0.0 0.0
= A7 400
2pEZ12Ugk 12002T0a0AUa00U 5,360,662.2| 4,814,670.6 4,814,670.6 0.0 0.0 545,991.6 545,991.6 0.0 0.0
= A7 400
_ABUAT 1x3N140 SRES W ST20050 N2 12 XSV »h 5,360,662.2| 4,814,670.6 4,814,670.6 0.0 0.0 545,991.6 545,991.6 0.0 0.0
= A7 400
- 2RESTA0V»AC SRES N ST 3A05A NS 1562 Ix3NY»1 5,272,386.0| 4,774,015.2 4,774,015.2 0.0 0.0 49837038 498,370.8 0.0 0.0
- 23020360312, 13213V - A n =137 3F 88,276.2| 40,6554 40,655.4 0.0 0.0| 47,620.8 47,6208 0.0 0.0
126=3(40Y»AC &= - "3R4l
12820a6AUa600°8K ©1 2a020sU°0k 677,434.1| 602,438.8 602,438 8 0.0 0.0| 74,9953 74,9953 0.0 0.0
0°es” ©5260
= A7 400
P2RaIV=1=13Y 12Eé»h 260,730.2|  236,309.0 236,309.0 0.0 0.0| 24,4212 24,4212 0.0 0.0
= A7 400
“YY»A-»> W CT 1263a0Aa0Y Y»h 131,341.0| 117,463.3 117,463.3 0.0 0.0| 13,877.7 13,877.7 0.0 0.0
- TaUaoY =t 1=6=la0kasy »n 2,319.2 1,890.8 1,890.8 0.0 0.0 4284 4284 0.0 0.0
“T=AC 1=26=1a0Aa0YY»h 123,755.0| 113,794.9 113,794.9 0.0 0.0] 9,960.1 9,960.1 0.0 0.0
-2&83Nai == 12Y 12Eé»n 3,315.0 3,160.0 3,160.0 0.0 0.0 155.0 155.0 0.0 0.0
TanTa0a0UY»1C ~ BAC= - SIABARIYY»NC 12 Eé»h 54,606.8|  49,566.8 49,566.8 0.0 0.0| 5,040.0 5,040.0 0.0 0.0
a=lU3V= A3y 3E 1263a0AA0YY»NG 0»etp»Nal 77,9850  68,685.0 68,685.0 0.0 0.0| 9,300.0 9,300.0 0.0 0.0
= A7 400
SIS 12Y 1=2621a0Aa0Y Vi 34,500.0|  30,500.0 30,500.0 0.0 0.0| 4,000.0 4,000.0 0.0 0.0




T18ST

20la6e=T 03-07-01

1 2 3 4 5 6 7 8
T DSUS13n-231Y 1563 1a0AaIYY »h 8.235.0 7.635.0 7.635.0 0.0 0.0 600.0 600.0 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 17,250.0 15,550.0 15,550.0 0.0 0.0 1,700.0 1,700.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 4,000.0 3,500.0 3,500.0 0.0 0.0 500.0 500.0 0.0 0.0
- U»AI32064068313Y 1=Eé»i 10,500.0 8,000.0 8,000.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 3,500.0 3,500.0 3,500.0 0.0 0.0 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 23,156.0]  20,950.0 20,950.0 0.0 00| 22060 2,206.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 23.1560|  20,950.0 20,950.0 0.0 00| 22060 2,206.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 258,866.9 224,928.0 224,928.0 0.0 0.0] 33,938.9 33,938.9 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 123,415.6 111,648.0 111,648.0 0.0 0.0 11,767.6 11,767.6 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 126,097.3 105,781.0 105,781.0 0.0 0.0] 20,316.3 20,316.3 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 4,549.0 3,049.0 3,049.0 0.0 00| 15000 1,500.0 0.0 0.0
TP &T YAS T ST3CY SE VoA h 4,805.0 4,450.0 4,450.0 0.0 0.0 355.0 355.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étuesd ©i I°eué=2Aap21U°s 157,705.3 150,865.3 150,865.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 157,705.3| 150,865.3 150,865.3 0.0 00| 68400 6,840.0 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
- 2 YAZ&TY»A pidic»Co 157,705.3 150,865.3 150,865.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
2UE ~‘| ZEéoé 109,874.1 3,895.9 3,895.9( 92,936.4 92,936.4 320.8 320.8 0.0 0.0
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 4,216.7 3,895.9 3,895.9 0.0 0.0 320.8 320.8 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2 I3Eé»i 105,657.4 0.0 0.0 92,936.4 92,936.4 0.0 0.0 0.0 0.0
élé lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
Q?Z?U?UOB o1 é28g21a0a000°d 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
- 1383 13Y 63A0=14Ra0UY»A 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0




¢8ST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 07

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

S ATa00 AS W 1A= -fofiG

Pb N=wasT uyYa=1=y
I=é63laiAl=Y
a=fase =gy yavs

31 Afaol Aer
T=T=/a0V»AC

PALT=1C 3V T=VaiUA 3

0

= —_— =

= g0

g 851

<L \e

10 11
AU_2g°UA 12E6°5 12,721.0 12,721.0
31 Atadu
A‘UAZ(‘)/ET‘IZEéoé 12,721.0 12,721.0
31 Atadu
2PE2120pk 1200210a0A0a0U 0.0 0.0
31 Atadu
_SUaT 131180 SRES T ST200o0 - NS 163 Ix 3V 0.0 0.0
31 Atadu
- 2RE=TA0Y»AC SRESTZT3A0»A " NS T»E3 Tx3AY»f 0.0 0.0
- 23030360 213Y, 131313 - a» w3137 3E 0.0 0.0
1=263(40Y»AC A=A - =1A&l
jZéZUéﬁAUéﬁUUoéﬁE °1 2a620gU°sE 0.0 0.0
0°eg” ©3200
31 Atadu
D?ﬁ?ﬁY?_I-3_I_3Y 13Eé»h 0.0 0.0
31 Atadu
“UY»h-»> W CT 126=1a0Aa0Y YA 0.0 0.0
- TalasY3t 1363a0Ala0Y Yo hi 0.0 0.0
“T3AC 1=2631a0Aa0YY»h 0.0 0.0
- 233Nai3-A313Y I=Eé»i 0.0 0.0
Tan1ai0aiUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3(03y=-a3(CY 3k 1363laAlacYY»AC 0»éup»fiail 0.0 0.0
31 Atadu
- I3AE2T3Y 13é63la0AlasYYr»i 0.0 0.0

20la6e=T 03-07-01



€8ST

10 11
- B3U3T30-43(CY 1363atAlaiyY»h 0.0 0.0
- DO IBTT3T3Y 136340AIA0YY»f 0.0 0.0
- T3E3T3AS13Y 1363(a0Ala0YY» 0.0 0.0
- U»AT=3[306400431T3Y 13Eé»i 0.0 0.0
- AYIN3YAGA pYadlAC 3 1=3é63a0Ala0Y Y»ii 0.0 0.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 0.0 0.0
31 Atadu
TO3EVE - 313 1363 aAaYoh 0.0 0.0
AYA36CT Yana-ail =~ &3Na3YaoU (1363[acAlasyY»n 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YIC  E3NUS TanaiUY-AC AYASGCT Yana- &l - 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0
31 Atadu
“NASEVIBT3CY VidoAnn N2 -&06 1 0.0 0.0
TTNSVeAAN 130T ViAo 00 0.0
- T»Y6303(CY " NBYASICY &YYLC YaiA»fi 0.0 0.0
TPST&T YASTII3KY 3L Viaohwn 0.0 0.0
éat‘)ﬁZE? 12U Uaz2étuesd ©i I°eué=2Aap21U°s 0.0 0.0
31 Atadu
846C3E3T3Y 0-YAABY 1A=U3T3Y 3T 3N3[raAl30p 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
“2EVA3ETYon HaienCo 0.0 0.0
2UE 12E6°8 12,721.0 12,721.0
31 Atadu
DS Ioh, BN S1CH [xSMYon - W AlAT, AHaT ‘ 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2 I3Eé»i 12,721.0 12,721.0
32 UEU=Ue=T1=U0 2T1£1U°8E T1a1 126698 0.0 0.0
31 Atadu
DEGU=120 PE=a00°0 0.0 0.0
31 Atadu
7°6°U=0°8 ©1 &-6021a6a000°0 0.0 0.0
31 Atadu
- I3AE2T3Y 63nu3T1analy»a 0.0 0.0

20la6e=T 03-07-01



¥8ST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T =3CY TSE»AC -4f1=26Y=T3Y 1363T3/-U=Y 04 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

D‘? iI»T3INS5
200466=3T N 04-01-01

20la6e=T 04-01-01

31 ATas0 A6 1A= -fi»fiC
anT31¢A CRE3YaAiAISY,
anT31Ci CRE3YAIAISY, AT3T3Y T36313003Y
B WST3Y I262T3A0=3Y f=yA=drw=r=y " T3V V»iC
NSYASE&» 1 3T3Y TSASIOBCY T363T3A0U3Y UR=TU3Y
T3ASTUSCY 1363 T3A03Y USAUCYY»AC &3Na3YaiU 13¢3{a0AlasyY»h
USAUCYY»AC &a3Na3vail (Y2E=n=natAlasYY»ic
AVI3(»YA SRESTST3W»AC US84T)
134C =11 R ear Asme- v oo P
PO e 2a A g A > ATadu Aén 3 Atadu Aér 3t Atadu Aér
Pati=1C¢ 3Yi3YaiuA -alU=nA e 2 AV e 2RV o e LA
(=y=i = 13713na0Y»A¢ = 13T131/a0Y»NiC = 13713na0Y»A¢
1RB0Y»AAT) 0')C - 0')C . 0')C .
> . _g‘:o _g}o
= :m_ i i% (?‘)_ ;8 = 0')_ ;l% = 0')_ ;l%
3 Ry 5 SE 3 S8
> Aol 0 ) R > R
" Sy@=3 " RS f ICES
d W AS d - d -
z - & o f Z ~i Z ~>|
B8 = 2R R
1 2 3 4 5 6 7
AU b~2®chA 12Eé°s 3,635,659.6 316,894.6 316,894.6 778,147.0 778,147.0( 14,300.0 14,300.0
31 AT4U
AUA20LT 12Eé°8 3,634,659.6 316,894.6 316,894.6 778,147.0 778,147.0( 14,300.0 14,300.0
31 Atasl
ZPEZ'l‘?UﬂE 12802T18a0AU0asU 1,171,242.6| 281,169.2 281,169.2 713,050.3 713,050.3 0.0 0.0
31 AT4U
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 1,171,242.6| 281,169.2 281,169.2 713,050.3 713,050.3 0.0 0.0
31 Arasl
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 1,084,335.7| 266,640.8 266,640.8 651,122.7 651,122.7 0.0 0.0
- a303030C313Y, 13T33Y 7 »T3I3Y 3 86,906.9 14,528.4 14,528.4 61,927.6 61,927.6 0.0 0.0
13¢3{a0Y»AC &=h-"3hal
jZéZUéﬁAUéﬁUUoé/E °1 2a620gU°sE 186,081.1 35,551.0 35,551.0 64,349.1 64,349.1 0.0 0.0
OPeg” °daid
31 Atasl
P3faiYST3T3Y ISEé»i 58,681.2 13,030.3 13,030.3 37,474.4 37,4744 0.0 0.0
31 Atasl
- WY»f > Gl 1363aAlasY Y»h 37,7439 6,263.5 6,263.5 25,554.9 25,554.9 0.0 0.0
- TaU&Y3t 1=3é3acAlasy Yr»h 556.4 130.5 130.5 358.9 358.9 0.0 0.0
-13aC 1=363aAlaryY»h 19,780.9 6,436.3 6,436.3 11,244.6 11,244.6 0.0 0.0
- 243Nai=3-A3T13Y I3Eé»i 600.0 200.0 200.0 316.0 316.0 0.0 0.0
Manias0asUY»AC -~ BAc= - SlatAlasYY»AC 1SEé»h 41,100.4 7,817.2 7,817.2 10,500.0 10,500.0 0.0 0.0
a30=Y=-A3CY 3E 1363a0AlaiY Y»1C O»etp»iiasy 38,219.3 3,559.8 3,559.8 4,054.0 4,054.0 0.0 0.0
31 Arasl




G8ST

20la6e=T 04-01-01

1 2 4 6 7
- D3U3T31-543(CY 1363(A0AIA6YY »1 760.7 200.0 200.0 560.7 560.7 0.0 0.0
-'ZBE?'I:?_I-,?”%UC U3&Y2-CI313Y %31 -3603Y 775.5 0.0 0.0 0.0 0.0 0.0 0.0
1363(a0Ala0YY»h
- DO IBTT3T3Y [3¢3a0AlaYY»h 15,317.6 827.8 827.8 489.8 489.8 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 860.0 500.0 500.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 20,505.5 2,032.0 2,032.0 3,003.5 3,003.5 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 6,026.0 2,826.0 2,826.0 2,600.0 2,600.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 6,026.0 2,826.0 2,826.0 2,600.0 2,600.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 20,374.2 8,317.7 8,317.7 9,720.7 9,720.7 0.0 0.0
31 Afadu
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31 Afadu
ZPEZT%UQ/E 12802T1da0AUasU 3,840.0 3,840.0 0.0 0.0/ 27,360.0 27,360.0 0.0 0.0
31 Afadu
. ﬁ3~Ué|' X3 140 SREZT3 T30~ NS T»E2 Tx3AY»f 3,840.0 3,840.0 0.0 0.0/ 27,360.0 27,360.0 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»ES Tx3AY»h 3,840.0 3,840.0 0.0 0.0 27,360.0 27,360.0 0.0 0.0
- z3O?g?éQ3'l'3Y, 1YY W 3SI3BY 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
jZéZUaﬁAUéﬁUan/E °i 25620gU°sE 52,823.2 52,823.2 0.0 0.0 775.5 775.5 0.0 0.0
0°eég” °6a0Qd
31 Afadu
b?ﬁ?ﬁ\??’l'?fl'?»\'( 13Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- YY»fi-» W CT 13é3(a0AladYY»hi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 134AC 1363(aAlasy Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283NaT=3-A=13Y I13Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an1a0a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéx 22,783.2 22,783.2 0.0 0.0 0.0 0.0 0.0 0.0
a?UQ?»Y? -A3ICY 3E 13é63[A0AIA0Y Y »AC O»éup»nasy 8,360.0 8,360.0 0.0 0.0 775.5 775.5 0.0 0.0
31 Afadu
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20la5e=T 04-01-01

24 25 26 27 28 29 30 31
- D3U3T31-543(CY 1363(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-'ZBE?'I:?_I-,?”%UC U3&Y2-CI313Y %31 -3603Y 0.0 0.0 0.0 0.0 775.5 775.5 0.0 0.0
1363(a0Ala0YY»h
- DO IBTT3T3Y [3¢3a0AlaYY»h 8,000.0 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 360.0 360.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 21,680.0 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 21,680.0 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
. 6%@290369006 143,336.8 143,336.8| 16,908.4 16,908.4 0.0 0.0 409,091.3 409,091.3
31 Afadu
AY_A_3C')Q-I. 3_'-_r~]3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 143,336.8 143,336.8( 16,908.4 16,908.4 0.0 0.0 409,091.3 409,091.3
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 143,336.8 143,336.8( 16,908.4 16,908.4 0.0 0.0 409,091.3 409,091.3
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'f‘lgﬁ fx?ﬁ_Y:»ﬁ . 'Ijéﬁﬂk)ﬁ_,_éﬁéYU__ ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa ukU20ée2T12U 2TTEIUPBE T1a1 12Eé°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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20la5e=T 04-01-01

24 25 26 27 28 29 30 31
DﬁﬁﬂpzizU PEea0U*d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadu
@?Z?U?UOB °1 é28g21ada60U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Aradu
- T353T3Y 63n03T1aMaUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




96ST

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

Of»YUC 7-it NALT=TAT plabc» w20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 04 p=AYC 01

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

Pa1T=1¢ =YT=VaslA

S ATl AS T 17=-ffiG

Pb ;TaYauCcT=I(C
Y3E3h=3f/aiABY b&aT3(C
»A=NeTadasAl3yY
T»Ea3T3Y U3AlCY

2 Afal AeT
T=T2R80V»AC

=1 ATadu

:

0 =

= ok

= S8

%: =0

8l

32 33
AU b~2®?UA 12Eé°3 141,868.0 141,868.0
31 Afadu
A‘L"JAZ(‘)/ET 12Eé°d 141,868.0 141,868.0
31 Afadu
ZPEZ'I‘?UZE 12802T1da0AUasU 130,823.1 130,823.1
31 Afadu
. ﬁ3~Uél' X3 140 SREZT3 T30~ NS T»E2 Tx3AY»f 130,823.1 130,823.1
31 Afadu
- 2RE3TA0Y»AC SREST3T300»0 " NS T»E3 1 x3AY»fi 120,372.2 120,372.2
- Z3Of3t:11,36Q3-l-3Y, 1YY W 3SI3BY 3k 10,450.9 10,450.9
13¢3{a0Y»AC &=h-"3hal
jZéZUéﬁAUéf)UUOB/E °i 25620gU°sE 11,022.9 11,022.9
0°eég” °6a0Qd
31 Afadu
D?ﬁf’lﬁY'?-l-3-I-3Y 13Eé»i 8,176.5 8,176.5
31 Afadu
- %Y»fi-»>WCT I13¢3aiAiasYY»i 5,925.5 5,925.5
- TaU&IY3E 136=3{40Ala6Y Yo i 67.0 67.0
- T3AC 13é63(a0Ala0Y Y»ii 2,100.0 2,100.0
- 283NaT3-[B13Y ISEé»i 84.0 84.0
Tan1ai0aiUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3U3Y=- i3y 3E 1363a0AlA0Y Y»AC O»éupriiady 0.0 0.0

20la6e=T 04-01-01



L6ST

32 33
- DBUST30-43CY 1=363[a0Al0YY»h 0.0 0.0
-'ZBE?'I:?_I-?”%UC U3&Y2-CI313Y %31 -3603Y 0.0 0.0
1363(a0Ala0YY»h
- DO ISTT3TI3Y 1363(aAladYY»fhi 0.0 0.0
- U»AT3[2064665313Y 1SEéxf 0.0 0.0
- AYIN=Va6T pYadlAc 3E 13631a6AlaiYY»h 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0
31 Afadu
- @3EY3-CW 3I3Y 13¢3aiAlaYY»i 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vail (13¢3la0AlasyYY»h 600.0 600.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»AC " 63A0S TaNasUY»AC AYAS6CT Yana-aiu 600.0 600.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 2,246.4 2,246.4
31 Afadu
- A=6»YIST3(CY YlaiA»h ™ N=- 406 462.1 462.1
- TABYEAAA I 3(CY YiaiA»h 1,694.0 1,694.0
- 2640¢3A3N3T3Y 7 EBuan=3an YlaiA»h 0.0 0.0
- T»Y6=203(CY " NBYASICY 8YY1C YiaiAni 90.3 90.3
- D3TAT YA3T3I3(CY 3[ YiaiA»i 0.0 0.0
eao” é/E?/EZL"Joé 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 0.0 0.0
31 Afadu
_-_éé\fgpéngE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0
I3%=T»A&40AIATY Y »ACY
362~®2P0369006 0.0 0.0
31 Afadu
AY_A_36Q-I. f—_ﬁ3U?BYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0
USTSR1=TY»ACY
31 Afadu
T AVASGCT THSUSIATToR B =17~ NeUSNieGY 00 00
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2[E AYAZOCT 1A3U3RYAANY» 0.0 0.0
ZQE ~‘I ZEéOB 22.0 22.0
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'31(lﬁ fX?ﬁY>>ﬁ . 'IjéﬁUk)ﬁ_,_éﬁéYU__ ‘ 22.0 22.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0
aa ukU20ée2T12U 2TTEIUPBE T1a1 12Eé°5 0.0 0.0

=1 ATadu

20la6e=T 04-01-01
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32 33
DEGUZ120 OE#a00°0 0.0 0.0
[ Arail
7°5°020°3 ©1 625021a0a00U°0 0.0 0.0
[t Arail
- 1SRES 13V 83n0=1ana00Y»h 0.0 0.0

20la5e=T 04-01-01
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT3TAT piaic» T=3CY TSE»AC -4f1=26Y=T3Y 1363T37-U3Y 04 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

D‘? iI»T3INS5
2004663T N 04-02-01

20la6e=T 04-02-01

Sh AT AGT 1A= - fofiC

T4RT31CA CRE 2V 45AI3Y,
AT3T3Y I3E3T3/0U3Y
NSYASa»T3T3Y
T3AZIU3CY T263T13003Y
U3AUCYY»AC a3Na3vail

TarT=1Ch CRE=VasAl=Y,
T3T3Y T3E3T3AU3Y
NSYASE»T3T3Y
T3AST03CY 1363 T3A03Y
U3AlCYY»iC &=3Na=3vail
(V2E3/=RaARYY»AC

é»AU»fAC 43T éras- U3y
a4 3»IT313Y
8aRT3AR03ATU3Y
UCcad=é4ilY»hi

~ &ile»iC A3 TaA3YaiARY
UCca6=6a5UY»fi

AVI3(»YA SRESTST3W»AC U38ar)
138¢ — — — —
PALT=1C =Y T=V40UA - &U3HA 3 Atasl e 3 Atasl As = ATa0 As 3 Arasl A
== - 13713740V »AC - IS0 3a0V»i¢ - 13U 3ia0V»i¢ - 13T 3a0V»C
1A3UY»fiar) 2 > 2 > 2 > 2 >
| 2isi. x| & 25 L 25 | & 25
= BL2ZT 8 = 8 = 8 = 8
3 Ak TS 3 P 5 g 5 P
T |BELiRily|  ® 8L0 7 afl 7 gl
s ruscar o 4 s 4l s 4
< QY wF = < 20 < 20 < 20
8> 0 8> 8> B>
1 2 3 4 5 6 7 8 9
AU_2g°UA 12E&°5 13,403,008.8| 932,827.9 932,827.9|  522,762.9 522,762.9| 59,107.0 59,107.0| 150,000.0 150,000.0
{1 ATaol
AUAZSET 12E&6°98 11,073,410.6| 932,827.9 932,827.9|  522,762.9 522,762.9| 59,107.0 59,107.0| 150,000.0 150,000.0
{1 ATaol
2pE=T20pk 120021620A0a50 1,403,367.7| 853,230.9 853,230.9  460,013.8 460,013.8 0.0 0.0 0.0 0.0
{1 ATaol
_ABUAT 1x3N140 SRES W ST20050 N2 12 xSV »h 1,403,367.7| 853,230.9 853,230.9  460,013.8 460,013.8 0.0 0.0 0.0 0.0
{1 ATaol
- 2RESTA0Y»AC SBES TS 130000~ N3 163 X3V 1,292,026.0| 782,076.6 782,076.6|  419,826.4 419,826.4 0.0 0.0 0.0 0.0
- 63020363 13Y, 1313137 - 1313y 3E 111,341.7| 71,1543 71,1543 40,187.4 40,187.4 0.0 0.0 0.0 0.0
13631a0V»iC &= -3 Tal
1262020A0a600°3k ©1 2a0620s0°3k 902,296.2| 78,658.2 78,658.2 62,318.6 62,318.6 0.0 0.0[ 150,000.0 150,000.0
0°eg” °5a00
{1 ATaol
P2RaIV=1=13Y 12Eé»h 69,522.7| 30,470.6 30,470.6 25,782.7 25,782.7 0.0 0.0 0.0 0.0
{1 ATaol
SI»h > H Gl T2ESA0Aa0YY»h 36,939.2| 17,832.1 17,832.1 16,527.7 16,527.7 0.0 0.0 0.0 0.0
- 1aUa0Y3E 13631a0Aa0Y Vo 759.3 482.5 4825 179.8 179.8 0.0 0.0 0.0 0.0
- 1340 1363la0Aany Y»n 20,171.2| 10,596.0 10,596.0 8,375.2 8,375.2 0.0 0.0 0.0 0.0
e Y S T 1581.0 960.0 960.0 500.0 500.0 0.0 0.0 0.0 0.0
- qIA0IC 630 1aRaiUY»AC T=N0= 1 StabAlaDY 10,072.0 600.0 600.0 200.0 200.0 0.0 0.0 0.0 0.0




0097

20la6e=T 04-02-01

1 2 3 4 6 7 8 9
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 18,048.4 10,863.4 10,863.4 7,185.0 7,185.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 10,084.5 4,837.1 4,837.1 4,897.4 4,897.4 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 2,690.8 470.0 470.0 2,220.8 2,220.8 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 6,048.6 3,872.0 3,872.0 2,176.6 2,176.6 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 540.0 300.0 300.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 805.1 195.1 195.1 500.0 500.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 65,573.3 0.0 0.0 220.0 220.0 0.0 0.0 65,353.3 65,353.3
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 65,573.3 0.0 0.0 220.0 220.0 0.0 0.0 65,353.3 65,353.3
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 10,886.6 7,609.0 7,609.0 2,466.1 2,466.1 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 10,886.6 7,609.0 7,609.0 2,466.1 2,466.1 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 728,180.7| 24,878.1 24,878.1 21,767.4 21,767.4 0.0 0.0 84,646.7 84,646.7
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 6,330.9 2,888.1 2,888.1 3,072.8 3,072.8 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 39,142.4| 21,677.0 21,677.0 15,029.9 15,029.9 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 594,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 560.7 313.0 313.0 164.7 164.7 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 88,146.7 0.0 0.0 3,500.0 3,500.0 0.0 0.0 84,646.7 84,646.7
eao” é/E‘b/EZUc’é 4,030,939.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 4,030,939.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 2,537,926.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 1,493,013.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 1,893,425.1 0.0 0.0 0.0 0.0| 59,107.0 59,107.0 0.0 0.0
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 1,893,425.1 0.0 0.0 0.0 0.0 59,107.0 59,107.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 1,264,051.6 0.0 0.0 0.0 0.0 59,107.0 59,107.0 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 397,299.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 232,074.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 2,843,381.9 938.8 938.8 430.5 430.5 0.0 0.0 0.0 0.0
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 1,417.3 938.8 938.8 430.5 430.5 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p




T09T

20lase=T 04-02-01

1 7

2E1=Ee»h 2,841,964.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U=082T20 ZTTE1U°3E T1a1 126695 2,329,598.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Ai4o0

pEDUZT120 Pk2a0U°8 2,329,598.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol

poUg°8 ©1 PEU&6AUaU0°5 1,722,727.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol

- P>YUnAC  BCYAOAAIYY»1C BCYSn=nasA&0y 1,722,727.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 625021a0a0U°8 359,920.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol

—2EU»WY3Yoi - 63A0S1aRa00Y > 359,920.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@UZ120 0E2a00°5 246,950.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai4oU

- USES 13131 3137 [SEe»h 246,950.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17
AU b~2®?UA 12Eé°5 71,336.6 71,336.6| 1,214,476.2 1,214,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
31 Atadu
A‘L"JA:Z(‘)/E 1 12Eé°0 71,336.6 71,336.6| 1,214,476.2 1,214,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
31 Atadu
ZPEZ'I‘%UEE 12802T8a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Uél' ‘I'><3ﬁ 7140 SREST3T3A0»A " NBT»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- ZBE3'I'éOY»ﬁC SRE3T 3 T30~ NBT»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
:Z30f3l:1:’36§3-|-3Y, 13Y3II3Y 7 A 33Y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1262310V»AC A3/ 3T
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31 Atadu
D?ﬁf’lﬁY'?_l-Q’_I_Q’Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- %Y»f - »'I'Q-I- 13é3(a5Ala3Y Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3§lQ 13é3(a5AladY Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2A3NaAT3-(B13Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- ﬂéﬁUUC - é3ﬁﬂ3féﬁéﬁUY>>ﬁC T3A0313ta0Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 594,000.0 594,000.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 594,000.0 594,000.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
. 6%@290369006 71,336.6 71,336.6 620,476.2 620,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 71,336.6 71,336.6 620,476.2 620,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 71,336.6 71,336.6 620,476.2 620,476.2 0.0 0.0 135,239.5 135,239.5
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0| 397,299.5 397,299.5 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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g> 0 g> 0 g> 0 2
18 19 20 21 22 23 24 25
AU _2g°UA 12Eé°3 347,892.3 347,892.3| 5,800.0 5,800.0| 10,000.0 10,000.0 103,200.9 103,200.9
31 Arasl
AUAZGET 12E6°8 347,8923 347,892.3] 5,800.0 5,800.0| 10,000.0 10,000.0 103,200.9 103,200.9
31 Atasl
2bE=712Upk 1280210a0A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
_n=0al 1x2n1a0 SRES TS T30 N2 1963 1x31V»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RESTA0V»AC SRES TS TR0~ N2 1963 1x3AVh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 63020363 13Y, 1313137 - 1313y 3E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=6330Y»C &30 3Tl
1262020A02000°BE ©1 2a82UpU°8E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” ©5a00
31 Atacl
P3RAN 1213y 1SEé»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
“IY»R-»> 0 CT 12e3achany Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUa0Y =t 1=631a0AIa0Y Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T=aC 1363laAa0y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“233Ma1= - =137 1SEe»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- MA0I0C  E=NU=TanaiuY»>NC 1=n0= 1 StasAiaby 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
. 6%@290369006 347,892.3 347,892.3 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
31 Afadu
AYA3OCT 1ﬁ3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 347,892.3 347,892.3 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 347,892.3 347,892.3 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0| 5,800.0 5,800.0 0.0 0.0 103,200.9 103,200.9
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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AU 2@°UA 12E&°8 1,163,013.7 1,163,013.7| 1,129,783.9 1,129,783.9| 648,212.9 648,212.9(  674,779.0 674,779.0
31 Aradu
AUAZOET 12EE°8 1,163,013.7 1,163,013.7| 157,464.6 157,464.6] 500,518.9 500,518.9 55,547.3 55,547.3
3 Atadu
2pE2T2Upk 12802Toa0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Aradu
. ASUAT Tx3AT40 SBEST 3130 7 NS T»E3 Tx3Y»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Atadu
- 2RE3WA0Y»C SREZ WS T3A0»1 NS T3 xSV »f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 303036C313Y, 137313V " U313V 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- Talasy=t 1=26=(aoAlasY Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T2A6 1=3¢=3{apAlagYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai = -[=13Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TadloC  e=Au=Tanasly»Ac T3A0=T3EasAlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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2 1=E6»0 0.0 0.0| 157,464.6 157,464.6] 500,518.9 500,518.9 55,5473 55,5473
2a 02082120 ZTTA1UCSE T1a1 126695 0.0 0.0] 972,319.3 972,319.3| 147,694.0 147,694.0| 619,231.7 619,231.7
= A7 400
pEDUZT120 Pk2a0U°8 0.0 0.0] 972,319.3 972,319.3| 147,694.0 147,694.0| 619,231.7 619,231.7
= A7 400
poUg®5 ©1 PEUAsAUA0U°S 0.0 0.0] 972,319.3 972,319.3|  83,693.7 83,693.7| 410,000.0 410,000.0
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=1 Af 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 73,311.7 73,311.7
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AU b~2®chA 12E68°56 107,490.4 107,490.4 131,043.2 131,043.2 138,105.7 138,105.7
31 ATa4dU
A‘L"JA:Z(‘)/E 1 12Eé°0 107,490.4 107,490.4 131,043.2 131,043.2 138,105.7 138,105.7
31 ATa4dU
Zpgz'l?UﬂE 12802T6a0AUacU 90,123.0 90,123.0 0.0 0.0 0.0 0.0
31 ATa4dU
. ﬁ3~Uél' ‘I'><3ﬁ 7140 BRE3T 313101~ NBT»EB 1x3fiY»f 90,123.0 90,123.0 0.0 0.0 0.0 0.0
31 ATa4dU
- ZBE3'I'éOY»ﬁC SREST3T3A0»A ~ NBT»E3 Tx3AY»f 90,123.0 90,123.0 0.0 0.0 0.0 0.0
- g=0SUS60ETSY, ST - B =Ty SF 0.0 0.0 0.0 0.0 0.0 0.0
[36340V»AC &3A- 3 1fiail
?ZéZUéﬁAUéf)UUOBIE o7 2582UgU°dkE 17,319.4 17,319.4 0.0 0.0 0.0 0.0
0°ep” 93200
=1 AT4dU
D?ﬁf’lﬁY’?_I-e’-l-Q’Y I13Eé»i 13,269.4 13,269.4 0.0 0.0 0.0 0.0
31 ATa4dU
I -1 CT 1363 A0NE0Y Y1 2579.4 2,579.4 0.0 0.0 0.0 0.0
- TAU&Y3E 13é63(a0AIaY Y»fi 97.0 97.0 0.0 0.0 0.0 0.0
“T=AC 1363la0Aa0Y Yo 1,200.0 1,200.0 0.0 0.0 0.0 0.0
- 283Nai3-A=13Y ISEé»f 121.0 121.0 0.0 0.0 0.0 0.0
qA0IC  63AUS 1aRa0UY-AC 13103 1 SEA0AEDY 9,272.0 9,272.0 0.0 0.0 0.0 0.0
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an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 350.0 350.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 240.0 240.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 110.0 110.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 811.5 811.5 0.0 0.0 0.0 0.0
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31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 811.5 811.5 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 2,888.5 2,888.5 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 370.0 370.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 2,435.5 2,435.5 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 83.0 83.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 0.0 0.0 0.0 0.0 0.0 0.0
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_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0
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- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 48.0 48.0 131,043.2 131,043.2 138,105.7 138,105.7
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 48.0 48.0 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
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3 Ai 4ol
—2EU»WY3Yoi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0
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AU _2@°UA 12Eé&°3s 2,005,904.3 2,005,904.3 228,468.5 228,468.5 106,264.4 106,264.4( 30,000.0 30,000.0
=1 ATasU
AUAZ20LT I12Eé°d 1,589,189.4 1,589,189.4 54,830.2 54,830.2 106,264.4 106,264.4( 30,000.0 30,000.0
=1 ATaiU
2pE2T2Ugk 12802Tda0AlacU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AaiU
_A30al 1x30140 SREST3T3A0oA NS 13 1x3AY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S YEL
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 2RESTA0V»AC SREST 313000 N2 1»E3 1x3AV»h 632,176.2|  632,176.2 632,176.2 0.0 0.0 0.0 0.0
- 63020363 13Y, 1313137 - 1313y 3E 60,253.6 60,253.6 60,253.6 0.0 0.0 0.0 0.0
1=6330Y»C &30 3Tl
12&20a0A0a000°8E ©1 2a82U0pgU°8E 78,209.0 78,209.0 78,209.0 0.0 0.0 0.0 0.0
0ceg” °8a00
31 Atacl
P3RANYST313Y 1SEé»n 45,9754 45,9754 45,975.4 0.0 0.0 0.0 0.0
31 Atasl
“IY»R-»> 0 CT 12e3achany Y»ii 22,556.0 22,556.0 22,556.0 0.0 0.0 0.0 0.0
- TaU&0Y 3¢ 13631a0AlaaY Yoh 3228 3228 3228 0.0 0.0 0.0 0.0
-134C 1363la0Aa0Y Vi 8,474.2 8,474.2 8,474.2 0.0 0.0 0.0 0.0
-2330a1=-n=13Y 13Eé»n 320.0 320.0 320.0 0.0 0.0 0.0 0.0
- MA0I0C  E=NU=TanaiuY»>NC 1=n0= 1 StasAiaby 14,302.4 14,302.4 14,3024 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 16,976.1 16,976.1 16,976.1 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 2,443.0 2,443.0 2,443.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 340.0 340.0 340.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 1,453.0 1,453.0 1,453.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 550.0 550.0 550.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 100.0 100.0 100.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,598.0 1,598.0 1,598.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu 1,598.0 1,598.0 1,598.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 11,216.5 11,216.5 11,216.5 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 2,921.5 2,921.5 2,921.5 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 8,095.0 8,095.0 8,095.0 0.0 0.0 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»fi 200.0 200.0 200.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 343,426.1 507.1 507.1 97,058.8 97,058.8 78,732.9 78,732.9
31 Afadu
P3l»f, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 507.1 507.1 507.1 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 342,919.0 0.0 0.0 97,058.8 97,058.8 78,732.9 78,732.9
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 12,389,488.1 0.0 0.0 6,584,070.7 6,584,070.7 2,892,082.3 2,892,082.3
31 Afadu
D/!E@pz |‘2l"J DExAOUCS 12,389,488.1 0.0 0.0 6,584,070.7 6,584,070.7 2,892,082.3 2,892,082.3
31 Afadu
Dc"U}ZlO(j 1 bEUaAUauUCS 4,965,810.8 0.0 0.0 3,584,070.7 3,5684,070.7 719,908.9 719,908.9
31 Afadu
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 4,965,810.8 0.0 0.0 3,5684,070.7 3,5684,070.7 719,908.9 719,908.9
@?Z?U?UOB °i é28g2i1a6a0gu°s 7,423,677.3 0.0 0.0 3,000,000.0 3,000,000.0 2,172,173.4 2,172,173.4
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiUY»h 7,423,677.3 0.0 0.0 3,000,000.0 3,000,000.0 2,172,173.4 2,172,173.4
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BAC Y3 TY»fi400 §2RY=T! »YAST2(=2YC
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N3U=3T30-C T363TAUSY pSint2TU3Y
1= Cf

I»AST3400U3Y ~ %3 -30U3Y
UCe3%-3(CY p=Y1C
3¢3T16a5ARB0u CAzT3Y=306140
¥ TTASN=0aA1U3Y 63Y6C
US»ESTUSY RiAg3Y3TY»AaiU0
Of"3Y( @°T-C »YAST3[=Y(
»AST3¢406U3Y 1/=3-Chi

2 Al AeT
T=T2R80V»AC

202 A4l AST
T=02Ra0V»AC

21 Afal A6
T2 2/a0V»AC

\ \ \—
b — p = e 0
' o5 ' S ' o5
7 Ao L 7 A o L 7 A o L
o =0 d >0 d >0
> S 0w > 20w > S 0w
< Nl < S d < S d
Q == Q == Q ==
8 9 10 11 12 13
AU b~2®?UA 12E68°56 1,160,745.4 1,160,745.4 715,787.3 715,787.3 1,203,929.7 1,203,929.7
31 ATa4dU
AQA:ZGAEI 12Eé°0o 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
31 ATa4dU
ZPEZT%UQE 12802T6a0AUacU 0.0 0.0 0.0 0.0 0.0 0.0
31 ATa4dU
. ﬁ3~Ué|' ‘|'><3ﬁ 7140 BRE3T 313101~ NBT»EB 1x3fiY»f 0.0 0.0 0.0 0.0 0.0 0.0
31 ATa4dU
- ZBE3'|'éOY»ﬁ@ SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0
- 62020260312, 13213V~ & ==Y = 0.0 0.0 0.0 0.0 0.0 0.0
36300Y»iC &3 3l
jZéZUéﬁAUéﬁUUOB/E o7 2582UgU°dkE 0.0 0.0 0.0 0.0 0.0 0.0
0™ 5200
=1 AT4dU
b?ﬁf’tﬁ\'{?{f?’]—?’\'{ 13Eé»f 0.0 0.0 0.0 0.0 0.0 0.0
31 ATa4dU
- %Y»R-» TGl 1363[a0AlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&Y3E 13é63(a0AIaY Y»fi 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363a0AlaY Y»h 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai3-A=13Y ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0
- F&0loc  e3Au3 1anasUY»AC 1303 T3ta0AlasY 0.0 0.0 0.0 0.0 0.0 0.0
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8 9 10 11 12 13
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»MC ~ 63AUS TanasUY»Ac AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3 W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
31 Afadu
P3l»f, é’l?ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 1,083,655.4 1,083,655.4 670,431.7 670,431.7 1,159,248.0 1,159,248.0
31 Afadu
D/!E@pz |‘2l"J DExAOUCS 1,083,655.4 1,083,655.4 670,431.7 670,431.7 1,159,248.0 1,159,248.0
31 Afadu
D?U~Z°§ 1 bEUaAUauUCS 0.0 0.0 201,866.4 201,866.4 459,964.8 459,964.8
31 Afadu
- b»YU»AC ** RCYABAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 0.0 0.0 201,866.4 201,866.4 459,964.8 459,964.8
@?Z?U?UOB °i é28g2i1a6a0gu°s 1,083,655.4 1,083,655.4 468,565.3 468,565.3 699,283.2 699,283.2
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiUY»h 1,083,655.4 1,083,655.4 468,565.3 468,565.3 699,283.2 699,283.2
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587
=
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=1 Afasl
AUAZ0ET 12Eé°5 20,602.0| 20,602.0 20,602.0
=1 Afasl
éas” ek _x£=20°8 20,602.0| 20,602.0 20,602.0
=1 Afasu
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St ATa0l ASH TR - fofiC

BCcA»T3T3Y
N3YAZ&» T 3T3Y Ay VREva ARy
By STV BV TaA=Y VB2V Ta0A=Y TASVeAATT =Y U L e
BT T AXSYSA3ZANY» BT T aAx3Y333ANY»A Oul» T 1 Y>»A . o . PR -
P e y>nG D s NG okl NG 0U»6=iCY A=NA=V40U, AVA=6CT
NCGUY=Yana-adu 0U»e=3CY a=Na=3Yail, NGUY=Yaha-aou A323V450 - 83K - anT 450
AYA36CT &=3Na=3vaiu -
AVISUnVA == - afiTasl
13aC i R AR Aamo o L Lo L o L
PO e 2a A g A [+ ATa0U Aén 3 ATadu Aén 3 Atadu Aé 31 At1adu Aé
173 33 33 - = . ~ . - ~ - - ~ - - ~ -
Bat =16 SYi=vaua agu=nA - 1= 3{40V»fC - 1= T3RA0V»AC - =1 3A40V»AC - =T 3Ra0V»AC
(N=%=n G G G @
1A30Y»AAT) < : < : = . <
0 o 5 0 o 5 0 o 5 0 o> >
e - G i 'm G = 'm G = >0 o
:E e < :E == :E == :E o i = i
>/: °% < ;g >/: °% =1 ;g >/: °% =1 ;g >/: - 'm lmC 'm
3 @ 0 (7 3 0 T (7 3 0 T (7 3 n 3 m A
0 =0 0 =0 c 0 =0 c 0 0 oF i off
d = d = d = d e S NS
> ! i} > ! i} > b i} > N &= e
< = n < = n < = n < U] K]0
8 > 8 > 8 > 8= >
1 2 3 4 5 6 7 8 9 10
AU _2@°UA 12Eé°s 45,867,407.3| 3,060,000.0 3,060,000.0( 6,256,692.0 6,256,692.0( 940,000.0 940,000.0( 837,900.0| 107,100.0| 39,300.0
31 Aracl
AUA20LT 12Eé°8 12,168,672.6 0.0 0.0| 6,256,692.0 6,256,692.0 0.0 0.0| 837,900.0( 107,100.0( 39,300.0
31 Atasl
jZéZUéﬁAUéf)UUOB/E °1 2a62UgU°sE 7,121,024.1 0.0 0.0| 6,256,692.0 6,256,692.0 0.0 0.0| 837,900.0( 107,100.0( 39,300.0
O°Peg” @oadd
31 Atasl
AVAS6CT Yana-al ~ a=Na=vaol (1263aoAlkoYY»h 7,121,024.1 0.0 0.0| 6,256,692.0 6,256,692.0 0.0 0.0 837,900.0 107,100.0[ 39,300.0
YIa0A»R)
31 Aracl
“P»YUsAC  T26a0l0Y»nC AVAS6CT Yana-ail ~ a=Na=Yail 7,094,592.0 0.0 0.0| 6,256,692.0 6,256,692.0 0.0 0.0| 837,900.0{ 107,100.0[ 39,300.0
- D>I>V2V»AC - 6=2AU=1anaUY»AC AYA=6CT Yana-aiu 26,432.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNasvaiu
. 02@2pUasbles 3,560,946.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
AVAS6CT LA=USRYARNY »i &» 1 S13Y NS 1 121G SE 3,560,946.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3R13TY»ACY
31 Atacl
~AYAS6CT BA0PT»YOC2Y»it N2USNUY»TCY 3,284,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~AVASGCT 1A=USRYARNY»A &» 1 =137~ N2USN U=y a8 236,946.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3ICY T3S T»AAA0AAYY»ACY
-2 AYAS6CT 12 U=RYARNY »1i 40,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E 12Eé°s 1,486,701.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl




LEIT

20la5e=T 04-05-01

1 2 3 6 7 8 10
2 1=E6»0 1,486,701.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2a 02082120 ZTTA1UCSE T1a1 126695 33,698,734.7| 3,060,000.0 3,060,000.0 0.0 0.0{ 940,000.0 940,000.0 0.0 0.0 0.0
= A7 400
pEDUZT120 Pk2a0U°8 33,698,734.7| 3,060,000.0 3,060,000.0 0.0 0.0{ 940,000.0 940,000.0 0.0 0.0 0.0
= A7 400
poUg®5 ©1 PEUAsAUA0U°S 32,704,524.0] 2,936,000.0 2,936,000.0 0.0 0.0| 932,000.0 932,000.0 0.0 0.0 0.0
= A7 400
~ P»YU»AC ~ RCVABAIADYY»1C RCY SH=natAiasy 20,509,927.9|  51,000.0 51,000.0 0.0 0.0{ 101,800.0 101,800.0 0.0 0.0 0.0
~P»YU»iC ~ RCYASABIYY»AC TSACT 3E T»ASYana - aiU 12,194,596.1| 2,885,000.0 2,885,000.0 0.0 0.0 830,200.0 830,200.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 213,665.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 213,665.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEQUZ120 0E=a00°5 780,545.7| 124,000.0 124,000.0 0.0 0.0] 8,000.0 8,000.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 780,545.7| 124,000.0 124,000.0 0.0 0.0] 8,000.0 8,000.0 0.0 0.0 0.0
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D 8'3 D D D D D D R
8
11 12 13 14 15 16 17 18 19 20
AU_20°UA 12E6°5 39,300.0| 103,500.0] 75,000.0| 89,300.0| 116,000.0] 116,000.0] 72,100.0| 80,300.0| 267,448.2 267,448.2
=1 ATasu
AUAZOET 12EE°8 39,300.0| 103,500.0[ 75,000.0| 89,300.0| 116,000.0] 116,000.0] 72,100.0| 80,300.0|  8,066.5 8,066.5
SR YEL
12820a0A0a000°8K ©1 2a0620sU°8k 39,300.0| 103,500.0[ 75,000.0| 89,300.0| 116,000.0] 116,000.0] 72,100.0| 80,300.0 0.0 0.0
0Pes” ©5200
SR YEL
AVAS6CT Yana-aol - A=Na=val (1=2631a0ARsYY»n 39,300.0| 103,500.0[ 75,000.0| 89,300.0| 116,000.0] 116,000.0] 72,100.0| 80,300.0 0.0 0.0
YIa0A»R)
SR YEL
~P»YUeNC - 13€A0I0Y»NC AVA=OCT Yana-ail - A=Na=vVasl | 39,300.0| 103,500.0] 75,000.0| 89,300.0| 116,000.0| 116,000.0] 72,100.0| 80,300.0 0.0 0.0
- D»IYSY»AC - 63NU=1anaUv»iC AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU b~2®?UA 12Eé°5 1,629,934.5| 1,392,205.1 1,392,205.1 94,421.0 94,421.0| 20,517.4 20,517.4
3r ATédU
AQAZGEI 12Eé°98 1,629,934.5| 1,392,205.1 1,392,205.1 94,421.0 94,421.0| 20,517.4 20,517.4
3r ATédU
ZPEZ'I‘?UQE 12802Tda0AUasU 1,306,777.0| 1,238,379.5 1,238,379.5 0.0 0.0 0.0 0.0
3r ATédU
- ﬁ3~Uél' ‘|'><3ﬁ 140 SREZT3 T30 ~ NS T»E2 1x3AY»f 1,306,777.0| 1,238,379.5 1,238,379.5 0.0 0.0 0.0 0.0
3r ATédU
- 2RE3TA0Y»AC SRES WS T3A0»1 NS T»E3 Tx3AY»f 1,196,173.3| 1,127,775.8 1,127,775.8 0.0 0.0 0.0 0.0
- 6203026031, 123137 - & n=13Y 3F 110,603.7|  110,603.7 110,603.7 0.0 0.0 0.0 0.0
126=2(40Y»AC &3 -"=Thal
jZéZUéﬁAUéﬁUUOB/E °i1 25620gU°sE 161,402.1 152,821.0 152,821.0 0.0 0.0 0.0 0.0
0°ep” ©5260
3r ATédU
b?ﬁf’lﬁY'?{I'?"l'?’Y 13Eé»i 61,603.4 55,575.5 55,575.5 0.0 0.0 0.0 0.0
3r ATédU
—I»h-» 1 Cl 1=6=1a0MasyY»h 28,544.8 26,009.3 26,000.3 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 1,944.0 1,906.0 1,906.0 0.0 0.0 0.0 0.0
-T=AC 1=631a0Aa0Y Vi 17,728.6 16,132.2 16,132.2 0.0 0.0 0.0 0.0
- 2a3Nai 3-A=13Y I3Eé»h 1,738.0 1,560.0 1,560.0 0.0 0.0 0.0 0.0
- A0 T E=AU=TanA0UY»NC 1=R0= 1 StadAlaby 11,648.0 9,068.0 9,968.0 0.0 0.0 0.0 0.0
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1 2 3 4 6 7
Nan1a00&0V>NC ~ BAC= - SIAOAGIYY»NC 1SEénn 33,2290 32,7290 32,729.0 0.0 0.0 0.0 0.0
A3IU=Y= (=0T S 1262A0AR0Y VoG O»6UH»nady 2,960.2 2,690.2 2,690.2 0.0 0.0 0.0 0.0
31 Afadu
TD3UST3R-331KY 1563laAaivYoh 600.0 600.0 600.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 1363(40AIA5YY» 900.2 780.2 780.2 0.0 0.0 0.0 0.0
- U»AT3(206400521T3Y I3Eé»f 150.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVANSVaonh pYa0AC SE 1563R0NaYToh 1,310.0 1,310.0 1,310.0 0.0 0.0 0.0 0.0
AVASGCT Vana-ail ~ B=Na=Yal (=& RoAG0TVoh - 7,463.2 7.117.0 7.117.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
OV STNG  E3AUS TANAIUY»C AYASGCT Yana- &l 7,463.2 7.117.0 7.117.0 0.0 0.0 0.0 0.0
a=Na=vai
Ulachof (ZAA=YOY»h) 56,1463| 54,7003 54,709.3 0.0 0.0 0.0 0.0
31 Afadu
- AZe»YIRT3(CY YiaiA»n ~ N=- 46 13,188.5 12,985.0 12,985.0 0.0 0.0 0.0 0.0
TTnSYeRan 13Ky Viabhon 41,3442 40,254.0 40,254.0 0.0 0.0 0.0 0.0
TT»>V6=03ICY ~ NSYASCY 8YYAC Viahnn 9253 782.0 782.0 0.0 0.0 0.0 0.0
DT AT YASTST30Y 3E ViaoA 688.3 688.3 6883 0.0 0.0 0.0 0.0
éaé: é/E‘b/EZL"JOé 45,501.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
BAECICY o B h ST ToU= I BAARITY»1CY 455016 00 0.0 0.0 0.0 0.0 0.0
31 Afadu
- ééqpé(;]-CE‘Y»ﬁ 43 YCYSYESI3Y »T3I3Y 45,501.6 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&4A0AIAGY Y »ACY
. 6%@290369006 114,938.4 0.0 0.0 94,421.0 94,421.0| 20,517.4 20,517.4
31 Afadu
AVASGCT 1R=U=RYANNY »h B0 =127 NS0 121G SE 37,086.7 00 0.0 16,5693 16,569.3| 20517.4 20517.4
U?l?ﬁl:j" 1Y»ACY
31 Afadu
- AYASOCT 840U T»YOC3Y»fi NBUSIYUY»ACY 16,569.3 0.0 0.0 16,569.3 16,569.3 0.0 0.0
~ATESGCT TRoUSRYARNY»1 B =T3Y ~ NSUSN 0=k 48 20,5174 00 0.0 0.0 00| 20517.4 20517.4
36 TASICY T3S T»AAAAAN Y »ACY
TSACT =2 1H=U=BVAT»h &> 12137 =1 121G 3F 77,8517 0.0 0.0 77,8517 77,8517 0.0 0.0
U?l?ﬁl:j" 1Y»ACY
31 Afadu
TTSACTSE Ba0UT V603V on NSUSNUV-ACY 77.851.7 00 0.0 77.851.7 77,8517 0.0 0.0
820EZE2 120 UaZe1Uo8 o1 ToUE=Aap=10%3 153.2 153.2 153.2 0.0 0.0 0.0 0.0
31 Afadu
B46CE2TY 0-VAARY 1h=U=T=Y S w =N=1w AA=UN 15320 1532 1532 0.0 00 00 00
Ya3ewY»fi (pléoc»Co)
31 Afadu
TSEVASE N Yon HAGCo 1532 1532 1532 0.0 0.0 0.0 0.0
20E 12Eé°s 1,162.2 851.4 851.4 0.0 0.0 0.0 0.0

=1 Afadu
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2pE=T20pk 120021620A0a50 0.0 0.0| 68,397.5 68,397.5
=1 Afasl
_ABUAT 1x3N140 SRES W ST20050 N2 12 xSV »h 0.0 0.0| 68,397.5 68,397.5
=1 Afasl
~2RESTA0V»NC SRES T 13100~ N3 1503 T X311 0.0 0.0| 68,397.5 68,397.5
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Nan1a00&0V>NC ~ BAC= - SIAOAGIYY»NC 1SEénn 0.0 00| 5000 500.0
A3IU=Y= (=0T S 1262A0AR0Y VoG O»6UH»nady 0.0 00[ 2700 270.0
31 Afadu
TD3UST3R-331KY 1563laAaivYoh 00 00 0.0 0.0
- DO ISTT3T3Y 1363(40AIA5YY» 0.0 0.0 120.0 120.0
- U»AT3(206400521T3Y I3Eé»f 0.0 0.0 150.0 150.0
- AYIN3Y4H7 pYadlAC 3k 1=363a0AlaiYY»ii 0.0 0.0 0.0 0.0
AVASGCT Vana-ail ~ B=Na=Yal (=& RoAG0TVoh - 00 00| 3462 346.2
YiaoA»h)
31 Afadu
OV 3YoRC 63U TaRalUY-AC AYASGCT Yana- &l 00 00| 3462 346.2
a=Na=vai
Ulachof (ZAA=YOY»h) 0.0 00| 1,437.0 1437.0
31 Afadu
T nSerYET3CY Vidhnn -~ N=-206T 00 00| 2035 2035
TTnSYeRan 13Ky Viabhon 00 00| 1,002 1,090.2
TT»>V6=03ICY ~ NSYASCY 8YYAC Viahnn 00 00| 1433 1433
DT AT YASTST30Y 3E ViaoA 00 00 0.0 0.0
éaé: é/E‘b £2U°8 45,501.6 45,501.6 0.0 0.0
31 Afadu
BAECICY o B h ST ToU= I BAARITY»1CY 45,5016 45,501.6 0.0 0.0
31 Afadu
- ééqpéC1C3Y»ﬁ 43 YCYSYESI3Y »T3I3Y 45,501.6 45,501.6 0.0 0.0
I3%W=T»A&4A0AIAGY Y »ACY
_5202pUasblod 0.0 0.0 0.0 0.0
31 Afadu
AVASGCT 1R=U=RYANNY »h B0 =127 NS0 121G SE 00 0.0 0.0 0.0
U?lf‘ﬁl:j" 1Y»ACY
31 Afadu
TAVASOCT BART Y003V oR NSUSNV-ACY 00 00 0.0 0.0
~ATESGCT TRoUSRYARNY»1 B =T3Y ~ NSUSN 0=k 48 00 0.0 0.0 0.0
36 TASICY T3S T»AAAAAN Y »ACY
TSACT =2 1H=U=BVAT»h &> 12137 =1 121G 3F 0.0 0.0 0.0 0.0
U?lf‘ﬁl:j" 1Y»ACY
31 Afadu
TTSACTSE Ba0UT V603V on NSUSNUV-ACY 00 00 0.0 0.0
820EZE2 120 UaZe1Uo8 o1 ToUE=Aap=10%3 0.0 0.0 0.0 0.0
31 Afadu
S46C3E3T3Y 0-YAABY 1RSUST3Y SAT3N3raA=up 0.0 0.0 0.0 0.0
Ya3ewY»fi (pléoc»Co)
31 Afadu
TSEVASE N Yon HAGCo 00 00 0.0 0.0
20E 12Eé°s 0.0 0.0 310.8 310.8

=1 Afadu
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AU . 2¢0JA 12E&°d 1,934,525.0| 85,000.0 85,000.0( 1,849,525.0| 225,000.0( 1,624,525.0
=1 Afasl
AUAZ0LT 12Eé°5 1,051,525.0 0.0 0.0| 1,051,525.0| 225,000.0 826,525.0
=1 Afasl
. 82g2pUaspUued 1,051,525.0 0.0 0.0| 1,051,525.0| 225,000.0 826,525.0
=1 Afasl
TSACTSE 1ASUSRTARNT »i & 1 =T3Y ST 121G SF 1,051,525.0 0.0 0.0| 1,051525.0] 225,0000| 826,525.0
U3-I-3ﬁ13-I-Y»ﬁCY
=1 Afasl
-2 -I-3§1Q'I'3E 1ABUBRYAANY»A 1,051,525.0 0.0 0.0| 1,051,525.0| 225,000.0 826,525.0
aaugl=20é21=2u 21TEIUCBE f1ail 12Eé°5 883,000.0( 85,000.0 85,000.0 798,000.0 0.0 798,000.0
=1 Afasl
PEGU2T120 @FxacoUCd 883,000.0( 85,000.0 85,000.0 798,000.0 0.0 798,000.0
=1 Afasl
D?U~Z°§ o3 pEUasAUaUUCH 877,000.0( 79,000.0 79,000.0 798,000.0 0.0 798,000.0
31 AT4dU
~P»YU»AG ~ RCYAGAROYY»AC RCY A= RA0AESY 877,000.0| 79,000.0 79,000.0|  798,000.0 0.0| 798,000.0
2UE pEGUZ120 0E#20U°d 6,000.0| 6,000.0 6,000.0 0.0 0.0 0.0
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1 2 3 4 5 6 7
AU _2@°UA 12E&°8 23,424592.8| 266,721.7 266,721.7| 3,308,939.3 3,308,939.3| 331,870.2 331,870.2
=1 Afadu
AUAZ0ET 12EE°d 8,347,883.1| 266,721.7 266,721.7| 3,308,939.3 3,308,939.3| 331,870.2 331,870.2
=1 Afadu
2pE2T2Ugk 12802Tda0A0a0U 231,447.9| 231,447.9 231,447.9 0.0 0.0 0.0 0.0
=1 Afagu
L ABUAT 1x3AT40 SRES WS T30»f 7 NS T»E3 Tx3AY»fi 231,447.9| 231,447.9 231,447.9 0.0 0.0 0.0 0.0
=1 Afaiu
- 2RE=WA0Y»AC SREZTZT3A0»A " NS T»E2 TxZAY»fi 217,000.8| 217,000.8 217,000.8 0.0 0.0 0.0 0.0
- 8303036C3T3Y, 1373T3Y ~ U313V 3k 14,447.1 14,4471 14,4471 0.0 0.0 0.0 0.0
1363[a0Y»A¢ &30 - "3 hRal
12&2020AUA0UUCHE @1 2582UgU°sE 35,100.9| 35,100.9 35,100.9 0.0 0.0 0.0 0.0
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=1 Afadu
P3A4YST3T3Y I3Eé»i 18,0434 18,043.4 18,043.4 0.0 0.0 0.0 0.0
=1 Afadu
- Y»A-» W CT 1363{a0AlasY Y»fi 9,448.4 9,448.4 9,448.4 0.0 0.0 0.0 0.0
- TaU&IY3E 136=3a0Ala6Y Yo i 108.2 108.2 108.2 0.0 0.0 0.0 0.0
- 1346 1363(a0Ala5Y Y»ii 8,323.8 8,323.8 8,323.8 0.0 0.0 0.0 0.0
- 233NaT = -[=13Y 13Eé»i 163.0 163.0 163.0 0.0 0.0 0.0 0.0
Tani1a50a6UY»AC ~ RAc= - SajAlaiYY»AC ISEéxf 7,213.7 7,213.7 7,213.7 0.0 0.0 0.0 0.0
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1 2 4 5 6 7
a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 932.0 932.0 932.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 282.0 282.0 282.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 200.0 200.0 200.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 300.0 300.0 300.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 150.0 150.0 150.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 2,310.5 2,310.5 2,310.5 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 700.0 700.0 700.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu 1,610.5 1,610.5 1,610.5 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 6,601.3 6,601.3 6,601.3 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 2,862.6 2,862.6 2,862.6 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 3,673.5 3,673.5 3,673.5 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 65.2 65.2 65.2 0.0 0.0 0.0 0.0
eao” ek £E20°8 5,450,048.4 0.0 0.0 3,308,939.3 3,308,939.3( 331,870.2 331,870.2
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 313Y 133 T»AA4&AEIYY»ACY 5,450,048.4 0.0 0.0 3,308,939.3 3,308,939.3| 331,870.2 331,870.2
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 5,450,048.4 0.0 0.0 3,308,939.3 3,308,939.3| 331,870.2 331,870.2
I3%W=T»A&4a0AIATY Y »ACY
ZQE ~‘I ZEéOB 2,631,285.9 172.9 172.9 0.0 0.0 0.0 0.0
31 Afadu
D3Ml»f, é’l?ﬁjl'f‘lgﬁ TX3AY»f 'I'él’f)UA»ﬁ, anayu ‘ 172.9 172.9 172.9 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =3p»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 2,631,113.0 0.0 0.0 0.0 0.0 0.0 0.0
aa l'é/EU?UéZ 120 2TTEIUCHE T 1ai 12Eé°8 15,076,709.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D/E@pzizU PExaOUCS 15,076,709.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"L"J}ZlO(j S EVENIESR) 13,084,238.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGYY»iC RCYSASAAcAIA0Y 11,366,507.4 0.0 0.0 0.0 0.0 0.0 0.0
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- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0
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31 AT400
- 2RESTA0Y»AC SRESTST3000A N3 163 X3V 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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T26aNcSASNII3Y - EBpanSTan Yiaoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3Y SE VIaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290é1690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 1,100,000.0]  1,100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
PEBU=2T2U gEzaoU°d 1,100,000.0 1,100,000.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 Afadu




velLT

20lase=T 07-06-01

8 9 10 11 12 13 14 15
poUg°8 1 PEDa0AUas 005 1,100,000.0 1,100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 1,100,000.0 1,100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
S 1SME= 12Y 620021 analy»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 07-06-01

Pa1T=1¢ =YT=VaslA

St ATa0l ASH TR - fofiC

2¢40¢ SAMEST»AAC
EASYUSY  RSVASICY
CA3Y»TU3Y
1=¢63a0AlasYY»fi

~ART=T=Y 0-YasAlsY
U=ey=-Cra1=y,
EaflAt3w isT3yY -
=3 T»Ra30»Aa1=T3Y
Sc=T1040AIBY 1=6=1a0Ala6YY»h

@=A1=26CAST2Y a-Yashl=Y
T=0-47 6026740 0»fC ™
1502 - ART3T3Y SAT31/3YIC
3003V, UB0E3hilu3y =~
USREU3Y 13é3a0AlasYY»h

Tabu»ATasHa%C 1»U
a==ic =%- 3oy
in=-ic N=03T=h-U=Y
1=63a5AlAGYY»h

=02 ATl AS

1= 3R40Y»AC

21 Afal AST
T=T2/a0Y»fC

21 Afal AS
T=21=2ha0Y»AC

22 At 4l A6
T=21=20a0Y»AC

\m= \m= \m= \o=

g . g . g . g .

< 83 - 83 - TS - 83

N T % T % T % T e

4 800%59’: 4 Bl 4 B L 4 Bl

s L s no s no s o

n n n n

16 17 18 19 20 21 22 23
AU b~2®?UA 12Eé°5 90,000.0 90,000.0 236,489.7 236,489.7 59,909.3 59,909.3| 62,076.8 62,076.8
=21 ATa00
A‘L"JA:Z(‘)/EI 12Eé°o 90,000.0 90,000.0 236,489.7 236,489.7 59,909.3 59,909.3| 62,076.8 62,076.8
=1 ATas0
ZPEZ'I‘?UQE 12802T8a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATas0
. ﬁ3~Uél' \|'><3ﬁ 7140 SREST3T3A0»A " NBT»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afas0
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
jZéZUéﬁAUéﬁUUoéﬁE o1 2462UgU°sE 90,000.0 90,000.0 236,489.7 236,489.7 59,909.3 59,909.3| 62,076.8 62,076.8
0°ea” ©3200
=1 ATas0
P2RAV=T=1=Y 12Eé»h 2,500.0 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATas0
—I»h-» 1 Cl 1=6=1a0MasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-T=AC 1=631a0Aa0Y Vi 2,500.0 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT=3-A313Y I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SIA0ARBYY»AC 1SEéxh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3U=3Y2- A2y 3 1=6231a0AI6YV»AC 0»80H»Na0U 87,500.0 87,500.0|  236,489.7 236,489.7 59,909.3 59,909.3| 62,076.8 62,076.8
=21 ATas0
-D=0=1=30-32CY 1=6=1a0RlasYY»h 28,500.0 28,500.0 0.0 0.0 0.0 0.0 0.0 0.0




9.1

20lase=T 07-06-01

16 17 18 19 20 21 22 23
- DO ISTT3T3Y 136340Ala5YY»A 23,000.0 23,000.0 3,089.7 3,089.7 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 36,000.0 36,000.0]  233,400.0 233,400.0 59,900.3 59,909.3] 62,0768 62,076.8
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNasvail
UlaAon (ZAR=Y0Y»h) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Yiaoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3Y SE VIaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290é1690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
PEBU=2T2U gEzaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 Afadu
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20lase=T 07-06-01

16 17 18 19 20 21 22 23
poUg°8 1 PEDa0AUas 005 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
S 1SME= 12Y 620021 analy»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b 20i4563T 07-06-01
Af»YOC 7-A1 NALT2TAT pidicr T3CY TSEe»AC -4f1=26Y=T3Y 1363T3/-U=Y 07 p=AVC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

31 ATai0 Aéw TA= - fAnfAiC
~ACRT-U3&Y=-»wY»AC N e N L
i T P=U=REZANSCY u=3YT1C P=U=RESANSCY u=3YT1C
3| I1BY3I3 - 33 . . L, ~ - ~r R
A SJC oA SSTJ;?]?/:;U%% Y 3c3T64ARUL CRZT3Y26 140 =c3T6a5A=U0
;é Py S 26a0c=2430=T3Y (3U=3T3h-¢ | CA3T3Y=6140 a3 1=2A=1Ga
e A SHLCST3Y26U3Y »ATRARL fICT=Y140AlA6YY»AC
u&;@ﬂ? r}iaeoéﬁzmm?ng [/= -G E=6400CA T2VE=R -3V
. . CYBVa2TARU3Y TRA3-Chi T»A3NaTU3Y /3 -Cf
U= ai6asU yCYSYE=T1anu=3Y Ifi=-Cih »ASNEIU=3Y IR=-Ci
PALTZIC 3YT3Y45UA 3 Ataol Aew 3 ATaoU Aer 3 Ataol Aer
- T=T3/40Y»AC - T2 2RA0V»AC - T=T2040Y»AC
e N e N e -
- . - -
2 53 2 53 2 e
A :% zg A :% zg A :% zg
5 7 3 - 3 -
4 Ba 4 Bog 4 Bag
3 Lo 3 no 3 no
< o < o < ol
N NN O .
m > m> m>
24 25 26 27 28 29
AU UA 12Eé ,229. ,229. ,581. ,581. ,809,851. ,809,851.
AU_2g°UA 12E6°5 40,229.9 40,229.9 54,581.3 54,581.3| 3,809,851.2 3,809,851.2
=1 Afasl
UAZ20 é ,229. ,229. ,279. ,279. ,976. ,976.
AUAZ0ET 12E6°5 20,229.9 20,229.9 6,279.3 6,279.3| 449,976.3 449,976.3
=1 Afasl
2pE=71200k 1280210a0A0a00 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
_ASUAT 1x2N140 SRES TS 1200 NS 163 [xSAY»N0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
- 2RESTA0V»AC SREST TR0 N2 1563 [x2AT»A 0.0 0.0 0.0 0.0 0.0 0.0
12820a0A0a000°8K ©1 2a0620sU°8k 0.0 0.0 0.0 0.0 0.0 0.0
0Cep” °5a0
=1 Afasl
PSAAN = 1=13Y SEé»n 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TI>f-»> WGl 1=263A0Aa0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0
“T=8C 1=26=laAa0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0
“2a3Mar=- =137 1266 0.0 0.0 0.0 0.0 0.0 0.0
Man1460&00Y»NC ~ Bric= - SAOARIVY»AC 1SEe»n 0.0 0.0 0.0 0.0 0.0 0.0
a3lU=Y3 - A=Y SE 12631a0AR0Y V»NC 0»@Up»iail 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afas0
- D3U=T2A-5210Y 1=261a0AAE0YY »1i 0.0 0.0 0.0 0.0 0.0 0.0




6.1

20la6e=T 07-06-01

24 25 26 27 28 29
- DO ISTT3T3Y 136340Ala5YY»A 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0
asNasvail
UlaAon (ZAR=Y0Y»h) 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Yiaoh 0.0 0.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3Y SE VIaoA h 0.0 0.0 0.0 0.0 0.0 0.0
562~®290é1690°6 40,229.9 40,229.9 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 40,229.9 40,229.9 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 40,229.9 40,229.9 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 6,279.3 6,279.3 449,976.3 449,976.3
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 6,279.3 6,279.3 449,976.3 449,976.3
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 00 48,3020 48302.0| 3,359,8749|  3,359,874.9
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 48,302.0 48,302.0( 3,359,874.9 3,359,874.9
31 Atadu




0€LT

20lase=T 07-06-01

24 25 26 27 28 29
poUg°8 1 PEDa0AUas 005 0.0 0.0 48,302.0 48,302.0| 2,332,482.8 2,332,482.8
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 0.0 0.0 48,302.0 48,302.0] 592,859.9 592,859.9
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0] 1,739,622.9 1,739,622.9
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0] 992,985.0 992,985.0
= A7 400
S 1SME= 12Y 620021 analy»h 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 0.0 0.0 0.0 0.0] 992,985.0 992,985.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0] 34,4071 34,4071
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0] 34,4071 34,4071
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20la6e=T 07-06-01
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T»Y W RAYC Ta0UC6 CR2T=Y=26140
é»aY=(CY -fACAC
N2U3x3AST3PSY3T3Y 63Y6C
NCUYU3Y  =2f0=-3YWU3Y
1i30=3RYaAN3CY TA=-CA

P3U3RE3AN3ICY u3YIC
3c37645AR 0N CA=T2Y=26140
ai 1=/=TCa
NCT3Y145Ala5YY»AC
TSVESf-»3Y ~ [»A2NeiU=yY
13=30=RY4AN3ICY TA=-CA

P3U3RE3ANZICY u3Y1C 3¢=T64AB0p
CA=T=Y=6T40 8DCT3Y146AI45YY»AC
TSVES3A-»3Y ~ D»>A3feTU3Y T7=-AC
Bc=Y21V»asl 26a0c=a=Rashl=y
T313a0313Y¢ 1A= NCUYT3T
yOYSYe=14nU=Y T/=-Ac
Y2E3&37i3ewU3Y N=034!
1/=30=3RY4AN3ICY TA=-CA

PALTZIC 3YT3Y45UA 3 ATaoU Aew 3 ATaoU Aew 3 ATaoU Aer

- T=T=40V»AC - T=T=140Y»fC v T3 =140Y»fC

" R " [R= " R

= = < 23 & 25

= 58S = 8 = 8'S

> 'mz s RN 'mz s RN 'mz s

4 Bog 4 Bl 4 Bog

3 no 3 o 3 no

Y] Y] Y]

30 31 32 33 34 35
AU_2g°UA 12E6°8 99,255.7 99,255.7| 258,476.4 258,476.4 7,125.1 7,125.1
=1 Afasl
AUAZ0ET 12Eé°5 95,875.7 95,875.7| 258,476.4 258,476.4 7,125.1 7,125.1
=1 Afasl
2pE2T12Ugk 12802T0a0AUA0U 15,714.0 15,714.0 0.0 0.0 0.0 0.0
=1 Afasl
_A=0a1 1x=0140 SRES T 12000 N= 162 1x21Y»h 15,714.0 15,714.0 0.0 0.0 0.0 0.0
=1 Afasl
- 2RESTA0V»AC SRESTST3M000 ~ N2 102 IxSAY» 1 15,714.0 15,714.0 0.0 0.0 0.0 0.0
1262020AU2600°8K ©1 2a52UgU°3k 80,161.7 80,161.7 0.0 0.0 0.0 0.0
0°Peg” ©5200
=1 Afasl
P2RAV=T=1=Y 12Eé»h 1,000.0 1,000.0 0.0 0.0 0.0 0.0
=1 Afasl
—I»h-» 1 Cl 1=6=1a0MasyY»h 0.0 0.0 0.0 0.0 0.0 0.0
-T=AC 1=631a0Aa0Y Vi 1,000.0 1,000.0 0.0 0.0 0.0 0.0
-23=Ma1=-A=1=3Y 1=Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SIA0ARBYY»AC 1SEéxh 4,000.0 4,000.0 0.0 0.0 0.0 0.0
a3U=3Y2- A2y 3 1=6231a0AI6YV»AC 0»80H»Na0U 1,200.0 1,200.0 0.0 0.0 0.0 0.0
=1 Afasl
-D=0=1=30-32CY 1=6=1a0RlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0




ceLT

20lase=T 07-06-01

30 31 32 33 34 35
- DO ISTT3T3Y 136340Ala5YY»A 1,200.0 1,200.0 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 33,4800 33,4800 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 33,480.0 33,480.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 2,600.0 2,600.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 2,600.0 2,600.0 0.0 0.0 0.0 0.0
asNasvail
UlaAon (ZAR=Y0Y»h) 37,8817 37,8817 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 9,800.0 9,800.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 3,430.0 3.430.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Yiaoh 0.0 0.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3Y SE VIaoA h 24,6517 24.651.7 0.0 0.0 0.0 0.0
_620>pUasdbUos 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 258,476.4 258,476.4 7,125.1 7,125.1
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 258,476.4 258,476.4 7,125.1 7,125.1
32 UEU=062120 TTA1U°BE 1121 12E6°8 3,380.0 3,380.0 0.0 0.0 0.0 0.0
31 Atadu
PEBU=2T2U gEzaoU°d 3,380.0 3,380.0 0.0 0.0 0.0 0.0

=1 Afadu




€eLT

20lase=T 07-06-01

30 31 32 33 34 35
poUg°8 1 PEDa0AUas 005 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 0.0 0.0 0.0 0.0 0.0 0.0
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 3,380.0 3,380.0 0.0 0.0 0.0 0.0
= A7 400
S 1SME= 12Y 620021 analy»h 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 3,380.0 3,380.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0 0.0 0.0




VELT

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26YST3Y 1263T20-U3Y 07 p=AYC 06

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 07-06-01

31 ATai0 Aéw TA= - fAnfiC
R 238303y e DacaACT3EY»fAC =
2 33130 - .t s e O 33 3 - et e
ZAeEISh. s¢3¢31an TCVCT3Ywic | SOMESY»AC =ealc LATAT» 1 AC PARTSTSY
CAZTCx31Y»haiu L AxAN fxax s X B 8YA004iU; N3YA3(CY IO S R
xR )£k R () =+an0C afeéasuy=3eCnu3y ~ ey é3fAu3T1anatuY»ficC
pasAa- YasAl=y VASTSTAT UACR TV CRAzk»TU3Y 8= A=Val -
[=¢Slathiasy Vo asu=lar LBl T=>éSlaAias o asfazvan)
-an1450asuy»h R=N=-anlasu
PALTZIC 3YT3Y45UA 3 ATaoU Aew 3 ATaoU Aew 3 AvaoU Aer 3 ATaoU Aew
\— T30 3na0Y»Mic \— T30 3na0Y»ic \— T3 7 3na0Y»iiC \— T30 3na0Y»ic
g g - = . = T
> . > > . P . | ?O_
3 oL 28 3 ;% 8 3 ;% 8 g g
A ] [0} lé AT A S <T A S <L \— O =<
N > g N \© S N Nol=} N > Qg
< S M= 8 < = @ < = @ < N
> =i N e > n < > N o< > 0 c
3 Dok 3 Qg 0 3 Rg 3 oS ()
) - O 0] i 0] i 0] -
d P d VY d 0 d & M
> =0 () > S > Sl > M W
< a0 " sy < R0 < SN < o0 ¢
- u~>_ D > O > >
0 0 8
36 37 38 39 40 41 42 43
AU _2@°UA 12Eé&°3s 10,714.4 10,714.4] 36,000.0 36,000.0| 10,150.0 10,150.0| 40,000.0 40,000.0
3 A4l
AUAZ20LT 12Eé°5 10,714.4 10,714.4] 36,000.0 36,000.0| 10,150.0 10,150.0| 40,000.0 40,000.0
3 A4l
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
jZéZUéﬁAUéﬁUUc’é/E o1 2462UgU°sE 0.0 0.0 36,000.0 36,000.0| 10,150.0 10,150.0| 40,000.0 40,000.0
O°Peg” @oadd
3 A4l
P14y =T=13Y 1=Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
—I»h-» 1 Cl 1=6=1a0MasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-13aC 1=363aAlaryY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT=3-A313Y I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Manias0asUY»AC -~ BAc= - SlatAlasYY»AC 1SEé»h 0.0 0.0] 36,000.0 36,000.0 0.0 0.0 0.0 0.0
a30=v= A=Y = 1=6=a0Ala0VV»AC O»étp»fiadl 0.0 0.0 0.0 0.0 10,150.0 10,150.0 0.0 0.0
31 Atadu
- D=03T30-33ICY 1=363[a0RlaoYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




SELT

20lase=T 07-06-01

36 37 38 39 40 41 42 43
- DO ISTT3T3Y 136340Ala5YY»A 0.0 0.0 0.0 0.0] 10,150.0 10,150.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0] 40,000.0 20,000.0
YiaoA»h)
31 Atadu
DUV BYSRC 63U 1aRa0UV>AC AYASGCT Yana- a0U 0.0 0.0 0.0 0.0 0.0 0.0] 40,000.0 40,000.0
asNasvail
UlaAon (ZAR=Y0Y»h) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Yiaoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3Y SE VIaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290é1690°6 10,714.4 10,714.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 10,714.4 10,714.4 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 10,714.4 10,714.4 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2 YA3&éwY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu




9€.T

20lase=T 07-06-01

36 37 38 39 40 a1 42 43
poUg°8 1 PEDa0AUas 005 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
S 1SME= 12Y 620021 analy»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




LELT

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidicr T3CY TSEe»AC -4f1=26Y=T3Y 1363T3/-U=Y 07 p=AVC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

Pa1T=1¢ =YT=VaslA

S ATa00 AS W 1A= -fofiG

TMtap=t NoUY=1/=U0C
=¢31645A=0p CR3T=Y=36140
§D=[=6 =Y
P2VA=&» 1 asAlasvasl
T apATAA%C 10 A3BAC
86A»0=264501
1i30=3RYaAN3CY IA=-CA

Mtap=t NCUY=1A=UC 3¢=3T64AIR0p
CA=T=Y=6740 8D=(=6T=YC
PVAZA» T &AIAGY 400 GE2T/

OE2D-C 10 AZNSAC 3b-3CY
A= -ACY S¢=T6aAlksY !
13=30=3RY4AN3ICY TA=-Ch

=0 Ajail AT

=7 =/40V»AC

20 A4l AST
T=02Ra0V»AC

\m= \o=

= . = .

< 83 < 83

N T % T e

4 a8 « 0 7 Bl

s L s o

n n

44 45 46 47
AU b~2®?UA 12Eé°5 1,337,699.7 1,337,699.7 734,639.2 734,639.2
=21 ATa00
AQAZGE 1 12Eé°0 1,219,773.7 1,219,773.7 734,639.2 734,639.2
=1 ATas0
ZPEZ'I‘?UZE 12802T8a0A0a0U 91,070.0 91,070.0 35,150.1 35,150.1
=1 ATas0
. ﬁ3~Ué|' ‘|'><3ﬁ 7140 SREST3T3A0»A " NBT»E3 Tx3AY»f 91,070.0 91,070.0 35,150.1 35,150.1
=1 Afas0
- ZBE3'I'éOY»ﬁ@ SREST3T3A0»A " NS T»E3 Tx3AY»f 91,070.0 91,070.0 35,150.1 35,150.1
jZéZUéﬁAUéﬁUUoé/E o1 2462UgU°sE 348,765.7 348,765.7 491,360.2 491,360.2
0°ep” ©5asD
=1 ATas0
P14y =T=13Y 1=Eé»h 7,3937 73937 1,451.9 1,451.9
=1 ATas0
S WY»h-» 1 CT 1263ashlasy V»h 720.0 720.0 240.0 240.0
-134C 1=63ahlay Y»n 720.0 720.0 0.0 0.0
- 283NaT3-A=13Y I3Eé»i 5,953.7 5,953.7 1,211.9 1,211.9
Manias0asUY»AC -~ BAc= - SlatAlasYY»AC 1SEé»h 2,596.0 2,596.0 1,130.0 1,130.0
a30=v= A=Y = 1=6=a0Ala0VV»AC O»étp»fiadl 33,974.0 33,974.0 28,4322 28,432.2
=21 ATas0
- D3U3T30-33ICY 1363la0AlaivY »h 0.0 0.0 0.0 0.0

20la6e=T 07-06-01



8E.LT

44 45 46 47
- DO ISTT3T3Y 136340Ala5YY»A 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 33,974.0 33,974.0 28,432.2 28,432.2
- AYAIN3YaA pYAdlAC 3k 1363a0AlasY Y»h 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0VI»TC O»6Upmiiall 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 3,600.0 3,600.0 432.0 432.0
YiaoA»h)
31 Atadu
DUV BYSRC 63U 1aRa0UV>AC AYASGCT Yana- a0U 3,600.0 3,600.0 432.0 432.0
asNasvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 301,202.0 301,202.0 459,914.1 459,914.1
31 Atadu
TR2EVIET3ICY VidbAnn ~ N2 -&06 1 360.0 360.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 4,860.0 4,860.0 1,480.7 1,480.7
T26aNcSASNII3Y - EBpanSTan Yiaoh 295,622.0 295,622.0 456,953.0 456,953.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 360.0 360.0 1,480.4 1,480.4
TP AT YAS T ST3Y SE VIaoA h 0.0 0.0 0.0 0.0
. 6%@290369006 729,738.0 729,738.0 163,128.9 163,128.9
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212 N1 121G SE 729,738.0 729,738.0 163,128.9 163,128.9
USTSASTY»icY
31 Atadu
~AVES6CT Hi=USRYARNY »1 &0 1 =T=Y ~ NSUSNU=KY & 729,738.0 729,738.0 97,3842 97,384.2
3¢ TASICY TIUST»AAAAAYY »ACY
- AYA3C')Q._|- ‘1ﬁ3U?BYéﬁNY»ﬁ > 3I3Y " N3U3YO3ICY 0.0 0.0 65,744.7 65,744.7
3¢ TASICY TIUST»AAAAAIYY »ACY
“2E AVAS6CT 1n3USRYARNY > 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0
31 Atadu
S46C3E3T3Y 0-YaABY HRSUST3Y SAT3N3raA=up 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
T2EVASE T Yon HaicnCo 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 50,200.0 50,200.0 45,000.0 45,000.0
31 Atadu
D3RIoN, A2 S1CR Tx2RT>n T alkoR, AHaT0 ‘ 50,200.0 50,200.0 45,000.0 45,000.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 117,926.0 117,926.0 0.0 0.0
31 Atadu
PEBU=2T2U gEzaoU°d 117,926.0 117,926.0 0.0 0.0

=1 Afadu

20la6e=T 07-06-01



6ELT

44 45 46 a7
poUg°8 1 PEDa0AUas 005 0.0 0.0 0.0 0.0
= A7 400
= P»YUSAC  RCVASAEOYY»NC RCY == natkiasy 0.0 0.0 0.0 0.0
~P»YU»AC ~ RCVASAIBOYY»NC TSAC T 3t T»A=Yana-aol 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 117,926.0 117,926.0 0.0 0.0
= A7 400
S 1SME= 12Y 620021 analy»h 16,787.0 16,787.0 0.0 0.0
“2EU»ir V2ol E3A0= T ARA0UY >R 101,139.0 101,139.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/AaT S13Y 12E6» 0.0 0.0 0.0 0.0

20lase=T 07-06-01



oviT

§D=BETSYC D2YA= 8y W AAIBY 2016 ATST2YC 8» W =T3Y aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26YST3Y 1263T20-U3Y 07 p=AYC 06

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢
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- DO ISTT3I3Y 1363(40AlA5YY» 454,858.9 0.0 0.0 77,152.0 77,152.0 0.0 0.0 0.0 0.0
éao” ex_ £2U°8 437,535.0( 73,065.3 73,065.3 0.0 0.0 78,214.0 78,214.0| 99,317.9 99,317.9
31 Atadu
GAINECIC3Y» &» T 3T3Y 133 T»AAAAIEIYY»ACY 292,117.4| 73,065.3 73,065.3 0.0 0.0 78,214.0 78,214.0| 99,317.9 99,317.9
31 Aracl
- éé@pé(;1(:3Y>>~ﬁ ai YQY?Yé3'I'3Y a»n313Y 292,117.4| 73,065.3 73,065.3 0.0 0.0 78,214.0 78,214.0| 99,317.9 99,317.9
T3W3T»AA4a0AIa0YY»ACY
GAIUECIC3Y»M 43 A» T 3T3Y I3 T»A&A0AIATYY»ACY 145,417.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- éé@uéglc?»\'(»ﬁ aa ‘é>>'|j3'l'3"( 43 yCY3Ye313Y 145,417.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T3W3T»AA4a0Ala0YY»ACY
. 02@2pUasbUes 282,857.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




0617

20la6e=T 08-03-02

1 8
AYASOCT 1A3U3RYAANY»i » W 313Y NS i31¢ 3( 278,282.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A13TY»ACY
SR YEL
- AYAS6CT 1ASUSRYANNY»A &» 0 3T3Y " N3USIYU3(CY 44 247,535.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2S¢ TABCY TSRS T»AAAAIAYY»ACY
- AYAZ6CT 1A=U3RYARNY»f &» 1 3T3Y " N3U3Yu3IcY 30,746.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SETABCY TSRS T»AAA0AIAYY»ACY
T2ACT 3t 1ASU3RYAANY»A 8» T 3T3Y N3 T3¢ 3 4,574.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A13TY»ACY
=1 ATaiU
- T2ACT 3t 1ABU3RYAANY»A &» 1 3T3Y " N3U3Yu3(CY 4,574.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 TABCY TSRS T»AAAAIAYY»ACY
2UE 12Eé°d 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
U CA3 TatAladYY»f 43 T3S T3S 13Y (NBE3A3T313Y) 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T3 T»AA40AIA6YY»ACY
SR YEL
- UTCASTI TatAlasYY»i 3 R3NAdA aN» 1 3&Y1a0 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=03 T»AA40A1A6YY»ACY
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10 11 12 13 14 15 16 17 18
AU_20°UA 12E6°5 49,0771 49,0771 46,500.1 46,500.1| 386,508.1| 378,108.1] 8,400.0| 10,000.0 10,000.0
31 Arasl
AUAZOAT 12E6°5 49,0771 49,0771 46,500.1 46,500.1| 386,508.1| 378,108.1] 8,400.0| 10,000.0 10,000.0
31 Atasl
1262020A02000°8% ©1 2a62UgU°8k 0.0 0.0 0.0 0.0| 351,186.9| 342,786.9| 8,400.0 0.0 0.0
0ces” °5200
31 Atasl
b=nay S1=13Y 12Ee»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atasl
“T=30 126=aAa0yY»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=lU=V= - A=Y =E 126=1a0AR0VV»AC O»ety»Rasl 0.0 0.0 0.0 0.0| 351,186.9| 342,786.9| 8,400.0 0.0 0.0
31 Atasl
N NE T DA Ess 0.0 0.0 0.0 0.0| 351,186.9| 342,786.9| 8,400.0 0.0 0.0
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- BADNECICEY M 4 Br I =12 a3 YoV =Ve= 127 49,0771 49,0771 46,500.1 46,500.1 0.0 0.0 0.0 0.0 0.0
=03 T»AA40A1A6YY»ACY
_5202b0asplos 0.0 0.0 0.0 00| 35321.2| 35321.2 0.0 0.0 0.0
31 Arasl
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NA=&=A=Tail
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< 9% < Dz3= < 879 < 0
19 20 21 22 23 24 25 26
AU)ZQOUA 12Eé°5 217,499.4 217,499.4| 15,320.0 15,320.0( 64,840.4 64,840.4| 33,036.4 33,036.4
=1 Afasl
AUAZOAT 12E6°5 217,499.4 217,499.4| 15,320.0 15,320.0| 64,840.4 64,840.4| 33,036.4 33,036.4
=1 Afasl
12e20asAlasuUCBE ©1 2a82UgU°sE 0.0 0.0| 15,320.0 15,320.0 0.0 0.0 3,000.0 3,000.0
0°eg” ©3200
31 Atadu
P3RAYST3T3Y IBEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
“ T340 1=2621a0Aa0Y Yo h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A2U3V=2-A310Y 2E 12631a0AA0Y V»1iC O»eUp»nadU 0.0 0.0] 15,320.0 15,320.0 0.0 0.0] 3,000.0 3,000.0
=1 Afasl
- DO ISTT313Y 1363(40AlA5YY »fi 0.0 0.0| 15,320.0 15,320.0 0.0 0.0 3,000.0 3,000.0
eao” ek _k=20°s 0.0 0.0 0.0 0.0 64,840.4 64,840.4 0.0 0.0
=1 Afasu
BAOHECICS YA B T 2T3Y 12002 I»AAabAE0YY »ACY 0.0 0.0 0.0 0.0| 15,000.0 15,000.0 0.0 0.0
=1 Afasl
- BADIECICS TN & YOTSVeSToY B n =137 0.0 0.0 0.0 0.0[ 15,000.0 15,000.0 0.0 0.0
T3W3T»AA4a0AIa0YY»ACY
BAONECIC3T R 43 Ar T S 13Y 13003 I»NAA0NAEYY»CY 0.0 0.0 0.0 0.0| 49,840.4 49,840.4 0.0 0.0
=1 Afasl
- BAPECICITrN a8 B T 1Y 4a yCy=Ve= 137 0.0 0.0 0.0 0.0[ 49,8404 49,840.4 0.0 0.0
T3W3T»AA4a0Ala0YY»ACY
. 02@2pUasbUes 217,499.4 217,499.4 0.0 0.0 0.0 0.0| 30,036.4 30,036.4
=1 Afasl
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AU)ZQOUA 12Eé°5 10,000.0 10,000.0| 8,200.0 8,200.0( 26,520.2 26,520.2
3 A4l
AUAZ20LT 12Eé°d 10,000.0 10,000.0| 8,200.0 8,200.0( 26,520.2 26,520.2
3 A4l
12&20a0AUasuUCBE ©1 2462UgU°dk 10,000.0 10,000.0| 8,200.0 8,200.0 0.0 0.0
0°p” ©5200
31 Atadu
P3AaYST313Y 13Eé»h 10,000.0 10,000.0 0.0 0.0 0.0 0.0
3 A4l
“T=AC 12631a0Aa0Y Vi 10,000.0 10,000.0 0.0 0.0 0.0 0.0
A3U3Y=2-A30Y 3 [2631a0AR0YY»AC O»6up»Aacy 0.0 0.0] 8,200.0 8,200.0 0.0 0.0
3 A4l
- DO ISTT3T3Y 136340Ala5YY»A 0.0 0.0 8,200.0 8,200.0 0.0 0.0
eao” ek _k=20°s 0.0 0.0 0.0 0.0 26,520.2 26,520.2
3 A4l
BAECICIVoR Br 1 T3V 12 Z I»>RAAAEYY»ACY 0.0 0.0 0.0 0.0| 26,520.2 26,520.2
3 A4l
- B&IUECICSY oM & YOI Ve 1Y B h =127 0.0 00| 00 0.0| 26,520.2 26,520.2
T3W3T»AA4a0AIa0YY»ACY
BANNECICET R 42 A 1 T3 13703 I>NAacAaYY»AGY 0.0 0.0 0.0 0.0 0.0 0.0
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~ BAIECICSYoN &8 B i S 1=Y A8 YOTSVeS 1Y 0.0 00[ 00 0.0 0.0 0.0
T3W3T»AA4a0Ala0YY»ACY
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31 Atadu
- @36Y3-CU 313 13¢3aAlacy Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek _£=20°8 28,020.9 28,020.9 0.0 0.0 0.0 0.0[ 11,3493 11,349.3
31 Atadu
BAGPECIC3Y>1 43 A» W =T=Y T=2HU=THAAAIAIEYV»ACY 28,020.9 28,020.9 0.0 0.0 0.0 0.0[ 11,3493 11,349.3
31 Atadu
- Ba0UECIC3Yxi ai &» =12 adyCY=Ve=T=Y 28,020.9 28,020.9 0.0 0.0 0.0 0.0[ 11,3493 11,349.3
I3%=T»A&40AIATY Y »ACY
€20£2t2120 U&a2é70°8 ©1 1°0é2Aap210°8 0.0 0.0 0.0 0.0| 16,000.0 16,000.0 0.0 0.0
31 Atadu
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